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Class - XI : Accountancy : 80 Marks : 2020-2021
 

Group-A  : Each Questions Carries 1 Mark : 1x20=20 

Choose / write the correct answer 

1. An Account has _____ sides. 

(a) two (b) three (c) one (d) none of these. 

2. The book in which all accounts are maintained is known as –– 

a) Cash book (b) Journal (c) Purchase Book (b) Ledger. 

3. Fill in up the blank. 

Cash book is a ____ journal . 

4. Fill in up the blank. 

Generally pass book have a _____ balance. 

5. A Bank Reconciliation statement is prepared by _____. 

a) creditors (b) bank (c) account holder in a bank (d) debtors. 

6. Trial balance is ____. 

a) an account (b) a statement (c) a subsidiary book (d) a principal book 

7. Liabilities side of Balance sheet represents credit balance . –– True or False ? 

8. Bank charges debited by bank will increase the passbook balance. –– True or False ? 

9. What do you mean by the term ‘favourable balance of cash book.’? 

10. Name two intangible assets. 

11. Mention the full form of GAAP. 

12. Business units last indefinitely. Mention the comcept on which the statement is based. 

13. What is a ‘Suspense Account ? 

14. What is a Balance sheet ? 

15. What is the purpose of preparing trading and Profit & Loss Account. 

16. State the meaning of prepaid expenses. 

17. What adjustment entry would you record for depreciation ? 

18. Fill up the blank : Closing stock is valued at _____ price. 

19. Mention the type of business units for which single entry system is suitable. 

20. What is the outcome of statement of affairs ? 

Group-B  : Each Question Carries 3 marks : 3x2=6 

21. Distinguish between Book-keeping and Accounting (any three point). 

22. What do you understand by balancing of accounts ? Explain. 

Section-C : Each Question Carries 4 Marks : 4x5=20 

23. What are the qualitative characteristics of Accounting information ?  Explain. 

24. What Short notes on --

a) Matching Concept (b) Full disclosure Concept. 

25. Journalise the following -

a) Mahi started business with Cash Rs. 230,000; Goods Rs.100,000; Building Rs. 200.000. 



(b) He purchased goods for cash Rs. 50,000 

(c) He sold goods (costing Rs. 20,000) for Rs. 35,000 

(d) Amount withdrawn from bank by him for personal use Rs. 20,000 

26. Prepare a Bank column cash book from the following transactions : 

2019

 Oct. 1 Cash in hand Rs. 11, 800 

Cash at bank Rs. 11,000

 Oct. 7 Bought goods by cheque Rs. 7,000

 Oct. 8 Bought goods for cash Rs. 500

 Oct. 14 Paid trade expenses Rs. 105

 Oct. 16 paid into bank Rs. 1,000

 Oct. 23 Withdrew from bank Rs. 400 

27. The following trail balance was drawn from the books of zig-zag Traders on 31-12-2019
 

Particulars Rs. Particulars Rs. 

Building 60,000 Capital 73,600 

Machine 17,000 Fixtures 5,600 

Return outward 2,600 Sales 1,04,000 

Bad bebts 2,800 Debtors 60,000 

Cash 400 

Discount received 3,000 Interest received 2,600 

Bank overdraft 10,000 

Creditors 50,000 

Purchase 1,00,00 

2,45,800 2,45,800 

Group-D : Each Question Carries 6 Marks : 6x3=18 

28. From the following particulars prepare a Bank Reconciliation Staement from the informa-

tion given below : 

a) Bank overdraft as per cash book on 30th April 2019 Rs. 2000 

(b) Cheques issued but not presented for payment Rs. 1250 

(c) Rs. 25 Charged by the bank on account of bank charges not yet entered in the cash book. 

(d) Interest charged by the bank Rs. 75 but not entered in the cash book. 

(f) Interest on investment collected by the bank and credited in the pass book amounted to Rs. 1000. 

29. A firm purchased machinery at a cost of Rs. 46,000 on 1st Oct 2018 and incurred Rs. 4,000 ex-

penses on its installation. The rate of depreciation under straight line method is 10% p.a. The firm 

closes its books on 31st Dec. each year. 

On 1st July 2019 another machine worth Rs. 20,000 was purchased.
 

Write up Machine Account and Depreciation Account for 2018, 2019 and 2020.
 



30 prepare Profit and Loss A/c from the following information.
 

Carriage on purchase Rs. 2000 

Carriage on sales Rs. 1,000 

Duty on exports Rs. 2020 

Lighting Rs. 1050 

Water and electricity Rs. 2120 

Advertisement Rs. 100 

Salary of Factory Manager Rs. 2,200 

Salary of Office Manager Rs. 1,500 

Gross Profit Rs. 15,200 

Rent Received Rs. 1,500 

Rent paid Rs. 500 

Commission (Cr.) Rs. 1,200 

Group-E : Each Question Carries 8 Marks : 8x2=16 

31. From the following Trail balance extract from the books of Manoj Traders, prepare a Trading 

Account, Profit and Loss account for the year ended 31st March 2019 and a Balance Sheet as on that 

date. 

Drawing 

Plant & Machine 

Horses and Crats 

Debtors 

Purchases 

Wages 

Cash at bank 

Salaries 

Repairs 

Stock 

Rent 

Manufacturing expenses 

Bad debts 

carriage 

Amount 

Rs Dr. 

1,700 

12,000 

2,600 

3,600 

2,000 

800 

2,600 

800 

190 

1,600 

450 

150 

500 

160 

29,150 

Capital 

Creditors 

Sales 

Bills payable 

Amount 

(Rs.) Cr 

20,000 

2,600 

4,200 

2,350 

29,150 



Adjustment -

1. Closing stock Rs. 1600 

2. Depreciate Plant & machinery 10%
 
3 Allow interest on capital at 5% p.a
 
4. Rs. 150 is due for wages 

5. paid rent Rs. 50 in advance 

OR 

What do you mean by adjusting entries ? Why is it necessary to pass adjusting entries at the time of 

preparing Final Accounts ? 

32. Mr. Ramesh maintains his books of accounts from incomplete records. His books provide the 

information. 

April 1 March 31 

2018 2019 

(Rs.) (Rs.) 

Cash 1,200 1600 

Bills Receivable -- 2,400 

Debtors 16,800 27,200 

Stock 22,400 24,400 

Investment -- 8,000 

Furniture 7,500 8,000 

Creditors 14,000 15,200 

He withdrew Rs. 300 per month for personal expenses. He sold his investment of Rs 16,000 at 

2% premium and introduced that amount into business. 

Prepare the statement of Profit or Loss on the basis of the given information. 

OR 

Distinguish between Single and Double entry system. Which of them do you prefer ? Give reasons in 

support of your answer. 



Model Question : ClassXI: Bengali : 80 Marks : 2020-21 

!ÓË˛yàÈüÈÜ˛ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl  1x20 = 20 

I) §!ë˛Ü˛ í z̨_Ó˚!ê˛ ˆ° Ï̂áy /  1x5 

1ä ÚÊ%̨ Õ‘Ó˚yÓ˚ ÓyÓ˚Ùy§ƒyÛ Ü˛!Óï˛y!ê˛Ó˚ í z̨Í§ @˝Ã Ï̂rÌÓ˚ lyÙ ûû 

Ü˛ä Ùl§yÙAà° åáä ã˛u˛#ÙAà° åàä ôÙ≈ÙAà° åâä xß¨òyÙAà° 

2ä l§#ÓyÓ%Ó˚ ˛õ%̂ ÏeÓ˚ xÜ˛y° Ù,ï%̨ ƒ • Ï̂Î˚!SÈ° ûû 

Ü˛ä Ó§ Ï̂hs˝Ó˚ Ó˚y Ï̂ï˛ áä ¢# Ï̂ï˛Ó˚ Ó˚y Ï̂ï˛ åàä Ó£Ï≈yÓ˚ Ó˚y Ï̂ï˛ åâä í z̨Í§ Ï̂ÓÓ˚ Ó˚y Ï̂ï˛– 

3ä !¢ÓlyÌ ê%̨ !l Ï̂Ü˛ ˛õÑ!ã˛¢ ê˛yÜ˛y ˛õyë˛y Ï̂ï˛l ûû 

Ü˛ä ≤Ã!ï˛Ùy Ï̂§ åáä ≤Ã!ï˛§Æy Ï̂• åàä ≤Ã!ï˛ !ï˛l Ùy Ï̂§ åâä ≤Ã!ï˛ ÓSÈ Ï̂Ó˚– 

4ä ÚÙ%Ü%̨ ê˛Û lyê˛ Ï̂Ü˛ Î%ÓÓ˚y Ï̂çÓ˚ lyÙûû 

Ü˛ä xÙÓ˚ Ùy!îÜ˛ƒ åáä ã˛wÙy!îÜ˛ƒ åàä •zwÜ%̨ ÙyÓ˚ åâä Ó˚yçôÓ˚ 

5ä ã˛Î≈y˛õò xy!Ó‹,Òï˛ • Ï̂Î˚̂ ÏSÈ ûû 

Ü˛ä 1907 !á T˛y Ï̂∑ åáä 1908 !á T˛y Ï̂∑ åàä 1909 !á T˛y Ï̂∑ åâä 1910 !á T˛y Ï̂∑– 

II) ~Ü˛ÈüÈ~Ü˛!ê˛ ˛õ)î≈yAà Óy Ï̂Ü˛ƒ l# Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ òyG / 1x16 

6ä ÚÚ ûûûû Ü˛Ù≈ôyÓ˚y ôyÎ˚ÛÛ û ˆÜ˛yÌyÎ˚ Ü˛Ù≈ôyÓ˚y ôyÎ˚⁄
 

7ä ÚÚ ˆ• ÓAàú Ë˛yu˛y Ï̂Ó˚ ï˛Ó !Ó!Óô Ó˚ï˛lñÛÛû ˆÜ˛yl‰ Ë˛yu˛y Ï̂Ó˚Ó˚ Ü˛Ìy Ó°y • Ï̂Î˚̂ ÏSÈ⁄
 

8ä l§#ÓyÓ%Ó˚ ï˛y°%̂ ÏÜ˛Ó˚ áyçly ~ Ï̂° Ü˛# •Î˚ ⁄
 

9ä ˆ°áÜ˛ ~§ GÎ˚y Ï̂çò xy!° Ü˛ï˛ ÓSÈÓ˚ xy Ï̂à Ü˛°Ü˛yï˛yÎ˚ ~ Ï̂§!SÈ Ï̂°l⁄
 

10ä !¢ÓlyÌ Ï̂òÓ˚ Üœ̨ y Ï̂ÓÓ˚ lyÙ Ü˛#⁄
 

11ä ˛õò≈yê˛y ˆÌ Ï̂Ù ˆà Ï̂SÈñ ï˛Ó%G Ü˛yÓ˚ ò%°%!l ÌyÙ Ï̂SÈ ly⁄
 

12ä !¢Óly Ï̂ÌÓ˚ ˆSÈ Ï̂°Ó˚ Óí z̨ ~Ó˚ lyÙ Ü˛#⁄
 

13ä ˛õ)!î≈Ùy Ó˚y Ï̂ï˛ Óyâ ˆÜ˛yl‰ lò# Ï̂ï˛ ç° ˆá Ï̂ï˛ xy Ï̂§⁄
 

14ä •zwÜ%̨ ÙyÓ˚ Ü˛yÓ˚ §yÙylƒ xlyòÓ˚ §•ẑ Ïï˛ ˛õy Ï̂Ó˚ ly⁄
 

15ä Ï̂Ü˛yl‰ ˆò Ï̂¢Ó˚ Ó˚yçyÓ˚ § Ï̂Aà Ù•yÓ˚y Ï̂çÓ˚ Î%̂ ÏÂôÓ˚ Ùï˛°Ó xy Ï̂SÈ⁄
 

16ä Ú◊#Ü,̨ £÷ÏÜ˛#ï≈̨ lÛ Ü˛y Ï̂ÓƒÓ˚ Ü˛Î˚!ê˛ áu˛ ⁄
 

17ä Ü˛y Ï̂Ü˛ Ú Ï̃Ù!Ì° ˆÜ˛y!Ü˛°Û ly Ï̂Ù x!Ë˛!•ï˛ Ü˛Ó˚y •Î˚⁄
 

18ä ã˛u˛#ÙAà° Ü˛yÓƒôyÓ˚yÓ˚ §Ó≈̂ Ï◊¤˛ Ü˛!ÓÓ˚ lyÙ Ü˛#⁄
 

19ä Úí z̨̨ õÙyÛ x°ÇÜ˛yÓ˚ Ü˛y Ï̂Ü˛ Ó Ï̂°⁄
 

20ä Úç# Ï̂Ó òÎ˚y ï˛Ó ˛õÓ˚Ù ôÙ≈ ç# Ï̂Ó òÎ˚y ï˛Ó Ü˛•z⁄ÛÛ û í z̨Âô,ï˛ ˛õÇ!=˛!ê˛ Ï̂ï˛ ˆÜ˛yl‰ x°ÇÜ˛yÓ˚ ≤Ã Ï̂Î˚yà Ü˛Ó˚y • Ï̂Î˚̂ ÏSÈ⁄
 

!ÓË˛yàÈüÈá ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 3 å80 ¢ Ï̂∑Ó˚ Ù Ï̂ôƒä 3x4=12 

21ä ÚÚË˛yÓ˚̂ Ïï˛ Ï̂Ó˚ ˆ§•z fl∫̂ Ïà≈ Ü˛ Ï̂Ó˚y çyà!Ó˚ï˛ÛÛ û Ü˛!Ó ÚË˛yÓ˚̂ Ïï˛ Ï̂Ó˚Û ˆÜ˛yl‰ fl∫̂ Ïà≈ çyà!Ó˚ï˛ Ü˛Ó˚yÓ˚ Ü˛Ìy Ó Ï̂° Ï̂SÈl⁄ 



22ä Ó˚Ó#wlyÌ ë˛yÜ%̨ Ï̂Ó˚Ó˚ Úfl∫y Ï̂ò!¢Ü˛ï˛yÛ ≤ÃÓrô xÓ°¡∫̂ Ïl !•®%̂ ÏÙ°yÓ˚ §Ç!«˛Æ Óî≈ly òyG–
 

23ä í z̨òy•Ó˚î§• Ó)̨̊ õÜ˛ x°ÇÜ˛y Ï̂Ó˚Ó˚ §ÇK˛y òyG–
 

24ä xl%≤Ãy§ x°ÇÜ˛yÓ˚ Ü˛y Ï̂Ü˛ Ó Ï̂°⁄ ~Ü˛!ê˛ í z̨òy•Ó˚î òyG–
 

!ÓË˛yàÈüÈà ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 6 å150 ¢ Ï̂∑Ó˚ Ù Ï̂ôƒä 6x7=42 

25ä ÚÚxyFSÈyòl ly!• x Ï̂Aà ˛õ Ï̂í ¸̨ ÙyÇ§ ç°– 

Ü˛ï˛ Ùy!SÈ áyÎ˚ x Ï̂Aà Ü˛Ó˚̂ ÏÙÓ˚ Ê˛°––ÛÛ 

Ü˛ä í z̨Âô,ï˛yÇ¢!ê˛ ˆÜ˛yl‰ Ü˛!Óï˛yÓ˚ xÇ¢ ⁄ åáä Ó=˛y ˆÜ˛ ⁄ åàä í z̨Âô,ï˛yÇ¢!ê˛Ó˚ ≤Ã§Aà xy Ï̂°yã˛ly Ü˛Ó˚– 1+1+4 

xÌÓy 

ÚÚ ÉÉÉÉÉÉÉÉÉÉÉÉÉÉÉÉÉÉÉÉÉÉÉÉÉ ˛õy•z°yÙ Ü˛y Ï̂° 

Ùyï,̨ Ë˛y£ÏyÈüÈÓ)̊̂ Į̈ õ á!lñ ˛õ)î≈ Ù!lçy Ï̂°–ÛÛ 

Ü˛ä ˆÜ˛yl‰ Ü˛!ÓÓ˚ ~•z xydï,̨ !Æ ⁄ áä ÚÙyï,̨ Ë˛y£ÏyÈüÈÓ)̊̂ Į̈ õ á!lÛ Ó Ï̂° Ï̂SÈl ˆÜ˛l⁄ 

àä Ú˛õy•z°yÙÈüÈÜ˛y Ï̂°Û Ó°yÓ˚ Ü˛yÓ˚î Ü˛#⁄ 1+2+3 

26ä ÚÚ˛õy!˛õ¤˛ ˜çƒ¤˛ Ùy§ ûûûûû ÛÛ 
Ü˛ä ˛í z̨Âô,ï˛yÇ¢!ê˛Ó˚ í z̨Í§ !l Ï̂ò≈¢ Ü˛ Ï̂Ó˚y– áä ˆÜ˛ñ Ü˛y Ï̂Ü˛ ~Ü˛Ìy Ó Ï̂° Ï̂SÈ⁄ 
àä ≤Ã§Aà§• í z̨Âô,ï˛yÇ¢!ê˛Ó˚ xÌ≈ Ó%!V˛ Ï̂Î˚ òyG– 1+2+3 

xÌÓy 
Ú≤ÃyÌ≈lyÛ Ü˛!Óï˛yÓ˚ Ë˛yÓÓ› !l Ï̂çÓ˚ Ë˛y£ÏyÎ˚ ˆ° Ï̂áy– 

27ä Ü˛ä ÚÓ§ Ï̂hs˝Ó˚ ˆÜ˛y!Ü˛°Û ≤ÃÓrô!ê˛Ó˚ Ó˚ã˛!Î˚ï˛y ˆÜ˛⁄ áä ≤ÃÓrô!ê˛ ˆÜ˛yl‰ @˝ÃrÌ ˆÌ Ï̂Ü˛ ˆlGÎ˚y • Ï̂Î˚̂ ÏSÈ⁄ 

àä ≤ÃÓrô!ê˛Ó˚ Ù)° Ó=˛Óƒ §Ç Ï̂«˛ Į̈̂ õ ˆ° Ï̂áy– 1+1+4 

xÌÓy 

‘ˆ§•z tradition’ §Ùy Ï̂l ã˛° Ï̂SÈñÛÛ 
Ü˛ä Ü˛yÓ˚ ˆ°áyñ ˆÜ˛yl Ó˚ã˛lyÓ˚ xhs˝à≈ï˛⁄ áä ˆ°á Ï̂Ü˛Ó˚ xl%§Ó˚̂ Ïî Ùhs˝Óƒ!ê˛Ó˚ ï˛yÍ˛õÎ≈ Óƒyáƒy Ü˛ Ï̂Ó˚y– 2+4 

28ä Ü˛ä Úfl∫y Ï̂ò!¢Ü˛ï˛yÛ ≤ÃÓrô!ê˛ Ü˛yÓ˚ Ó˚!ã˛ï˛ ⁄ áä Ù)° @˝ÃrÌ!ê˛Ó˚ lyÙ ˆ° Ï̂áy– 
àä ≤ÃÓrô!ê˛ Ï̂ï˛ ˆ°áÜ˛ fl∫̂ Ïò¢ ˆ≤Ã Ï̂ÙÓ˚ ˆÎ§Ó !l Ï̂ò≈¢ Ï̂lÓ˚ í ẑ̨ ÏÕ‘á Ü˛ Ï̂Ó˚̂ ÏSÈl ï˛y §Ç Ï̂«˛ Į̈̂ õ Óî≈ly Ü˛ Ï̂Ó˚y– 1+1+4 

xÌÓy 
ÚË˛yÓ˚ï˛Ó£Ï≈Û lyÙÜ˛ à Ï̂“ Ó!î≈ï˛ Ó˚yÙyÎ˚l ˛õyë˛Ü˛ Ó,Âô ã˛!Ó˚e!ê˛Ó˚ !Óhfl,Ïï˛ ˛õ!Ó˚ã˛Î˚ òyG– 

29ä ÚÚÙyl%£Ï • Ï̂Î˚̂ ÏSÈ ˆSÈ Ï̂°ñ xy¢yï˛#ï˛ • Ï̂Î˚̂ ÏSÈ–ÛÛ 
Ü˛ä ˆÜ˛ñ Ü˛yÓ˚ §¡õ Ï̂Ü≈̨  ~Ùl ˆË˛ Ï̂Ó Ï̂SÈ⁄ áä Úxy¢yï˛#ï˛Û Ùyl%£Ï •GÎ˚yÓ˚ Ù Ï̂ôƒ Ü˛# •z!Aàï˛ Ü˛Ó˚y • Ï̂Î˚̂ ÏSÈ⁄ 

xÌÓy 
Ú!¢ÓlyÌ ò%çl Ï̂Ü˛ ~Ü˛ Ü˛ Ï̂Ó˚ Ë˛y Ï̂Ól–Û 
Ü˛ä !¢ÓlyÌ ˆÜ˛⁄ áä Úò%çlÛ Ó° Ï̂ï˛ Ü˛y Ï̂òÓ˚ Ü˛Ìy Ó°y • Ï̂Î˚̂ ÏSÈ⁄ 
àä ˆÜ˛l !¢ÓlyÌ Úò%çl Ï̂Ü˛Û ~Ü˛ Ü˛ Ï̂Ó˚ Ë˛y Ï̂Ól⁄ 1+1+4 



30ä ÚÚ!l Ï̂çÓ˚ §¡øyl xy!Ù !l Ï̂ç•z Ó˚yá Ï̂ï˛ ˛õyÓ˚Ó–ÛÛ 
Ü˛ä í z̨!=˛!ê˛ Ü˛yÓ˚⁄ áä ˆÜ˛yl‰ ≤Ã§ Ï̂Aà ~•z í z̨!=˛⁄ 
àä Ó=˛yÓ˚ ã˛!Ó˚̂ ÏeÓ˚ ˆÜ˛yl‰ !òÜ˛!ê˛ ~áy Ï̂l ≤Ãfl≥%̨ !ê˛ï˛ • Ï̂Î˚̂ ÏSÈ ⁄ 1+2+3 

xÌÓy 
ÚÚ Ï̂ï˛yÙyÓ˚ •yï˛ ˆÌ Ï̂Ü˛ ~ ˛õ%Ó˚flÒy Ï̂Ó˚Ó˚ x˛õÙyl @˝Ã•î Ü˛Ó˚̂ ÏÓ ˆÜ˛⁄ ÛÛ
 
Ü˛ä ˆÜ˛ñ Ü˛y Ï̂Ü˛ ~•z í z̨!=˛!ê˛ Ü˛ Ï̂Ó˚̂ ÏSÈ⁄
 
áä í z̨!Õ‘!áï˛ ˛õ%Ó˚flÒyÓ˚!ê˛ Ï̂Ü˛ x˛õÙylçlÜ˛ Ó Ï̂° !l!®ï˛ Ü˛Ó˚y • Ï̂Î˚̂ ÏSÈ ˆÜ˛l⁄ 2+4
 

31ä Ó˚yÙyÎ˚î xl%ÓyòÜ˛ Ü,̨ !_Óy§ GV˛yÓ˚ Ü,̨ !ï˛c §Ç Ï̂«˛ Į̈̂ õ xy Ï̂°yã˛ly Ü˛Ó˚– 
xÌÓy 

ˆòÔ°ï˛ Ü˛y!çÓ˚ Ü˛!Ó ≤Ã!ï˛Ë˛y §Ç Ï̂«˛ Į̈̂ õ xy Ï̂°yã˛ly Ü˛Ó˚– 

!ÓË˛yàÈüÈâ
 

!l¡¨!°!áï˛ ≤ÃŸ¿!ê˛Ó˚ í z̨_Ó˚ òyG 200 ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ /
 
ày•≈fiÌƒ !•Ç§yÓ˚ !ÓÓ%̊̂ ÏÂô ≤Ã!ï˛Óyò çy!l Ï̂Î˚ ˆÜ˛y Ï̂ly ÓyÇ°y §ÇÓyò˛õ Ï̂e ≤ÃÜ˛y Ï̂¢Ó˚ çlƒ ~Ü˛!ê˛ ˛õe Ó˚ã˛ly Ü˛ Ï̂Ó˚y– 6 

xÌÓy 
≤Ãò_ §Ç Ï̂Ü˛ï˛ xl%§y Ï̂Ó˚ ~Ü˛!ê˛ à“ Ó˚ã˛ly Ü˛ Ï̂Ó˚y / 

ò%â≈ê˛ly@˝ÃhflÏ • Ï̂Î˚ ~Ü˛ Ë˛o Ï̂°yÜ˛ Ó˚yhflÏyÎ˚ ˛õ Ï̂í ¸̨ Ó˚•ẑ Ï°l û x Ï̂l Ï̂Ü˛ ˆÙyÓy•ẑ Ï° SÈ!Ó ï%̨ ° Ï̂°lû •y§˛õyï˛y Ï̂° !l Ï̂Î˚ ˆà Ï̂°l 
ly ˆÜ˛í z̨ û !Ó˚Ü˛¢yGÎ˚y°y ˆ°yÜ˛!ê˛ Ï̂Ü˛ •y§˛õyï˛y Ï̂° !l Ï̂Î˚ ï˛yÓ˚ Óy!í ¸̨̂ Ïï˛ áÓÓ˚ !ò Ï̂°l– 



 

Model Question
 

Class - XI : Biology : 70 Marks : 2020-2021
 

Group-A Each Questions Carries 1 marks : 1x 20 = 20 

§!ë˛Ü˛ í z̨_Ó˚!ê˛ !ã˛!•´ï˛ Ü˛Ó˚ 1 x 5 =5 

1.Which of the follwing is an acellular organism ? 

a) Rhizobium (b) Fungun (c) CORONA Virus (d) Plasmodium 

!l Ï̂¡¨Ó˚ ˆÜ˛yl ç#Ó!ê˛ ~Ü˛!ê˛ x Ï̂Ü˛y£Ï#Î˚ ç#Ó ⁄
 

Ü˛ä Ó˚y•ẑ Ïçy!ÓÎ˚yÙ åáä SÈeyÜ˛ åàä Ü˛ Ï̂Ó˚yîy Ë˛y•zÓ˚y§ åâä ≤’yç Ï̂Ùy!í˛Î˚yÙ
 

2) Which type of WBC is found in maximum amounts in human blood ? 

a) Basiphil (b) Eosinophil (c) Neutrophil (d) Lymphocyte. 

ˆÜ˛yl ôÓ˚̂ ÏlÓ˚ WBC ÙylÓ Ó˚̂ Ï=˛ §Ó Ï̂ã˛ Ï̂Î˚ ˆÓ!¢ ˛õ!Ó˚Ùy Ï̂î ˛õyGÎ˚y ÎyÎ˚⁄ 

Ü˛ä ˆÓ Ï̂§y!Ê˛° åáä •zG!§ Ï̂ly!Ê˛° åàä !lí ẑ̨ Ïê ∆̨y!Ê˛° åâä !° Ï̂¡≥˛y§y•zê˛ 

3) Loweer Km value indicates – (a) Less affinity for substrate (b) more affinity for substrate 

(c) enzyme concentration (d) number of active site
 

Km ~Ó˚ fl∫“ Ùyl !Ü˛ !l Ï̂ò≈¢ Ü˛ Ï̂Ó˚⁄
 

åÜ˛ä ˆÎÔà Ï̂Ü˛Ó˚ Ü˛Ù ã˛y!•òy åáä ˆÎÔà Ï̂Ü˛Ó˚ ˆÓ!¢ ã˛y!•òy åàä í z̨Í Ï̂§ã˛ Ï̂Ü˛Ó˚ âlc åâä §!Ü ̨ Î˚Ü˛ fiÌy Ï̂lÓ˚ §Çáƒy–
 

4) Kreb’s cycle occurs in which cell organelle ? (a) Ribosome (b) Mitochondria 

(c) Plastid (d) Lysosome. 

ˆÜ˛yl ˆÜ˛y£Ï#Î˚ xAàyl%̂ Ïï˛ ˆÜ ̨ Ó§ã˛Ü ̨  §Çà!ë˛ï˛ •Î˚⁄
 

Ü˛ä Ó˚y•ẑ ÏÓy Ï̂çyÙ åáä Ùy•ẑ Ïê˛yÜ˛l!í»̨ Î˚y åàä ≤’y!fiê˛í˛ åâä °y•ẑ Ï§y Ï̂çyÙ
 

5) Colchicin plant belongs to which family ? 

a) Liliaceae (b) Asteraceae (c) Brassicaceae (d) Poaceae 

Ü˛°!§!ã˛l í z̨!qò!ê˛ ˆÜ˛yl í z̨!qò Ï̂ày¤˛#Ó˚ xhs˝Ë%≈̨ =˛ ⁄
 

Ü˛ä !°!° Ï̂Î˚§# åáä xƒyfiê˛y Ï̂Ó˚§# åàä Ó y!§ Ï̂Ü˛§# åâä ˆ˛õy Ï̂Î˚§#
 

l# Ï̂ã˛Ó˚ ≤ÃŸ¿à%̂ Ï°yÓ˚ ~Ü˛ ¢ Ï̂∑‡Óy Ï̂Ü˛ƒ í z̨_Ó˚ òyG 

6) What is taxon?

 ê˛ƒy:l !Ü˛⁄ 

7) What is the name of the largest animal phylum ? 

§Ó Ï̂ã˛ Ï̂Î˚ Óí ¸̨ ≤Ãyî# ˛õÓ≈!ê˛Ó˚ lyÙ !Ü˛ ⁄ 

8) Give an example of cyanobacteria ? 

~Ü˛!ê˛ §yÎ˚y Ï̂lyÈüÈÓƒyÜ˛!ê˛!Ó˚Î˚yÓ˚ í z̨òy•Ó˚î òyG– 

9) Which cell organelle is called the suicidal bag of cell. 

ˆÜ˛y Ï̂£ÏÓ˚ ˆÜ˛yl xAàyl%̂ ÏÜ˛ xydâyï˛# Ì!° Ó°y•Î˚⁄ 



 

10) In Which phylum of animals choanocyte cells are present ? 

ˆÜ˛yl ≤Ãyî# Ó˚y Ï̂çƒ ˆÜ˛yÎ˚y Ï̂ly§y•zê˛ ˆÜ˛y£Ï ˆòáy ÎyÎ˚⁄ 

11) Give two examples of essential amino acids ? 

ò%!ê˛ xï˛ƒyÓ¢ƒÜ˛#Î˚ xƒyÙy•ẑ Ïly xƒy!§ Ï̂í˛Ó˚ í z̨òy•Ó˚î òyG– 

12) Which type of sugar is present in DNA? 

DNA ~Ó˚ Ù Ï̂ôƒ Ü˛# ôÓ˚̂ ÏlÓ˚ ¢Ü≈̨ Ó˚y Ìy Ï̂Ü˛⁄ 

13) What is the value of RQ of glucose (in aerobic respiration) ? 

@’%̂ ÏÜ˛y Ï̂çÓ˚ RQ-~Ó˚ Ùyl Ü˛ï˛ å§Óyï˛ Ÿª§ Ï̂lÓ˚ ˆ«˛ Ï̂eä⁄ 

14) Where does glycolysis occurs in a cell ? 

@’y•ẑ ÏÜ˛y°y•z!§ ˆÜ˛y Ï̂£ÏÓ˚ ˆÜ˛yÌyÎ˚ â Ï̂ê˛⁄ 

15) What is the full form of RuBP? 

RuBP ~Ó˚ §¡õ)î≈ lyÙ !°á– 

16) What is interphase ? 

•zrê˛yÓ˚̂ ÏÊ˛ç Ü˛#⁄ 

17) What is pericardium ? 

ˆ˛õ!Ó˚Ü˛y!í≈̨ Î˚yÙ Ü˛y Ï̂Ü˛ Ó Ï̂°⁄ 

18) What is electrocardiograph ? 

•ẑ Ï°Ü˛ Ï̂ê ∆̨yÜ˛y!í≈̨ G@˝ÃyÊ˛ Ü˛#⁄ 

19) Name the hormone which is associated with the rcabsorptio of water in kidney ? 

Ó,̂ ÏE˛Ó˚ Ù Ï̂ôƒ ç Ï̂°Ó˚ ˛õ%lıˆ¢y£Ï̂ ÏîÓ˚ §y Ï̂Ì Î%=˛ •Ó˚̂ ÏÙyl!ê˛Ó˚ lyÙ !Ü˛⁄ 

20) What is the normal systolic Pressure value of human blood ? 

Ùyl%̂ Ï£ÏÓ˚ fl∫yË˛y!ÓÜ˛ !§ Ï̂fiê˛y!°Ü˛ Ó˚=˛ã˛y˛õ Ü˛ï˛ ⁄ 

Section-B ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ ÙylÈüÈ2 2x8=16 

Short Answer type questios å§Ç!«˛Æ ≤Ã Ï̂Ÿ¿y_Ó˚ä 

21) Give two difference between archaebacteria & eubacteria. 

xy!Ü≈̨ ÓƒyÜ˛!ê˛!Ó˚Î˚y G •zí z̨Óƒy!Q!Ó˚Î˚yÓ˚ Ù Ï̂ôƒ ò%!ê˛ ˛õyÌ≈Ü˛ƒ í ẑ̨ ÏÕ‘á Ü˛Ó˚– 

22) Explain the symbiotic association of lichens. 

°y•ẑ ÏÜ˛ Ï̂l §Çà!ë˛ï˛ !Ù Ï̂Ìyç#!Óï˛y Óƒyáƒy Ü˛Ó˚– 

23) Draw the floral diagram of Solanum nigram (makoi) flower. 

Solanum nigram åÜ˛yÜ˛Ùy!SÈä í z̨!q Ï̂òÓ˚ ̨ õ%‹õ!ã˛e xAÜ˛l Ü˛Ó˚– 

24) What is plasmodesmata? Write its function. 

≤’yç Ï̂Ùy Ï̂í˛çÙyê˛y Ü˛#⁄ ~Ó˚ Ü˛yç !°á– 

25) Why C
4
 plants can do more photosynthesis than C

3
 plants. 

C
4
 í z̨!q Ï̂òÓ˚y C

3 
í z̨!qò x Į̈̂ õ«˛y ˆÓ!¢ ˛õ!Ó˚Ùy Ï̂î §y Ï̂°yÜ˛§Ç Ï̂Ÿ’£Ï Ü˛Ó˚̂ Ïï˛ ˛õy Ï̂Ó˚ ˆÜ˛l⁄ 



 

26) What  is crossing over ? When does if occur ? 

Ü ̨ !§ÇGË˛yÓ˚ Ü˛#⁄ ~!ê˛ Ü˛ál §Çà!ë˛ï˛ •Î˚– 

27) Which nodal tissue is called pacemaker of human hear & why ? 

ˆÜ˛yl ˆlyí˛y° Ü˛°y Ï̂Ü˛ ÙylÓ •,Í!˛õ Ï̂[˛Ó˚ ˆ˛õ§ Ï̂ÙÜ˛yÓ˚ Ó°y •Î˚ ~ÓÇ ˆÜ˛l⁄ 

28) What is diaphragm ? Write its function. 

í˛yÎ˚yÊ ̨ yÙ Ü˛#⁄ ~Ó˚ Ü˛yç í ẑ̨ ÏÕ‘á Ü˛Ó˚– 

* OR 

Name the hormone which is released form heart & write its function. 

* xÌÓy 

•,Í!˛õ[˛ ˆÌ Ï̂Ü˛ !lÈ/§,ï˛ •Ó˚̂ ÏÙy Ï̂lÓ˚ lyÙ G Ü˛yç !°á– 

Group-C å≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 3) 3x8=24 

Answer the following questions å!l Ï̂¡¨ í ẑ̨ ÏÕ‘!áï˛ ≤ÃŸ¿à%̂ Ï°yÓ˚ í z̨_Ó˚ òyGä 

29) Why do brayophyta are called amphibians of the plant kingdom ? Mention the function of hold fast 

in brown algae. Why the algae of class Rhodophyceae are red in colour?  (1+1+1) 

í z̨!qò Ó˚y Ï̂çƒ Ó y Ï̂Î˚yÊ˛y•zê˛y Ï̂òÓ˚ í z̨Ë˛Î˚ã˛Ó˚ Ó Ï̂° ˆÜ˛l⁄ ÓyòyÙ# ˜¢Óy Ï̂° ˆ•y”˛Ê˛y Ï̂fiê˛Ó˚ Ü˛yç !°á⁄ Ó˚̂ Ïí˛yÊ˛y•z§# ˆ◊!îÓ˚ 

xhs˝à≈ï˛ ˜¢Óy Ï̂°Ó˚y °y° •Î˚ Ï̂Ü˛l⁄ 1+1+1 

30) Name the phylum of animals where the following structures are found – a) Radula (b) proboscis 

“All vertebrates are chordates, but all chordates are not vertebrates”- Why ? 

!l¡¨!°!áï˛ xÇ¢à%̂ Ï°y ˆÜ˛yl ˆÜ˛yl ≤Ãyî#˛õ Ï̂Ó≈ ˆòáy ÎyÎ˚ û Ü˛ä Ó˚ƒyí%̨ °y åáä ≤Ã Ï̂Óy!§§ 

ÚÚ§Ü˛° ˆÙÓ%̊ò[˛# ≤Ãyî#•z Ü˛í≈̨ yê˛y ˛õÓ≈Ë%̨ =˛ñ !Ü˛v §Ü˛° Ü˛í≈̨ yê˛y ˛õÓ≈Ë%̨ =˛ ≤Ãyî#Ó˚y•z ˆÙÓ%̊ò[˛# lÎ˚ÈÛÛ û ˆÜ˛l⁄ 

31) What is aestivation of flower ? With the help of diagrams show the different types of aestivation in 

corolla of flower. 

˛õ%‹õ˛õe!Ólƒy§ Ü˛y Ï̂Ü˛ Ó Ï̂°⁄ !ã˛e ≤Ãò¢≈l Ü˛ Ï̂Ó˚ !Ó!Ë˛ß¨ ≤ÃÜ˛yÓ˚ ò°Ù[˛ Ï̂°Ó˚ ˛õ%‹õ!Ólƒy Ï̂§Ó˚ ôÓ˚l ˆòáyG– 

32) Name one semi-autonomous organelle of cell. Why it is called so? Name of main lipid component 

which is present in the cell membrame. 

ˆÜ˛y Ï̂£Ï í z̨̨ õ!fiÌï˛ ˆÎ Ï̂Ü˛yl ~Ü˛!ê xô≈ÈüÈfl∫!lË≈̨ Ó˚ xAàyl%Ó˚ lyÙ !°á– ~ Ï̂Ü˛ ~Ó)̨̊ õ Ó°y •Î˚ ˆÜ˛l⁄ ˆÜ˛y£Į̈ õò≈yÎ˚ í z̨̨ õ!fiÌï˛ 

≤Ãôyl !°!˛õí˛ í z̨̨ õyòyl!ê˛Ó˚ lyÙ !°á– 

33) What do you mean by secondary metabolites ? Give two examples of them. Show the structure of 

cholestero. 

ˆàÔî !Ó˛õyÜ˛çyï˛ Ó›§Ù)• Ó° Ï̂ï˛ Ü˛# ˆÓyV˛⁄ ~ Ï̂òÓ˚ ò%!ê˛ í z̨òy•Ó˚î òyG– ˆÜ˛y Ï̂° Ï̂fiê˛Ó˚̂ Ï°Ó˚ àë˛l !ã˛e!ê˛ xAÜ˛l Ü˛Ó˚– 

34) Mention the significance of meiosis. What is chiasmata ? 

!Ù Ï̂Î˚y!§ Ï̂§Ó˚ ï˛yÍ˛õÎ≈ í ẑ̨ ÏÕ‘á Ü˛Ó˚– Ü˛yÎ˚çÙyê˛y Ü˛y Ï̂Ü˛ Ó Ï̂°⁄ 2+1=3 

OR, 

Describe fluid mosaic model of plasmamembrane with a diagram. 2+1 

xÌÓy 

ˆÜ˛y£Į̈ õò≈yÓ˚ Êœ%̨ •zí˛ÈüÈˆÙy Ï̂ç•zÜ˛ åï˛Ó˚° ˆÙy Ï̂ç•zÜ˛ä l:y!ê˛ !ã˛e§• Óƒyáƒy Ü˛Ó˚– 



 

35) What is plycolysis ? Write the sequential reaction of glycolysis in a flow-chart. 

@’y•ẑ ÏÜ˛y°y•z!§§ Ü˛#⁄ @’y•ẑ ÏÜ˛y°y•z!§ Ï̂§ §Çà!ë˛ï˛ !Ó!Ü ̨ Î˚y§Ù)• Ï̂Ü˛ ~Ü˛!ê˛ ¢∑ÈüÈ!ã˛ Ï̂eÓ˚ §y•y Ï̂Îƒ ˆòáyG– 

36) Which blood group is called universal donor & why ? What do you mean by crythroblastosis 

foetalis ? 

Ó˚̂ Ï=˛Ó˚ ˆÜ˛yl @˝Ã%̨ õ Ï̂Ü˛ §y!Ó≈Ü˛òyï˛y Ó Ï̂° ~ÓÇ ˆÜ˛l⁄ ~!Ó˚̂ ÏÌ yÓœy Ï̂fiê˛y!§§ !Ê˛ê˛y!°§ Ü˛y Ï̂Ü˛ Ó Ï̂°⁄ 

37) Explain the concept of the mechanism of muscle contraction-Draw a labelled diagram of myosin 

monomer.

 ˆ˛õ¢# §Ç Ï̂Ü˛yã˛l ˛õÂô!ï˛!ê˛Ó˚ Ù)° !Ó£ÏÎ˚!ê˛ Óƒyáƒy Ü˛Ó˚– Ùy Ï̂Î˚y!§§ Ù Ï̂lyÙy Ï̂Ó˚Ó˚ !ã˛!•´ï˛ !ã˛e xAÜ˛l Ü˛Ó˚– 

38) What is carbaminohaemoglobin ? What do you mean by Tidal volume and vital capacity ? 

Ü˛yÓ≈y!Ù Ï̂ly!• Ï̂Ùy Ï̂@’y!Ól !Ü˛ ⁄ ≤ÃÓy•# ÓyÎ%̊Ó˚ ˛õ!Ó˚Ùyî ~ÓÇ ÓyÎ%̊ôyÓ˚Ü˛c Ó° Ï̂ï˛ !Ü˛ ˆÓyV˛⁄ 

OR 

What is second messenger in hormone action ? Briefly describe the second messenger method or cAMP 

mediated mechanism of hormonal action. 

xÌÓy 

•Ó˚̂ ÏÙy Ï̂lÓ˚ Ü˛yÎ≈̨ õÂô!ï˛ Ï̂ï˛ !mï˛#Î˚ Óyï≈̨ yÓ• Ó° Ï̂ï˛ Ü˛# ̂ ÓyV˛⁄ •Ó˚̂ ÏÙy Ï̂lÓ˚ Ü˛yÎ≈̨ õÂô!ï˛ Ï̂ï˛ !mï˛#Î˚ Óyï≈̨ yÓ• ̨õÂô!ï˛ Óy cAMP 

myÓ˚y §Çà!ë˛ï˛ ˛õÂô!ï˛Ó˚ §Ç Ï̂«˛ Į̈̂ õ !ÓÓÓ˚î òyG– 

Group-D  ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 5 5x2=10 

Long answer type questions åÓ˚ã˛lyôÙ#≈ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ä 

39) Explain the mechanism of breathing in human. Mention the names of the factors which are anociated 

with oxygen dissociation curve. What is emphysema ? 

ÙylÓ ˆò Ï̂• Ÿªy§!Ü ̨ Î˚yÓ˚ ˛õÂô!ï˛ Óƒyáƒy Ü˛Ó˚– x!: Ï̂çl !í˛ Ï̂§y!§ Ï̂Î˚¢yl ˆ°á!ã˛ Ï̂eÓ˚ §y Ï̂Ì Î%=˛ Ê˛ƒyQÓ˚à%!°Ó˚ lyÙ !°á⁄ 

•zÙÊ˛y•z!§Ùy Ó° Ï̂ï˛ Ü˛# ˆÓyV˛⁄ 

OR 

Explain the stager of calvin cycle with a flow chart. Write down two difference between cycle & non-

cyclic photophosphorylation. 3+2 

~Ü˛!ê˛ ¢∑ !ã˛ Ï̂eÓ˚ §y•y Ï̂Îƒ ̂ Ü˛°!Ë˛l ã˛Ü ̨ !ê˛ Óƒyáƒy Ü˛Ó˚– ã˛Ü ̨ yÜ˛yÓ˚ G xã˛Ü ̨ yÜ˛yÓ˚ Ê˛§ Ï̂Ê˛yÓ˚#Ë˛Ó Ï̂lÓ˚ Ù Ï̂ôƒ ò%!ê˛˛õyÌ≈Ü˛ƒ !°á– 

40) Why lungs are considered as excretory organ ? Explain renin-angiotensin systom in short. What is 

slomerulonephritis ? 1+3+1 

Ê%̨ §Ê%̨ § Ï̂Ü˛ ̂ Ü˛l ̂ Ó˚ã˛l xAà Ó°y •Î˚⁄ §Ç Ï̂«˛ Į̈̂ õ ̂ Ó˚!ll xƒy!OG Ï̂ê˛l!§l ï˛sf!ê˛ Óƒyáƒy Ü˛Ó˚– ̂ @’y Ï̂Ù!Ó˚G Ï̂°y Ï̂lÊ ̨ y•z!ê˛§!Ü˛⁄ 

OR 

What is lenticel & how it is associated with plant respiration explain ? Show the main pathways or 

ancerobic respiration.What is RQ.  2+2+1 

xÌÓy 

ˆ°!rê˛ Ï̂§° !Ü˛ ~ÓÇ •z•y !Ü˛Ë˛y Ï̂Ó í z̨!q Ï̂òÓ˚ Ÿª§ Ï̂lÓ˚ §y Ï̂Ì Î%=˛ÈüÈÓƒyáƒy Ü˛Ó˚– xÓyï˛ Ÿª§ Ï̂lÓ˚ Ù)áƒ ˛õÌ§Ù)• Ï̂Ü˛ SÈ Ï̂Ü˛Ó˚ 

§y•y Ï̂Îƒ ˆòáyƒ– RQ !Ü˛⁄ 



 

MODEL QUESTION
 

Class - XI : Business Studies : 80 Marks : 2020-2021
 

!ÓË˛yàÈüÈÜ˛ / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ ÙylÈüÈ1 / 1 x 20 = 20
 

§!ë˛Ü˛ ¢∑!ê˛ ˆÓ Ï̂SÈ !l Ï̂Î˚ áyï˛yÎ˚ ˆ° Ï̂áy / 1X5 

1ä ~Ü˛!ê˛ §ÙÓyÎ˚ §!Ù!ï˛ Ï̂ï˛ xl%§Ó˚î Ü˛Ó˚y l#!ï˛!ê˛ •° û 
Ü˛ä ˆ¢Î˚yÓ˚ ≤Ã!ï˛ ~Ü˛ ˆË˛yê˛ åáä ~Ü˛ Óƒ!=˛ ~Ü˛ ˆË˛yê˛ åàä ˆÜ˛yl ˆË˛yê˛ ˆl•z åâä ~Ü˛y!ôÜ˛ ˆË˛yê˛ 

2ä PSE- ~Ó˚ !Ó°!@¿Ü˛Ó˚î Ó° Ï̂ï˛ ˆÓyV˛yÎ˚ û 
Ü˛ä ˆÓ§Ó˚Ü˛y!Ó˚‡§Ó˚Ü˛yÓ˚# ˆ«˛ Ï̂e §yôyÓ˚î ˆ¢Î˚yÓ˚ !ÓÜ ̨ Î˚ 
áä Ü˛Ù≈≤Ã!Ü ̨ Î˚y Órô Ü˛ Ï̂Ó˚ ˆòGÎ˚y 
àä lï%̨ l ˆ«˛ Ï̂e !Ó!l Ï̂Î˚yà 
âä PSE- ~Ó˚ ˆ¢Î˚yÓ˚ Ü ̨ Î˚ Ü˛Ó˚y 

3ä !l¡¨!°!áï˛ ˆÜ˛yl!ê˛ !ÓÙyÓ˚ Ü˛yç lÎ˚ û 
Ü˛ä V%Ñ̨ !Ü˛ Órê˛l åáä Ù)°ôl àë˛ Ï̂l §•yÎ˚Ü˛ åàä }î òyl åâä í z̨̨ õ Ï̂Ó˚Ó˚ ˆÜ˛yl!ê˛•z lÎ˚– 

4ä §Ó≈çl#l à%òyÙçyï˛Ü˛Ó˚̂ ÏîÓ˚ §%!Óôy §Ù)̂ Ï•Ó˚ Ù Ï̂ôƒ xhs˝Ë%≈=˛ û 
Ü˛ä !lÎ˚sfî åáä lÙl#Î˚ï˛y åàä !í˛°y Ï̂Ó˚Ó˚ §y Ï̂Ì §¡õÜ≈̨  åâä í z̨̨ õ Ï̂Ó˚Ó˚ ˆÜ˛yl!ê˛•z lÎ˚– 

5ä  §yÙy!çÜ˛ òy!Î˚c ~Ü˛!ê˛ û 
Ü˛ä xy•z!l òy!Î˚̂ ÏcÓ˚ Ù Ï̂ï˛y•z åáä xy•z!l òy!Î˚̂ ÏcÓ˚ ˆã˛ Ï̂Î˚ Ó,•_Ó˚ åàä xy•z!l òy!Î˚̂ ÏcÓ˚ ˆã˛ Ï̂Î˚ §ÇÜ˛#î≈ åâä ˆÜ˛yl!ê˛•z ly– 

~Ü˛!ê˛ ¢ Ï̂∑ ‡ Óy Ï̂Ü˛ƒ í z̨_Ó˚ òyG /È 
6ä ≤ÃyÌ!ÙÜ˛ !¢ Ï̂“Ó˚ í z̨̨ õ!ÓË˛yà à%̂ Ï°y !Ü˛ ⁄ 
7ä Ü˛yÓ˚Óy!Ó˚ V%Ñ̨ !Ü˛Ó˚ §ÇK˛y !°á– 
8ä â%Ùhs˝ xÇ¢#òyÓ˚ Ó° Ï̂ï˛ !Ü˛ ˆÓyV˛yÎ˚⁄ 
9ä ÓƒÎ˚ §Ç Ï̂Ü˛yã˛l Ùyey !Ü˛ ⁄ 
10ä !Ó!ôÓÂô Ü˛ Į̈̂ õ≈y Ï̂Ó˚¢l !Ü˛⁄ 
11ä !Ó2!Ó Óy!îçƒ Ó° Ï̂ï˛ !Ü˛ ˆÓyV˛yÎ˚⁄ 
12ä !làÙÓÂô §yÙy!çÜ˛ òy!Î˚c (CSR) Ó° Ï̂ï˛ !Ü˛ ˆÓyV˛⁄ 
13ä §yÙy!çÜ˛ òy!Î˚̂ ÏcÓ˚ ôÓ˚îà%̂ Ï°y !Ü˛ !°á⁄ 
14ä ˆÜ˛y¡õy!lÓ˚ ≤ÃyÌ!ÙÜ˛ ã%̨ !=˛ Ó° Ï̂ï˛ !Ü˛ ˆÓy Ï̂V˛y⁄ 
15ä ˆÜ˛y¡õy!lÓ˚ Ü˛yÎ≈yÓ˚̂ ÏΩ˛Ó˚ xl%Ù!ï˛˛õe !Ü˛ ⁄ 
16ä ˆÜ˛yl ˆÜ˛y¡õy!lÓ˚ ˆ¢Î˚yÓ˚ ˆ•y”˛yÓ˚ Ü˛y Ï̂òÓ˚ Ó°y •Î˚⁄ 
17ä Óy!î!çƒÜ˛ ÓƒyÇÜ˛ ~Ó˚ §%!Óôy !Ü˛ !Ü˛ ⁄ 
18ä SEZÈüÈ~Ó˚ ˛õ%̂ ÏÓ˚y lyÙ !°á– 
19ä §%̨ õyÓ˚ Ùy Ï̂Ü≈̨ ê˛ !Ü˛ ⁄ 
20ä ˆË˛!u˛Ç ˆÙ!¢l ~Ó˚ §%!Óôy !Ü˛⁄ 

!ÓË˛yàÈüÈá /È ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl -3 /È 3 x 5 = 15 

!l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 80!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ ˆ° Ï̂áy– 

21ä Ü˛yÓ˚ÓyÓ˚ñ ˆ˛õ¢y ~ÓÇ ã˛yÜ%̨ Ó˚#Ó˚ Ù Ï̂ôƒ ˆÎ Ï̂Ü˛y Ï̂ly !ï˛l!ê˛ ˛õyÌ≈Ü˛ƒ !°á– 
D xÌÓy 

≤Ãy!ï˛¤˛y!lÜ˛ hflÏ̂ ÏÓ˚ Ü˛yÓ˚Óy!Ó˚ Ü˛yÎ≈Ü˛°y˛õ §¡õ Ï̂Ü≈̨  !°á–
 
22ä ≤ÃôylÙsf# çlôl ˆÎyçly !Ü˛⁄
 
23ä ˜Óò%ƒ!ï˛l ÓƒÓ§y G ˜Óò%ƒ!ï˛l Óy!î Ï̂çƒÓ˚ Ù Ï̂ôƒ ˛õyÌ≈Ü˛ƒ !°á–
 



24ä !ÓŸªÓƒy˛õ# ≤Ã!ï˛ Ï̂Îy!àï˛yÓ˚ Ü˛yÓ˚̂ Ïî ˆÜ˛yl ˆÜ˛yl ˆ«˛ Ï̂e «%̨ o ÓƒÓ§yà%̂ Ï°y «˛!ï˛Ó˚ §¡ø%!ál • Ï̂FSÈ⁄ 

25ä xyhs˝ç≈y!ï˛Ü˛ Óy!î Ï̂çƒÓ˚ ˛õ!Ó˚!ô §¡õ Ï̂Ü≈̨  xy Ï̂°yã˛ly Ü˛ Ï̂Ó˚y– 

!ÓË˛yàÈüÈà /È ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl - 4 /È 4 x 3 = 12
 

§Ç!«˛Æ í z̨_Ó˚ òyG 100!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ
 
26ä ÚÙ%lyÊ˛y •° V%Ñ̨ !Ü˛ @˝Ã• Ï̂îÓ˚ ˛õ%Ó˚flÒyÓ˚Ûû xy Ï̂°yã˛ly Ü˛Ó˚– 

27ä x!@¿Ó#Ùy G ˆlÔÈüÈ!ÓÙyÓ˚ Ù Ï̂ôƒ ˆÎ Ï̂Ü˛y Ï̂ly ã˛yÓ˚!ê˛ ˛õyÌ≈Ü˛ƒ !°á– 
D xÌÓy 

!ÓÙyÓ˚ Ü˛yÎ≈yÓ°# §¡õ Ï̂Ü≈̨  !°á– 
28ä ÚÚÓƒÓ§y Ù)°ï˛ ~Ü˛!ê˛ §yÙy!çÜ˛ ≤Ã!ï˛¤˛ylñ ly !Ü˛ ¢%ô%Ùye Ù%lyÊ˛y ˜ï˛!Ó˚Ó˚ Ü˛yÎ≈Ü˛°y˛õÛÛû §Ç Ï̂«˛ Į̈̂ õ Óƒyáƒy Ü˛Ó˚– 

!ÓË˛yàÈüÈâ /È ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl - 5 /È 5 x 3 = 15 

!l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 120 !ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ òyG– 
29ä ~Ü˛!ê˛ ˆÜ˛y¡õy!lÓ˚ ≤ÃÓï≈̨ Ï̂lÓ˚ çlƒ ≤ÃÓï≈̨ Ü˛ Ï̂òÓ˚ myÓ˚y à,•#ï˛ ˛õò Ï̂«˛˛õà%̂ Ï°y §Ç Ï̂«˛ Į̈̂ õ Óî≈ly Ü˛Ó˚–
 
30ä xË˛ƒhs˝Ó˚#î Óy!î Ï̂çƒÓ˚ à%Ó%̊cà%̂ Ï°y xy Ï̂°yã˛ly Ü˛Ó˚–


 xÌÓy 
!ÓË˛yà#Î˚ !Ó˛õ!î ~ÓÇ !Ó˛õ!î ¢,C Ï̂°Ó˚ Ù Ï̂ôƒ ˆÎ Ï̂Ü˛y Ï̂ly ˛õÑyã˛!ê˛ ˛õyÌ≈Ü˛ƒ !°á–
 

31ä xyhs˝ç≈y!ï˛Ü˛ Óy!î Ï̂çƒÓ˚ §%!Óôyà%̂ Ï°y §¡õ Ï̂Ü≈̨  !°á–
 
D xÌÓy 

ˆò¢#Î˚ G xyhs˝ç≈y!ï˛Ü˛ Óy!î Ï̂çƒÓ˚ Ù Ï̂ôƒ ˆÎ Ï̂Ü˛y Ï̂ly ˛õÑyã˛!ê˛ ˛õyÌ≈Ü˛ƒ !°á– 

!ÓË˛yà ÈüÈ . /È ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl - 6 /È 6 x 3 = 18 

!l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 150!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ òyG 
32ä §Ó˚Ü˛yÓ˚# ˆÜ˛y¡õy!lÓ˚ ˜Ó!¢T˛ƒà%̂ Ï°y §¡õ Ï̂Ü≈̨  !°á– 

xÌÓy 
§ÙÓyÎ˚ §!Ù!ï˛ Ó° Ï̂ï˛ !Ü˛ ˆÓyV˛⁄ ~Ó˚ ˜Ó!¢T˛ƒyÓ°# !ÓÓ,ï˛ Ü˛ Ï̂Ó˚y–
 

33ä xyhs˝ç≈y!ï˛Ü˛ ÓƒÓ§y Ï̂Î˚ ≤Ã Ï̂Ó Ï̂¢Ó˚ ˛õÂô!ï˛ §Ç Ï̂«˛ Į̈̂ õ xy Ï̂°yã˛ly Ü˛Ó˚–
 
xÌÓy 

ã%̨ !=˛ !Ë˛!_Ü˛ í z̨Í˛õyòl !Ü˛ ⁄ ã%̨ !=˛ !Ë˛!_Ü˛ í z̨Í˛õyò Ï̂lÓ˚ ˛õÑyã˛!ê˛ §%!Óôy §¡õ Ï̂Ü≈̨  !°á–
 
34ä ˜Ó Ï̂ò!¢Ü˛ !Ó!l Ï̂Î˚yà Ó° Ï̂ï˛ ï%̨ !Ù !Ü˛ ˆÓyV˛ ï˛y Óî≈ly Ü˛Ó˚–
 

D x!ï˛!Ó˚=˛ ≤ÃŸ¿yÓ°# 



MODEL QUESTION 

Class - XI : Business Studies : 80 Marks : 2020-2021 

Part - A : Each Question Carries 1 Mark : 1x20=20 

A) Choose the correct answer : 1x5 

1) The policy to be followed in a co-operative society is – 

a) One vote per share (b) One person one vote (c) No vote (d) Multiple votes. 

2) Disinvestments of PSE means – 

a) Sale of ordinary (equity) shares in privae / public sector 

b) Stopping the work process 

c) Investment in new fields. 

d) Purchasing shares of PSE 

3) Which of the following is not insurance activity – 

a) Risk allocation (b) Assists in capital formation (c) Loans (d) None of the above. 

4) Benefits of public warehousing include – 

a) Control (b) Flexibility (c) Relationship with dealer (d) None of the above. 

5) Social Responsibility is – 

a) Like legal liability (b) Greater than legal liability (c) Narrower than legal liability (c) None 

B) Answer the following in a word / sentence : 1x15 

6) What are the subdivisions of the primary industry ?
 

7) Write the difinition of transaction risk ?
 

8) What does ‘sleeping partner’ mean?
 

9) What is the level of cost contraction ?
 

10) What is a statutory corporation ?
 

11) What is  meant by B2B trade ?
 

12) What do you mean by corporate social responsibility (CSR)?
 

13) What are the types of social responsibilities ?
 

14) What do you mean by initial contract of a company ?
 

15) What is the license to start a company ?
 

16) Who are called share - holders of a company ?
 

17) What are the advantages of ‘Commercial Bank’ ?
 

18) Write the full name of ‘SEZ’.
 

19) What is a supermarket ?
 

20) What are the advantages of vending machine ?
 

PART-B : Each Question Carries 3 Marks : 3x5=15 

Answer the following questions in 80 words : 

21) Write any three differences between business, profession and employment. 

* OR 

Write about business activities at the institutional level. 



22) What is the Prime Minister’s Jandhan Yojana ?
 

23) Write the differences between e-business and e-commerce.
 

24) In some cases, small businesses face losses due to global competition- Explain.
 

25. Write the scope of international trade. 

PART-C  : Each Question Carries 4 Marks : 4x3=12 

Answer the following questions in 100 words 

26. ‘Profit is the reward for taking risks’- Discuss. 

27. Write any four differences between fire insurance and marine insurance. 

*OR 

Write about insurance functions. 

28. ‘Business is basically a social organization, not just a for-profit activity’.- Explain briefly. 

PART-D : Each Question Carried 5 Marks : 5x3 =15 

Answer the following questions in 120 words 

29. Briefly discribe the steps taken by the promoters to start a company. 

30. Discuss the importance of internal trade. 

OR 

Write any five differences between departmental shopping and shopping chain. 

31. Write about the benefits of international trade. 

Or 

Write any five differences between domestic and international trade. 

PART-E : Each Question Carries 6 marks  : 6x3=18 

Answer the following questions in 150 words : 

32. Write about the characteristics of a government company. 

OR 

What do you mean by cooperative society ? State its features. 

33. Briefly discuss the method of entering internaltional business. 

OR 

What is contract manufacturing ? Write about five benefits of contract manufacturing . 

34. Describe what you mean by foreign investment ? 

* Additional Questions. 



  

Model Question
 

Class XI : Chemistry : 70 Marks : 2020-2021
 

Group - A  : ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 1 : 1x20=20
 
I) l# Ï̂ã˛Ó˚ ≤ÃŸ¿à%̂ Ï°yÓ˚ §!ë˛Ü˛ í z̨_Ó˚!ê˛ !ã˛!•´ï˛ Ü˛Ó˚ / 1x5 

1) 2Cl(g) →  Cl
2
(g) ~•z !Ó!Ü ̨ Î˚yÓ˚ çlƒ ΔH  ~ÓÇ Δ S  ~Ó˚ !ã˛•´ !Ü˛Ó)̨̊ õ • Ï̂Ó⁄ 

( ) H = + , b Δ = − ve ( ) Δ = + ve (d ) Δ = − ve a	 Δ ve ( ) H c H H 

ΔS = − ve ΔS = − ve ΔS = + ve ΔS = + ve 

0	 02) C(s) + O
2
(g) →  CO

2
(g) !Ü ̨ Î˚yÓ˚ ˆ«˛ Ï̂e ΔcH = − 393kJ / mol , • Ï̂° CO

2
(g) ~Ó˚ àë˛l ï˛y˛õ (ΔfH ) =  Ü˛ï˛ ⁄ 

393	 393 
( ) − KJ / mol b − KJ / mol a	 ( ) 

9	 2 

( ) − 393 KJ / mol (d ) + 393 KJ /c	 mol 

3) H
2
(g) + I

2
(g) = 2HI(g), ~•z !Ó!Ü ̨ Î˚yÓ˚ ˆ«˛ Ï̂e 

(a) Kp>Kc (b) Kp<Kc (c) Kp=Kc  (d) Kp ≥  Kc 

4) l# Ï̂ã˛Ó˚ ˆÜ˛yl!ê˛Ó˚ x!hflÏc ˆl•z Èüû 

(a) Ca2+  (b) Na2+  (c) Be2+  (d) K+ 

19) 	l# Ï̂ã˛Ó˚ ˆÜ˛yl!ê˛ !lí z̨!Üœ̨ Î˚ Ê˛y•z° ÈüÈ 

Cl 
a) H+ (b) : C c) NH

2
OH (d) FeCl

3Cl 

II) l# Ï̂ã˛Ó˚ ≤ÃŸ¿à%̂ Ï°yÓ˚ í z̨_Ó˚ òyG ~Ü˛ ¢ Ï̂∑‡Óy Ï̂Ü˛ƒ / 1x15 

6) Ni ˛õÓ˚Ùyî%Ó˚ •ẑ Ï°Ü˛ê ∆̨l !Ólƒy§!ê˛ !°á–
 

7) Na+, Cl–, Mg2+, F–ˆÜ˛ Ü ̨ ÙÓô≈Ùyl xyÎ˚l#Î˚ Óƒy§yô≈ xl%ÎyÎ˚# §yçyG–
 

8) O
3
 xl%̂ Ïï˛ Ü˛Î˚!ê˛ !§àÙ‰åδ ä G Ü˛Î˚!ê˛ ˛õy•z åπ ä Órôl xy Ï̂SÈ⁄
 

9) •ẑ Ï°Ü˛ê ∆̨l xy§!=˛ !Ü˛ ⁄ ~Ó˚ ~Ü˛Ü˛ !°á–
 

. . 

10) N F 3 xî%̂ Ïï˛ N ~Ó˚ §ÇÜ˛Ó˚yÎ˚l xÓfiÌy !Ü˛Ó)̨̊ õ ⁄ 

11) Ë˛ƒyl‰u˛yÓ˚GÎ˚y° ô %ÓÜ˛ ‘a’ ~Ó˚ ~Ü˛Ü˛ !°á– 

12) ~lê ∆̨!˛õÓ˚ §ÇK˛y !°á– 

. . . . 

13) N H − N H üÈ~Ó˚ xl%Órô# xƒy!§í˛ ˆÜ˛yl!ê˛⁄
2 2 È

14) KMnO
4 
È~ Mn ~Ó˚ çyÓ˚î §Çáƒy Ü˛ï˛ ⁄ 

15) NaHÈüÈ~Ó˚ §y Ï̂Ì ç Ï̂°Ó˚ !Ó!Ü ̨ Î˚yÎ˚ !Ü˛ àƒy§ í z̨Í˛õß¨ •Î˚⁄ 

16) KO
2
 ˆã˛Ô¡∫Ü˛ ˆ«˛ Ï̂e xyÜ˛!£Ï≈ï˛ •Î˚ Ï̂Ü˛l⁄ 

17) PbI
4
 ˆÌ Ï̂Ü˛ PbI

2
 ~Ó˚ fiÌy!Î˚c ˆÓ!¢ ˆÜ˛l⁄ 



      

 

 

 

 

 

=
O


 

18) CH
3
– C = CH – C – CH

2
COOH ~Ó˚  IUPAC ˛õÂô!ï˛ Ï̂ï˛ lyÙ !°á–

 CH 
3 

19) l# Ï̂ã˛Ó˚ !Ó!Ü ̨ Î˚y í z̨Í˛õß¨ ˛õòyÌ≈ §ly=˛ Ü˛Ó˚ ı 
.
 . . 

˛õyÓ˚ x:y•zí˛
CH − CH = CH + HBr 3 2 → 
20) BHC !Ü˛ ⁄ 

Group - B :  ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 2 :  2x7=14 

21) (i) ˆÙy°y!Ó˚!ê˛Ó˚ §ÇK˛y !°á– 

(ii) NTP-ˆï˛ 1!ê˛ í˛y•zx!: Ï̂ç Ï̂lÓ˚ xî% Ü˛ï˛áy!l xyÎ˚ï˛l òá° Ü˛ Ï̂Ó˚ – 

22) xyÊ‰̨  Óyí z̨ l#!ï˛!ê˛ !°á– 

(ii) Fe2+ & Fe3+ xyÎ˚Ó˚̂ ÏlÓ˚ Ù Ï̂ôƒ ˆÜ˛yl!ê˛ ˆÓ!¢ fiÌyÎ˚# G ˆÜ˛l⁄ 

23)(i) Be- ~Ó˚ xyÎ˚l#Ë˛Ól !ÓË˛Ó b x Į̈̂ õ«˛y ˆÓ!¢ ˆÜ˛l⁄ 

(ii) ~Ü˛!ê˛ Ï̂ÙÔ Ï̂°Ó˚ ˛õyÓ˚Ùyî!ÓÜ˛ Ü ̨ ÙyAÜ˛ =24ñ ˛õÎ≈yÎ˚ §yÓ˚î# Ï̂ï˛ ~Ó˚ xÓfiÌyl !°á ~ÓÇ ~!ê˛ !Ü˛ çyï˛#Î˚ ˆÙÔ° ⁄ 

24) (i) ~Ü˛!ê˛ x§ÙO§ !Ó!Ü ̨ Î˚yÓ˚ í z̨òy•Ó˚î òyG – 

(ii) x¡‘ Ùyôƒ Ï̂Ù H
2
O

2
(aq )+ Fe2+(aq) →  Fe3+ (aq) + H

2
O(l) §Ù#Ü˛Ó˚î!ê˛Ó˚ xyÎ˚l •ẑ Ï°Ü˛ê ∆̨l ̨õÂô!ï˛ Ï̂ï˛ §Ùï˛y !Óôyl

Ü˛Ó˚– 

25) (i) ç Ï̂°Ó˚ í z̨Ë˛ô!Ù≈ï˛y Ó˚y§yÎ˚!lÜ˛ !Ó!Ü ̨ Î˚yÓ˚ Ùyôƒ Ï̂Ù ˆòáyG– 

(ii) PH
5
ÈüÈ~Ó˚ x!hflÏc ˆl•z ˆÜ˛l⁄ 

26) NaNO
3
 ˆÜ˛ í z̨_Æ Ü˛Ó˚̂ Ï° !Ü˛ â Ï̂ê˛ §Ù#Ü˛Ó˚î §• !°á– 

(ii) Ü˛!ë˛l xÓfiÌyÎ˚ G àƒy§#Î˚ÓfiÌyÎ˚ BaCl
2
 ˆÓ˚ àë˛l !°á– 

27) (i) Ë˛yç≈ÈüÈ≤Ã!Ü ̨ Î˚yÓ˚ ~Ü˛!ê˛ í z̨òy•Ó˚î òyG– 

O3 Zn/ H O 1(ii) 2CH
3
–C=CH

2 
→ A ⎯⎯⎯→ × 4⎯⎯⎯ B+CCCl 4 Δ 2 

CH 
3 

A, B ~ÓÇ C §ly=˛ Ü˛Ó˚– 

D xÌÓy 

ê˛#Ü˛y !°á û (i) !Ê ̨ Ï̂í˛° Ü ̨ yÊ˛ê‰̨ §‰ xƒy°Ü˛y•ẑ Ï°¢l– (ii) ˆÜ˛y°‰̂ ÏÓ !Ó!Ü ̨ Î˚y– 

Group-C : ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 3 : 3x7=21 

28)(a) 9.6g §y°Ê˛yÓ˚ (S
8
) ~Ó˚ Ù Ï̂ôƒ í z̨̨ õ!fiÌï˛ xî% G ˛õÓ˚Ùyî% §Çáƒy !lî≈Î˚Ü˛Ó˚– 2+1 

(b) ˆÜ˛yl àƒy Ï̂§Ó˚ Óy‹õ âlc í z̨£÷Ïï˛y G ã˛y Į̈̂ õÓ˚ í z̨̨ õÓ˚ !lË≈̨ Ó˚ Ü˛ Ï̂Ó˚ Ü˛#⁄ Óƒyáƒy Ü˛Ó˚– 
29) (a) 2d ~ÓÇ 3f Ü˛«˛Ü˛ §Ω˛Ó lÎ˚ Ï̂Ü˛l⁄ 1x3 

(b) 2S ~ÓÇ 3Px Ü˛«˛ Ï̂Ü˛Ó˚ xyÜ,̨ !ï˛ !Ü˛Ó)̨̊ õ⁄ 
(c) H- ˛õÓ˚Ùyî%̂ Ïï˛ ~Ü˛!ê˛ •ẑ Ï°Ü˛ê ∆̨l 12.1ev ¢!=˛ ˆ¢y£Ïî Ü˛ Ï̂Ó˚ ˆÜ˛yl Ü˛ Ï̂«˛ °y!Ê˛ Ï̂Î˚ í z̨ë˛ Ï̂Ó⁄ 

30) (i) N
2
 xl%Ó˚ xylÓ Ü˛«˛Ü˛ •ẑ Ï°Ü˛ê ∆̨l !Ólƒy§ !°á ~ÓÇ N

2
ÈüÈ~Ó˚ ˆã˛Ô¡∫Ü˛ ôÙ≈ñ Órôl Ü ̨ Ù !lî≈Î˚ Ü˛Ó˚– 

(ii) §yôyÓ˚î í z̨£÷Ïï˛yÎ˚ H
2
S ~Ü˛!ê˛ àƒy§ !Ü˛v H

2
O ï˛Ó˚° ˆÜ˛l⁄ 2+1 

D xÌÓy 
(i) CO

2 
xô %Ó#Î˚ ˆÜ˛l⁄ 1+1+1 

(ii) BF
3
 ~ÓÇ SiCl

4
 xî%Ó˚ àë˛lyÜ,̨ !ï˛ !Ü˛ Ó)̨̊ õ ⁄ 

(iii) !Ó¢%Âô NaCl ï˛!í ¸̨Í xÈüÈ˛õ!Ó˚Óy•# ˆÜ˛l⁄ 



 

 

 

31) (a) SI ~Ü˛ Ï̂Ü˛ R ~Ó˚ Ùyl Ü˛ï˛ ⁄ 

(b) í˛y°ê˛ Ï̂lÓ˚ xÇ¢ã˛y˛õ §)e!ê˛ !°á– 

(c) ˆÜ˛yl í z̨£÷Ïï˛yÎ˚ 28N
2
 àƒy Ï̂§Ó˚ xyÎ˚ï˛l 2.46atm ã˛y Į̈̂ õ 10L • Ï̂Ó⁄ 

32) (a) ˆ•§‰ÈüÈ~Ó˚ ï˛y˛õ §Ù!T˛Ó˚ §)e!ê˛ !ÓÓ,ï˛ Ü˛Ó˚– 

(b) !l¡¨!°!áï˛ Órôl ¢!=˛ ˆÌ Ï̂Ü˛ 

C H (g) + H (g) → C H (g)
2 2 2 2 4

 ~•z !Ó!Ü ̨ Î˚yÓ˚ ~lÌƒy°!˛õ !lî≈Î˚ Ü˛Ó˚– 
−1 −1C − H → 414.0 KJmol , C ≡C → 827.6 KJmol 
−1 −1C = C → 606.0 KJmol , H − H → 430.5 KJmol 

33) (a) ˆÙê˛yÙy!Ó˚çÙ !Ü˛ ⁄ í z̨òy•Ó˚î §• Óƒyáƒy Ü˛Ó˚– 
(ii) Cl

3
C – COOH, CH

3
COOH, ClCH

2
COOH, Cl

2
CHCOOH ˆÜ˛ Ü ̨ ÙÓô≈Ùyl x!¡‘Ü˛ï˛y xl%§y Ï̂Ó˚ §yçyG– 

34) (i) HC ≡ CHÈüÈ~Ó˚ x¡‘ô Ï̂Ù≈Ó˚ §y Į̈̂ õ Ï̂«˛ 1!ê˛ !Ó!Ü ̨ Î˚y !°áù 
(ii) ˛õ!Ó˚Óï≈̨ l Ü˛Ó˚ / ˆÓl!çl →  ly•ẑ Ïê ∆̨y Ï̂Ól!çl– 
(iii) l# Ï̂ã˛Ó˚ !Ó!Ü ̨ Î˚y!ê˛ §¡õ)î≈ Ü˛Ó˚– 

CH 2 

2%  °â%¢#ï˛° gggggggggggggggd →C 
CH 2 

KMno 4 oÓî X 

Group-D  : ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 5 : 5x3=15 

35) (a) Kp G Kc ~Ó˚ Ù Ï̂ôƒ ~Ü˛!ê˛ §¡õÜ≈̨  ˛≤Ã!ï˛¤˛y Ü˛Ó˚– 
(b) 3O

2
(g) s  2O

3
 (g) – 34Kcal ~•z !Ó!Ü ̨ Î˚y!ê˛Ó˚ í z̨̨ õÓ˚ ã˛y˛õ G ï˛y˛õ Ó,!ÂôÓ˚ ≤ÃË˛yÓ !Ü˛• Ï̂Ó⁄ 

(c) Ca
3
 (PO4)

2 
°Ó Ï̂îÓ˚ oyÓƒï˛y G oyÓƒï˛y à%îÊ˛ Ï̂°Ó˚ §¡õÜ≈̨ !ê˛ !°á– 

xÌÓy 
(a) ÓyÊ˛yÓ˚ «˛Ùï˛y !Ü˛ ⁄ 
(b) 1 !°ê˛yÓ˚ oÓ Ï̂î Ü˛ï˛ @˝ÃyÙ NaOH oÓ#Ë)̨ ï˛ Ü˛Ó˚̂ Ï° ˙ oÓ Ï̂îÓ˚ pH=12 • Ï̂Ó⁄ 
(c) 2CO(g) + O

2
(g) = 2CO

2
(g) + ï˛y˛õñ §¡ø%á !Ó!Ü ̨ Î˚y!ê˛ Ï̂Ü˛ §¡õ)Ù≈ï˛yÓ˚ !ò Ï̂Ü˛ !l Ï̂Î˚ ÎyGÎ˚yÓ˚ çlƒ ï%̨ !Ù !Ü˛ !Ü˛ ÓƒÓfiÌy 

ˆlˆÏÓ⁄ 1+2+2 

36) (a) SiCl
4
 ÈüÈ~Ó˚ xyo≈ !Ó Ï̂Ÿ’£Ïî •Î˚ !Ü˛v CCl

4
 ~Ó˚ •Î˚ ly ˆÜ˛l⁄ 

–(b) CO
3

2– ~ÓÇ HCO
3 

xyÎ˚̂ ÏlÓ˚ §Çflõ®l àë˛l !°á– 
(c) x Ï̃çÓ ˆÓl!çl !Ü˛ ⁄ 2+2+1 

xÌÓy 
(a) BF

3
 ~Ó˚ xy!¡‘Ü˛ï˛y BCl

3
 x Į̈̂ õ«˛y Ü˛Ù ˆÜ˛l⁄ 

(b) Ga ~Ó˚ ˛õyÓ˚Ùyî!ÓÜ˛ Óƒy§yô≈ Al ˆÌ Ï̂Ü˛ Ü˛Ù ˆÜ˛l⁄ 
(c) l# Ï̂ã˛Ó˚ ≤Ã!Ü ̨ Î˚y!ê˛ §¡õ)î≈ Ü˛Ó˚ /ÈüÈAl + NaOH+H

2
O → 2+2+1 

+ + +
37)(a) (CH )  ~Ó˚ fiÌy!Î˚c CH H ~ÓÇ C H x Į̈̂ õ«˛y x!ôÜ˛ ˆÜ˛l⁄

3 3 C 3 C 2 3

(b) CH
3
–CH=CH–CHO ~Ó˚ çƒy!Ù!ï˛Ü˛ §ÙÓyÎ˚Óà%!° IUPAC lyÙ§• !°á– 

(c) Ü˛ƒy!ê˛ Ï̂l¢yl Ó° Ï̂ï˛ !Ü˛ Ó%V˛⁄ 2+2+1 

xÌÓy 
(a) xy Ï̂Ó¢ ≤ÃË˛yÓ !Ü˛ ⁄ 
(b) O NCH CH O–  ~ÓÇ CH CH O– xyÎ˚l ò%!ê˛Ó˚ ˆÜ˛yl!ê˛ ˆÓ!¢ §%!fiÌï˛ ~ÓÇ ˆÜ˛l⁄

2 2 2 2 2 

(c) C
5
H

12
 xyî!ÓÜ˛ §Ç Ï̂Ü˛ï˛ !Ó!¢T˛ xƒy° Ï̂Ü˛là%!° !Ü˛ !Ü˛ ⁄ ~ Ï̂òÓ˚ ˆÜ˛yl!ê˛ Ï̂ï˛ ¢%ô%Ùye 10 ~ÓÇ 40 Ü˛yÓ≈l ˛õÓ˚Ùyî% Óï≈̨ Ùyl– 

~ Ï̂òÓ˚ àë˛l xÑyÜ˛– 1+2+2

 D x!ï˛!Ó˚=˛ ≤ÃŸ¿yÓ°#– 



           

       

 

Model Question : Class XI : Chemistry : 70 Marks : 2020-2021 

Group-A : Each questions carries 1 marks : 1x20=20 

I) Choose the correct answer : 1x5 

1) For the reactions 2cl(g) →  cl
2
(g), the signs for ΔH  and Δ s  will be – 

( )b ΔH = − ve ( ) ΔH = + ve (d ) ΔHc = − ve 
( ) a ΔH = + ve , Δs = − ve 

Δs = − ve Δs = + ve Δs = + ve 

2) C(s) + O
2
(g) →  CO

2
(g), for the reaction, ΔcH 0 

= − 393kg / mol , the formation enthalpy ΔfH 0 
= 

will be 

393 393 
( ) − Kj / mol b − Kj / mol ( ) − Kj / ) + Kj / mol a ( ) c 393 mol (d 393 

9 2 

3) H
2
(g) + I

2
 = 2HI (g), or this reaction 

a) kp > Kc b) Kp < Kc (c) Kp = Kc (d) Kp ≥  Kc 

4) Which one does not exist – 

a) Ca2+ (b) Na2+  (c) Be2+  (d) K+ 

5) Which one is nucleophile 

Cl 
a) H+(b) : C c) NH

2
OH (d) FeCl

3Cl 

II) Answer the following in one word/sentence  :  1x15 

6) Write down the electronic configuration of Ni atom.
 

7) Na+, Cl–, Mg2+, F– Arrange them in increaing order of ionic vadins.
 

8) What do you mean by election affinity ? Write its unit ?
 

9) How many sigma (δ ) and pi (π ) bond are there in O
3
 molecule ?
 

. . 

10) What is the hybridisation of N in N F3  molecule ? 

11) Write the unit for vanderwaal’s constant ‘a’. 

12) Define entropy ? 

. . . . 

13) What is the conjutage acid of N H 2 – N H2  ? 

14) What is the oxidation no of Mn in KMnO
4
 

15) Which gas is trohed when NaH veacis with water ?
 

16) Why does Ko
2
 attracted by magnetic field ?
 

17) PbI
2
 is more stable than PbI4 why ?
 

18) Write the IUPAC name of the following compound :
 

=
O


 

CH – C = CH – C – CH COOH 
3 2 

CH 
3 

19) find the product in the following reaction 

. ˛õyÓ˚ x:y•zí˛
C H 3 − CH = 

. . 

CH 2 + HBR → 

20) What is BHC ? 



Group-B : Each Question Carries  2 marks : 2x7=14
 
21) (i) Define Molarity ? 1+1 

ii) How much volume is occupied by a single dioxygen molecule at NTP 

22) i) State Af-bau-Principle. 1+1 

(ii) Between Fe2+ and Fe3+ ions which one is more stable and why ? 

23) (i) Be has higher ionisation potential than B. Why? 

(ii) Atomic number of an element is 24, find out its position in periodic table and what type of 

elements is this ?  1+1 

24) (i) Give an example of disproportanation reaction. 1+1 

(ii) In acidic nedium, balance the following chemical equation by ion-electron method. 

H
2
O

2
(aq) +Fe2+(aq) →  Fe3+(aq) + H

2
O (l) 

25) (i) Show the anphoteric nature of water by chemical reaction. 1+1 

(ii) pH
5
 does not exist, Why ? 

26) (i) What happens when NaNO
3
 is heated write the equation. 

(ii) Draw the structure of BeCl
2
 solid state and gaseous state . 1+1 

27) (i) Given an example of Wurtz - reaction. 

ii) Identify A, B, and C. 

O Zn/H O 3 2CH –C=CH 
CCl → A ⎯⎯⎯→ 3 2 

⎯⎯⎯ B+C 
4 Δ

CH 
3 

* OR 

Write notes on :-

(i) Friedel-Crafts alkylation. 

(ii) Kolbe reaction. 

Group-C : Each Question carries 3 marks :  3x7=21 

28) (a) Calculate the number of molecules and atoms present in 9.6g sulphar (S). 

(b) Does vapour density of a gas depends on temperature and pressure- explain. 2+1 

29) (a) Why 2d and 3f Orbitals  are not possible ? 

(b) What are the shapes of 2S and 3Px afital ? 

(c) If an electron in H atom absorbs 12.1ev energy then in which orbit it will jump ?  1x3 

30) (a) Write down the MO clectronic configuration of N
2
 molecule and find its bond order, magnetic 

property. 

(b) At room temperature H
2
S is a gas but H

2
O is a liquid-why ? 

OR 

(a) CO
2
 is non polar - why ? 

(b) What are the geometry of BF
3
 and SiCl

4
 mudecules ? 

(c) Pure NaCl is non-conductor of electricity why ? 

31) (a) What is the value of R in SI unit ? 

(b) State Dalton’s law of partial pressuse. 

(c) Find that temperature at which 28 g of N
2
 at 2.46 atm presure occupies 10L volume. 

32) (a) State Hess’s law of heat summation. 



 

 

(b) From the given bond-energy data, calculate the enthalpy of the following reaction :
 

C H (g) + H (g) →  C H (g)

2 2 2 2 4

Given : 

C–H →   414.0 KJ mol–1 C ≡ C → 827.6KJmol–1 

C=C →  606.0 KJmol–1 H–H →  430.5 KJmol–1 

33) (i) What is matemerism ? Explain with example. 

(ii) Cl
3
C – COOH, CH

3
COOH, ClCH

2
COOH, Cl

2
CHCOOH– arrange them in inceasing order of 

acidity. 

34) (i) Describe a reaction in support of acidic character of HC ≡  CH 

(ii) Convert :- Benzene to Nitrobenzene. 

(iii) Complete the following reaction : 

CH 2 

2% Cold dilute gggggggggggggggd C → X 
CH KMno 42 

solution 

Group -D  : Each Question Carries 5 Marks : 5 x 3 = 15 

25) (a) Derive a relation between Kp and Ke. 

(b) 30
2
(g) s 20

3
(g) – 34KCal, What is the affect of pressure and temperature on this above veaction. 

(c) What is the relation between soulbility and solubility product for Ca
3
 (PO

4
)

2
 salt.  2+2+1 

OR 

a) What is buffer capacity. 

(b) How much NaOH in gm should be dissolved in 1 liter solution to make its pH=12 

(c) 2CO(g) + O
2
(g) = 2CO

2
(g) + heat 

to complete the forward reaction reaction which measures you will take ? 

36) (a) SiCl
4
 undergoes hydrolysis but CCl

4
 does not - why ? 

–(b) Write down the resonating structures of CO
3
2– and HCO

3 
ions. 

(c) What is Inorganic benzene ?	 2+2+1 

OR 

a) BF
3
 is less acidic than BCl

3
– why ? 

(b) Atomic radio of Ga is smaller than Al – Why ? 

(c) Complete the reaction :- Al + NaOH + H
2
O →	 2+2+1 

37) (a) (CH )
+

 is more stable than CH 
+ 

H and C 
+ 

H why ?
3 3 C	 2 C 2 3

(b) 	Write down the geometrical isomers of
 

CH –CH=CH–CHO and their IUPAC anme.
 
3 

(c) What is catenation ?	 2+2+1 

OR 

a) What do you mean by Induction Effect ? 

(b) O N–CH –CH –O–  and CH CH –O– ions, which one is more stable and why ?
2 2 2 3 2 

(c) How many alkanes are possible with C
5
H

12
? Among them which contains only 10 and 40c atom. 

Draw structures.  1+2+2 

* Additional Questions.
 



                  

lÙ%ly ≤ÃŸ¿˛õe / ~Ü˛yò¢ ˆ◊!î / xÌ≈l#!ï˛ / 80 l¡∫Ó̊ / 2020-2021
 
≤ÃÌÙ Ë˛yà / xÌ≈¢y Ï̂flf Ó˚y!¢!ÓK˛yl-40
 

!ÓË˛yàÈüÈÜ˛ / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 1 / 1x10=10
 

1ä ~Ü˛Óã˛ Ï̂l Ó˚y!¢!ÓK˛y Ï̂lÓ˚ §ÇK˛y òyG–
 
2ä !l Ï̂¡¨ ≤Ãò_ !ÓÓ,!ï˛!ê˛ §ï˛ƒ ly !ÙÌƒy !°á– Ó˚y!¢!ÓK˛yl •° ~Ùl ~Ü˛!ê˛ !ÓK˛yl Îy à%îàï˛ ~ÓÇ ˛õ!Ó˚Ùyîàï˛ Ó˚y!¢ï˛ Ï̂ÌƒÓ˚ 

xy Ï̂°yã˛ly Ü˛ Ï̂Ó˚– 
3ä Ù)° í z̨Í§ ˆÌ Ï̂Ü˛ ≤ÃÌÙÓy Ï̂Ó˚Ó˚ Ù Ï̂ï˛y §Çà,•#ï˛ Ó˚y!¢ ï˛Ìƒ Ï̂Ü˛ Ó Ï̂° ÈüüüÈ 

Ü˛ä ≤ÃyÌ!ÙÜ˛ Ó˚y!¢ï˛Ìƒ åáä xÈüÈ≤ÃyÌ!ÙÜ˛ Ó˚y!¢ï˛Ìƒ åàä xË˛ƒhs˝Ó˚#î Ó˚y!¢ï˛Ìƒ åâä ˆÜ˛ylê˛y•z lÎ˚– 
4ä ã˛° Ï̂Ü˛Ó˚ §ÇK˛y òyG– 

D xÌÓy 
˛õ!Ó˚§Çáƒy Ó° Ï̂ï˛ !Ü˛ Ó%V˛⁄ 

5ä !l Ï̂¡¨ ≤Ãò_ !ÓÓ,!ï˛!ê˛ §ï˛ƒ ly !ÙÌƒy !° Ï̂áy / 
~Ü˛!ê˛ xhs˝Ë%≈̨ =˛ §y!Ó˚̂ Ïï˛ ~Ü˛!ê˛ ˆ◊!î !ÓË˛yç Ï̂lÓ˚ í z̨ôÁ≈§#Ùy •° !l Ï̂¡¨y=˛ ˆ◊!îÓ˚ !l¡¨§#Ùy– 

6ä xyÎ˚ï˛ Ï̂°á ~Ó˚ Ùyôƒ Ï̂Ù ˆÎ ˛Ó˚y!¢ï˛Ìƒ í z̨̨ õfiÌy˛õl Ü˛Ó˚y •Î˚ ï˛y ˆ°á!ã˛e xyÜ˛y Ï̂Ó˚ !lî≈Î˚Ü˛Ó˚̂ Ïï˛ §y•yÎƒ Ü˛ Ï̂Ó˚ ÈüüüÈ 
Ü˛ä àí ¸̨ åáä §Çáƒyà%Ó%̊Ùyl åàä ÙôƒÙÙyl åâä í z̨̨ õ Ï̂Ó˚Ó˚ ˆÜ˛yl!ê˛•z lÎ˚– 

7ä ˆÎÔ!àÜ˛ àí ¸̨ (A.M) ˆÌ Ï̂Ü˛ n §ÇáƒÜ˛ Ùy Ï̂lÓ˚ ~Ü˛!ê˛ ˆ§ Ï̂ê˛Ó˚ !Óã%̨ ƒ!ï˛Ó˚ Ó#çày!î!ï˛Ü˛ ˆÎyàÊ˛° •° ÈüüüÈÈüüüÈÈüüüÈ– 
¢)lƒfiÌyl˛õ)Ó˚î Ü˛Ó˚– 

8ä ã˛Ó˚Ù Ùyl ‡ ˛õ Ï̂òÓ˚ í z̨̨ õ!fiÌ!ï˛ ˆÜ˛yl‰ àí ¸̨̂ ÏÜ˛ Ë˛#£Ïî Ë˛y Ï̂Ó ≤ÃË˛y!Óï˛ Ü˛ Ï̂Ó˚ ÈüüüÈ 
Ü˛ä ÙôƒÙ Ùyl åáä §Çáƒyà%Ó%̊ Ùyl åàä ˆÎÔ!àÜ˛ àí ¸̨ åâä à%̂ Ïîy_Ó˚ àí ¸̨ å.ä !ÓÓï≈̨ Ï̂ÎÔ!àÜ˛ àí ¸̨– 

9ä §ÙÜ˛ ˛õyÌ≈̂ ÏÜ˛ƒÓ˚ ‡xyò¢≈ !Óã%̨ ƒ!ï˛Ó˚ §)e!ê˛ •° ÈüÈ 

− x x 
Ü˛ä

( )x x 
σ

− 
= 

2 

( )x x −
− (x 

åáä σ = åàä σ = åâäσ = 
N N NN 

10ä !l Ï̂¡¨ ≤Ãò_ !ÓÓ,!ï˛!ê˛ §ï˛ƒ ly !ÙÌƒy !° Ï̂áy ÈüüüÈ 
ˆË˛òyAÜ˛ •° !Óhfl,Ï!ï˛Ó˚ ~Ü˛!ê˛ ˛õÓ˚Ù ˛õ!Ó˚Ùy˛õÜ˛– 

!ÓË˛yàÈüÈá / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 3 / 3x2 = 6 

11ä Ó˚y!¢ï˛ Ï̂ÌƒÓ˚ ˆ◊!î !ÓË˛yç Ï̂l ÓƒÓ•,ï˛ Ó!•≈Ë)̨ ï˛ ~ÓÇ xhs˝Ë%≈̨ =˛ ˛õÂô!ï˛Ó˚ Óƒyáƒy òyG– 
12ä Ü ̨ Ù Ï̂ÎÔ!àÜ˛ ˛õ!Ó˚§Çáƒy ˆÓ˚áy Óy GçyË˛ ~Ó˚ Óî≈ly òyG– 

D xÌÓy 
˛õy•z !ã˛e Ó° Ï̂ï˛ !Ü˛ ˆÓyV˛⁄ •z•yÓ˚ xAÜ˛l ˛õÂô!ï˛ Óî≈ly Ü˛Ó˚– 

!ÓË˛yàÈüÈà / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 4 / 4x3=12 

13ä l# Ï̂ã˛Ó˚ ˆÜ˛yl‰ ˛õÂô!ï˛!ê˛ Ó˚y!¢!ÓK˛yl xôƒÎ˚̂ Ïl Ë˛y Ï̂°y Ê˛° ˆò Ï̂Ó ~ÓÇ ˆÜ˛l⁄ åÜ˛ä xyòÙ¢%Ùy!Ó˚ åáä lÙ%ly 
D xÌÓy 

!l¡¨!°!áï˛ §Ó˚° ˛õ!Ó˚§Çáƒy §y!Ó˚̂ ÏÜ˛ Ü ̨ Ù Ï̂ÎÔ!àÜ˛ ˛õ!Ó˚§Çáƒy §y!Ó˚̂ Ïï˛ Ó)̨̊ õyhs˝!Ó˚ï˛ Ü˛Ó˚ ı 

ˆ◊!î!ÓË˛yçl 0-10 10-20 20-30 30-40 40-50 50-60 

§Ó˚° ˛õ!Ó˚§Çáƒy 7 15 20 24 16 8 

14ä !l¡¨!°!áï˛ 150!ê˛ ˛õ!Ó˚Óy Ï̂Ó˚Ó˚ ˜ò!lÜ˛ xyÎ˚ §¡õ!Ü≈̨ ï˛ ï˛Ìƒ ˆÌ Ï̂Ü˛ ˆÎÔ!àÜ˛ àí ¸̨ !lÙ≈Î˚ Ü˛Ó˚– 

˛ 
xyÎ˚ åê˛yÜ˛yä  75ÈüÈÓ˚ ˆÓ!¢ 85ÈüÈÓ˚ ˆÓ!¢ 95Ó˚ ˆÓ!¢ 105 Ó˚ ˆÓ!¢ 115 Ó˚ ˆÓ!¢ 
õ!Ó˚Óy Ï̂Ó˚Ó˚ §Çáƒy 150 140 115 95 70 



        

 125 Ó˚ ˆÓ!¢ 135-Ó˚ ˆÓ!¢ 145ÈüÈÓ˚ ˆÓ!¢ 
60 40 25 

15ä ˆÎÔ!àÜ˛ àí ¸̨ñ ÙôƒÙ Ùyl ~ÓÇ §ÇK˛yà%Ó%̊ Ùyl ~Ó˚ Ù Ï̂ôƒ §¡õÜ≈̨  Óî≈ly Ü˛Ó˚– 

!ÓË˛yàÈüÈâ / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 6 / 6x2=12 

16ä ˛õ!Ó˚§Çáƒy Ó•%Ë)̨ ç !Ü˛Ë˛y Ï̂Ó ˛õ!Ó˚§Çáƒy ˆÓ˚áy ˆÌ Ï̂Ü˛ !Ë˛ß¨⁄ ~Ü˛!ê˛ Ü˛y“!lÜ˛ Ó˚y!¢ï˛ Ï̂ÌƒÓ˚ ˆ§ê˛ !l Ï̂Î˚ ò%!ê˛ ˆÓ˚áy !ã˛e xAÜ˛l 
Ü˛Ó˚– 

xÌÓy 
xyÎ˚ï˛ Ï̂°á ~ÓÇ ò[˛ !ã˛ Ï̂eÓ˚ Ù Ï̂ôƒ ˛õyÌ≈Ü˛ƒ !°á– 

17ä 100 çl ˛õ!Ó˚«˛yÌ#≈Ó˚ ˛õÓ˚#«˛yÎ˚ ≤ÃyÆ l¡∫Ó˚ ˆÌ Ï̂Ü˛ §ÙÜ˛ ˛õyÌ≈Ü˛ƒ Óy xyò¢≈ !Óã%̨ ƒ!ï˛ (S.D) !lî≈Î˚ Ü˛Ó˚ / 

≤ÃyÆ l¡∫Ó˚ 10-20 20-30  30-40 40-50 50-60 60-70 70-80  80-90 

˛õÓ˚#«˛yÌ#≈Ó˚ §Çáƒy 19  3  2  49  24 2  0  1 

!mï˛#Î˚ Ë˛yà / Óƒy!T˛àï˛ xÌ≈l#!ï˛ÈüÈ40 

!ÓË˛yàÈüÈ. / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 1 /1x10=10 

18ä •z!ï˛Óyã˛Ü˛ xÌ≈l#!ï˛Ó˚ ~Ü˛!ê˛ í z̨òy•Ó˚î !ÓÓ,ï˛ Ü˛Ó˚– 
19ä !l Ï̂¡¨ ≤Ãò_ !ÓÓ,!ï˛!ê˛ §ï˛ƒ ly !ÙÌƒy ˆ° Ï̂áy / 

ÈüüüÈ ~Ü˛!ê˛ o Ï̂ÓƒÓ˚ òyÙ !lô≈yÓ˚î •° §Ù!T˛àï˛ xÌ≈l#!ï˛Ó˚ !Ó£ÏÎ˚– 
20ä Î!ò x o Ï̂ÓƒÓ˚ òyÙ Ó,!ÂôÓ˚ Ê˛ Ï̂° y o Ï̂ÓƒÓ˚ ã˛y!•òy Ü˛ Ï̂Ùñ ï˛y• Ï̂° ï˛y•yÓ˚y ˛õÓ˚flõÓ˚ !Ü˛ ôÓ˚̂ ÏîÓ˚ oÓƒ⁄ 
21ä !l Ï̂¡¨ ≤Ãò_ ˆÜ˛yl‰ ¢ï≈̨ !ê˛ Ï̂Ü˛ ‘Point of Satiety Óy Saturation’ Ó°y •Î˚ ⁄ 

Ü˛ä ≤Ãy!hs˝Ü˛ í z̨̨ õ Ï̂Îyà ôlydÜ˛ åáä ≤Ãy!hs˝Ü˛ í z̨̨ õ Ï̂Îyà ¢)lƒ åàä ̂ Ùyê˛ í z̨̨ õ Ï̂Îyà Ó,!Âô ̨õyGÎ˚y åâä ̂ Ùyê˛ í z̨̨ õ Ï̂Îyà •…y§ ̨õyGÎ˚y– 
22ä §¡õ)î≈ !fiÌ!ï˛fiÌy˛õÜ˛ ã˛y!•òy Ó° Ï̂ï˛ Ü˛# ˆÓyV˛⁄ 
23ä ≤Ãy!hs˝Ü˛ í z̨Í˛õyò Ï̂lÓ˚ §ÇK˛y òyG– 

D xÌÓy 
≤Ãy!hs˝Ü˛ í z̨Í˛õyòÜ˛ !Ü˛ ¢)lƒ Óy }îydÜ˛ •Î˚⁄ 

24ä ˆÜ˛yl‰ ˛õ!Ó˚!fiÌ!ï˛ Ï̂ï˛ ˛õ!Ó˚Óï≈̨ l¢#° ÓƒÎ˚ (VC) ¢)lƒ •Î˚⁄ 
25ä xyÎ˚ï˛ Ï̂lÓ˚ ˛≤Ã!ï˛òyl‡ÙyeyÓ,!ÂôÓ˚ ≤Ã!ï˛òyl Ü˛#⁄ 
26ä Îál 5 ~Ü˛Ü˛ oÓƒ !Ó!Ü ̨  •Î˚ ï˛ál ˆÙyê˛ xyÎ˚ï˛l •° 100 ê˛yÜ˛yñ xyÓyÓ˚ Îál 6~Ü˛Ü˛ oÓƒ !Ó!Ü ̨  •Î˚ ï˛ál ≤Ãy!hs˝Ü˛ xyÎ˚ 

•° 8 ê˛yÜ˛y– ï˛y• Ï̂° Ü˛ï˛òy Ï̂Ù 6 ~Ü˛Ü˛ oÓƒ !Ó!Ü ̨  • Ï̂Î˚!SÈ° ⁄ 
Ü˛ä 28 ê˛yÜ˛y ≤Ã!ï˛ ~Ü˛Ü˛ åáä 20 ê˛yÜ˛y ≤Ã!ï˛ ~Ü˛Ü˛ åàä 18 ê˛yÜ˛y ≤Ã!ï˛ ~Ü˛Ü˛ åâä 12 ê˛yÜ˛y ≤Ã!ï˛ ~Ü˛Ü˛– 
27ä ˛õ)î≈ ≤Ã!ï˛ Ï̂Îy!àï˛yÙ)°Ü˛ Ê˛y Ï̂Ù≈Ó˚̨  ã˛y!•òy ˆÓ˚áy!ê˛ •Î˚ ÈüüüÈ åÜ˛ä §¡õ)î≈ x!fiÌ!ï˛fiÌy˛õÜ˛ åáä x!fiÌ!ï˛fiÌy˛õÜ˛ åàä 

!fiÌ!ï˛fiÌy˛õÜ˛ åâä §¡õ)î≈ !fiÌ!ï˛fiÌy˛õÜ˛– 

!ÓË˛yàÈüÈã˛ / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 3 / 3x2=6 

28ä ≤Ãy!hs˝Ü˛ í z̨̨ õ Ï̂Îy!àï˛yÓ˚ §ÇK˛y òyG– ˆÓ˚áy!ã˛e §•Ü˛y Ï̂Ó˚ ˆÙyê˛ í z̨̨ õ Ï̂Îy!àï˛y ~ÓÇ ≤Ãy!hs˝Ü˛ í z̨̨ õ Ï̂Îy!àï˛yÓ˚ Ù Ï̂ôƒ §¡õÜ≈̨  Óƒyáƒy 
Ü˛Ó˚– 1+2 

D xÌÓy 
ã˛y!•òyÓ˚ §ÇK˛y òyG– ã˛y!•òy ˆÓ˚áyÓ˚ í˛yl!ò Ï̂Ü˛ fiÌylyhs˝ Ï̂Ó˚Ó˚ !ï˛l!ê˛ Ü˛yÓ˚î !ÓÓ,!ï˛ Ü˛Ó˚– 



29) !l Ï̂¡¨Ó˚ ≤Ã Ï̂ï˛ƒÜ˛ í z̨Í˛õyò Ï̂l ≤Ãy!hs˝Ü˛ ÓƒÎ˚ (MC) !•§yÓ Ü˛Ó˚ /
 
í z̨Í˛õyòl å~Ü˛Ü˛ä àí ¸̨ ˛õ!Ó˚Óï≈̨ l¢#° ÓƒÎ˚ (AVC) ê˛yÜ˛y 
1 13 

2 11 

3 10 

4 10 

5 11 

6 12 

!ÓË˛yàÈüÈSÈ / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 4 / 4x3 = 12 

30ä Ú!Ü˛ í z̨Í˛õyòl Ü˛Ó˚y • Ï̂ÓÛ §Ù§ƒy!ê˛ ~Ü˛!ê˛ í z̨òy•Ó˚î ~Ó˚ §y•y Ï̂Îƒ Óƒyáƒy Ü˛Ó˚–
 
31ä ˆÓ˚áy!ã˛e ÓƒÓ•yÓ˚ Ü˛ Ï̂Ó˚ ˆÙyê˛ í z̨Í˛õyòl ˛õ!Ó˚Óï≈̨ Ï̂lÓ˚ !Ó!Ë˛ß¨ ˛õÎ≈yÎ˚ Ú˛õ!Ó˚Óï ≈̨l#Î˚ xl%̨ õy Ï̂ï˛Ó˚ !Ó!ôÛÓ˚ §y•y Ï̂Îƒ !ÓÓ,ï˛ Ü˛Ó˚–
 

D xÌÓy 
ÓƒÎ˚ ~Ó˚ §ÇK˛y òyG– ˆÓ˚áy!ã˛e §•Ü˛y Ï̂Ó˚ ≤Ãy!hs˝Ü˛ ÓƒÎ˚ ~ÓÇ àí ¸̨ ˛õ!Ó˚Óï≈̨ l¢#° Óƒ Ï̂Î˚Ó˚ Ù Ï̂ôƒ §¡õÜ≈̨  !lî≈Î˚ Ü˛Ó˚– 
32ä ˆÎyàyl !fiÌ!ï˛fiÌy˛õÜ˛ï˛y Ü˛#⁄ ~Ü˛!ê˛ o Ï̂ÓƒÓ˚ ˆÎyày Ï̂lÓ˚ òyÙàï˛ !fiÌ!ï˛fiÌy˛õÜ˛ï˛yÓ˚ Ùyl 2 – ≤Ã!ï˛ ~Ü˛Ü˛ 8 ê˛yÜ˛y Ü˛ Ï̂Ó˚ ~Ü˛!ê˛ 

Ê˛yÙ≈ 200 ~Ü˛Ü˛ o Ï̂ÓƒÓ˚ ˆÎyàyl ˆòÎ˚– ï˛y• Ï̂° Ê˛yÙ≈!ê˛ Ü˛ï˛ òy Ï̂Ù 250 ~Ü˛Ü˛ oÓƒ ˆÎyàyl ˆò Ï̂Ó⁄  2+ 2 

!ÓË˛yà ÈüÈ ç / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl ÈüÈ6 / 6x2=12 

33ä ˆË˛y=˛yÓ˚ Ë˛yÓ˚§y Ï̂ÙƒÓ˚ §ÇK˛y òyG– ~Ü˛çl ˆË˛y=˛y ò%!ê˛ oÓƒ ˆË˛yà Ü˛ Ï̂Ó˚– í z̨̨ õ Ï̂Îyà ï˛ Ï̂_¥Ó˚ §y•y Ï̂Îƒ ˆË˛y=˛yÓ˚ Ë˛yÓ˚§yÙƒ Óƒyáƒy 
Ü˛Ó˚– 2+4 

xÌÓy 
ˆÓ˚áy!ã˛e§•Ü˛y Ï̂Ó˚ ã˛y!•òyÓ˚ ˛õ!Ó˚Óï≈̨ l ~ÓÇ ã˛y!•òyÓ˚ ˛õ!Ó˚Ùy Ï̂îÓ˚ ˛õ!Ó˚Óï≈̨ Ï̂lÓ˚ Ù Ï̂ôƒ ˛õyÌ≈Ü˛ƒ !° Ï̂áy– 

34ä xfl∫yË˛y!ÓÜ˛ Ù%lyÊ˛y Ü˛#⁄ ˆÓ˚áy!ã˛ Ï̂eÓ˚ §y•y Ï̂Îƒ ˛õ)î≈ ≤Ã!ï˛ Ï̂Îy!àï˛yÙ)°Ü˛ Óyçy Ï̂Ó˚ fl∫“Ü˛y°#l Ë˛yÓ˚§y Ï̂Ùƒ xfl∫yË˛y!ÓÜ˛ Ù%lyÊ˛yÓ˚ 
xÓfiÌy Óƒyáƒy Ü˛Ó˚– 2+4 

D x!ï˛!Ó˚=˛ ≤ÃŸ¿yÓ°# 



                  

Model Question

 Class XI : Economics : 80 Marks : 2020-2021
 

Section-A Statistics for Economics
 

Group-A : Each Question carries 1 mark : 1x10=10
 

1. Define statistics as a singular sense. 

2. State whether the following statement is true or false. 

Statistics is the science of analyzing both qualitative and quantitative data. 

3. Data collected for the first time from the source of origin is called : (choose the correct alternative) 

a) Primary data (b) Secondary data (c) Internal data (d) None of them. 

4. Define a Variable 

*OR 

What is meant by frequency ? 

5. State whether the following statement is True or False  	: 

In an inclusive series, the supper limit of one class interval is the lower limit of the next class. 

6. Data represented through a Histogram can help in finding graphically the 

a) Mean (b) Mode (c) Median (d) None of the above. 

7. The algebraic sum of deviation of a set of n values from A.M is ____ 

8. Which average is affected mostly by the presence of extreme items ? 

a) Median b) Mode (c) Arithmetic Mean (d) Geogetric Mean (e) Harmonic Mean. 

9. Formula of standard deviation is : 

2 

(x − x) (x − x − 
)	 (x − x x 

d) σ =a)σ = b) c) σ =σ =
N	 N NN 

10) State whether the following statements is True or False. 

Co-efficient of variation is an absolute measure of dispersion. 

Group-B : Each Question Carries 3 Marks : 3x2=6 

11) Explain the ‘exclusive and inclusive’ methods used in classification of data. 

12) Describe cumulative frequency curve/ogive. 

*OR 

What is pie diagram ? Explain the method of its construction. 

Group-C : Each  Question Carries 4 Marks : 4x3=12 

13. Which of the following is the preferred method of statistical studies and why ? 

(a) Census (b) Sample. 

*OR 

Convert the following simple frequency series into cumulative frequency series 

Class interval 0-10 10-20 20-30 30-40 40-50 50-60 

Simple Frequency 7 15 20 24 16 8 



      

14. Calculate Arithmetic Mean (A.M.) from the following information pertains to the daily income of 

150 families. 

Income More than More than  More More  More than  More than More More 

( Rs.) 75 85  than than 115 125 than than 

95 105  135 145 

Number of 

families 150 140 115 95 70 60 40 25 

15. Describe the relationship among mean, median and mode. 

Group-D : Each Question Carries 6 Marks : 6x2=12 

16. How is a frequency polygon different from a frequency curve ? Draw the two diagrams taking an 

imaginary set of data. 

OR 

Differentiate between Histogram and Bar diagram. 

17. Calculate standard deviationn (S.D) of marks secured by 100 examinees : 

Marks 10-20 20-30 30-40 40-50 50-60  60-70 70-80  80-90 

Number of 

Examiness 19 3 2 49 24 2 0 1 

Section -B : Micro Economics
 

Group-E  : Each Question Carries 1 Mark : 1x10=10
 

18. State one example of positive economics. 

19. State, whether the following statements is True or False. 

Price determination of a commodity is a subject matter of Macro economics. 

20. Due to rise in price of the commodity x, the demand of the commodity y falls. What type of 

commodity they are ? 

21. Which of the following can be referred to as point of Satiety or Saturation ? 

a) MU is negative (b) MU is zero (c) TU is rising (d) TU is falling. 

22. What is meant by prefectly Elastic Demand ? 

23. Define Marginal Product. 

* OR 

Can Marginal product be zero or negative? 

24. Under what circumstances, variable cost is zero ? 

26. When 5 units of a good are sold, total revenue is Rs. 100. When 6 units are sold, marginal revenue 

is Rs. 8. At what price are 6 units sold ? 

a) Rs. 28 per unit (b) Rs. 20 per unit  (c) Rs. 18 per unit (d) Rs. 12 per unit. 

27. Demand curve of a perfectly competitive firm is : 

a) Perfectly inelasitc (b) Inelastic (c) Elastic (d) Perfectly elastic. 



Group - F : Each Question Carries Marks : 3x2=6 

28. Define Marginal Utility (MU). Explain the relationship between total utility (TU) and Marginal 

Utility (MU). Use diagram. 1+2 

*OR 

Define demand State any three causes of a rightward shift of demand curve. 1+2 

29. Calculate marginal cost at each level of output. 

Output (units) 

1 

2 

3 

4 

5 

6 

Average variable cost (Rs.) 

13 

11 

10 

10 

11 

12 

Group- G : Each Question Carries 4 Marks : 4x3=12 

30. Explain the problem of ‘What to produce’ with the help of an example. 

31. State the different phase of change in total product according to the Law of variable proportion. 

Use diagram. 

*OR 

Define cost. State relation between marginal cost and average variable cost. Use diagram. 1+3 

32. What is elasticity of supply ? Price elasticity of supply of a commodity is 2.A firm supplies 200 units 

of it at a price of Rs. 8 per unit. At what price will it supply 250 units ? 2+2 

Group-H : Each Question Carries 6 Marks : 6x2=12 

33. Define consumer’s equilibrium. A consumer consumes only two goods. Explain consumer’s 

equilibrium with the help of utility analysis. 2+4 

OR 

Explain the difference between ‘change in demand’ and change in quantity demanded. Use diagram. 

34. What is abnormal profit ? Explain the determination of abnormal profit under short run equilibrium 

in perfectly competitive market. Use diagram. 2+4 

* Additional Questions 



Model Question
 

Class - XI  Sub - Education Full Marks- 80 

!ÓË˛yàÈüÈÜ˛ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ ÙylÈüÈ1 1 x 20 = 20 

A) §!ë˛Ü˛ í z̨_Ó˚ !lÓ≈yã˛l Ü˛Ó˚ / 1x5 

1ä x!lÎ˚!sfï˛ !¢«˛yÓ˚ ÙyôƒÙ!ê˛ •° û
 
Ü˛ä ˆÓï˛yÓ˚ åáä ˛õ!Ó˚ÓyÓ˚ åàä !Óòƒy°Î˚ åâä Ù%=˛ !Óòƒy°Î˚–
 

2ä  Úxy Ï̂dy˛õ°!kôÓ˚ í z̨̨ õyÎ˚ •° !¢«˛yÛ û Ó Ï̂° Ï̂SÈl
 
Ü˛ä Ù•ydy àyrô# åáä ¢AÜ˛Ó˚yã˛yÎ≈ åàä ˆÜ˛Ô!ê˛°ƒ åâä Ó˚Ó#wlyÌ–
 

3ä ˆÓÔÂô ô Ï̂Ù≈Ó˚ @˝Ã Ï̂rÌÓ˚ lyÙ •° û
 
Ü˛ä ˆÜ˛yÓ˚yî åáä ˛õ%Ó˚yî åàä ˆÓò åâä !e!˛õê˛Ü˛–
 

4ä Ùyôƒ!ÙÜ˛ !¢«˛y Ü˛!Ù¢ Ï̂lÓ˚ §Ë˛y˛õ!ï˛ !SÈ Ï̂°l û
 
Ü˛ä í z̨•z!°Î˚yÙ •yrê˛yÓ˚ åáä í˛ı Ó˚yôyÜ,̨ £÷Ïyl åàä í˛ı °-îfl∫yÙ# Ù%òy!°Î˚Ó˚ åâä !í˛ ~§ ˆÜ˛yë˛yÓ˚#–
 

5ä Ù Ï̂ly!Óòƒy Ï̂Ü˛ ‘Science of Consciousness’ Ó Ï̂° x!Ë˛!•ï˛ Ü˛ Ï̂Ó˚̂ ÏSÈl û
 
Ü˛ä ˆçÙ§‰ !í»̨ Ë˛yÓ˚ åáä ˆí˛Ü˛y Ï̂ï≈̨  åàä í z̨•z!°Î˚yÙ ˆçÙ§‰ åâä í˛ Ï̂Ó˚y!Ì ˆÓ˚yçy§≈–
 

B) !l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ ~Ü˛ ~Ü˛!ê˛ ¢ Ï̂∑ Óy Óy Ï̂Ü˛ƒ í z̨_Ó˚ òyG / 1x15 

6ä ÚÙ)°ƒyÎ˚lÛ Ü˛Ìy!ê˛Ó˚ xÌ≈ Ü˛#⁄ 
7ä ~Ü˛!ê˛ Ù Ï̂ly Ï̃ÓK˛y!lÜ˛ ÚxË˛#«˛yÓ˚Û í z̨òy•Ó˚î òyG– 
8ä Úx!lÎ˚!sfï˛ !¢«˛yÛ Ü˛#⁄ 
9ä ˆÜ˛yl‰ °ƒy!ê˛l ¢∑ ˆÌ Ï̂Ü˛ •zÇ Ï̂Ó˚!ç ÚSociety’ ¢∑!ê˛Ó˚ í z̨Í˛õ!_ • Ï̂Î˚̂ ÏSÈ⁄ 
10ä GCPI- ~Ó˚ ˛õ%̂ ÏÓ˚y lyÙ Ü˛#⁄ 
11ä Ú§ÙyÓï≈̨ lÛ Ó° Ï̂ï˛ Ü˛# ˆÓyV˛yÎ˚⁄ 
12ä ò%Û!ê˛ ≤ÃyÜ‰̨ ÈüÈ≤ÃyÌ!ÙÜ˛ !¢«˛y ≤Ã!ï˛¤˛y Ï̂lÓ˚ lyÙ ˆ° Ï̂áy– 
13ä fl∫yô#l Ë˛yÓ˚̂ Ïï˛ ≤ÃÌÙ !¢«˛y ˛Ü˛!Ù¢l ˆÜ˛yl‰!ê˛⁄ 
14ä !¢«˛yÓ˚ ≤Ãôyl í z̨̨ õyòyl Ü˛Î˚!ê˛⁄ 
15ä Óƒy˛õÜ˛ x Ï̂Ì≈ !¢«˛y Ó° Ï̂ï˛ Ü˛# ˆÓyV˛yÎ˚⁄ 
16ä !lÎ˚!sfï˛ !¢«˛yÓ˚ ~Ü˛!ê˛ Ùyôƒ Ï̂ÙÓ˚ lyÙ Ü˛Ó˚– 
17ä Ú§Ùyç •° §¡õ Ï̂Ü≈̨ Ó˚ çy°Ûû í z̨!=˛!ê˛ Ü˛yÓ˚⁄ 
18ä ÚÓ%!lÎ˚yò# !¢«˛yÛÓ˚ ≤ÃÓï≈̨ Ü˛ ˆÜ˛ ⁄ 
19ä ÚMan Making EdcuationÛÈüÈ~!ê˛ Ü˛yÓ˚ ôyÓ˚îy⁄ 
20ä Ú˛õ!Ó˚Ùy˛õÛ Ó° Ï̂ï˛ Ü˛# ˆÓyV˛⁄ 

!ÓË˛yàÈüÈá ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 2 2 x 6 = 12 

!l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 40!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ ˆ° Ï̂áy– 

21ä Ú§ÇÜ˛#î≈ x Ï̂Ì≈ !¢«˛yÛÓ˚ ôyÓ˚îy òyG– 
22ä Ú≤Ãyã˛ƒÈüÈ˛õyŸã˛yï˛ƒ m®µÛ Ó° Ï̂ï˛ Ü˛# ˆÓyV˛⁄ 
23ä §Ùyç ˛õ!Ó˚Óï≈̨ Ï̂lÓ˚ ò%!ê˛ í z̨̨ õyòy Ï̂lÓ˚ lyÙ Ü˛Ó˚– 
24ä Ú!eË˛y£Ïy §)eÛ Ü˛#⁄ 
25ä ÚPsychologyÛ ¢∑!ê˛Ó˚ Ó%ƒÍ˛õ!_àï˛ xÌ≈ Ü˛#⁄ 
26ä ‘Case Study’ Ó° Ï̂ï˛ Ü˛# ˆÓyV˛yÎ˚⁄ 



!ÓË˛yàÈüÈà ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 3 3 x 4 = 12 

!l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 60!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ òyG– 
27ä Ú!Óòƒy°Î˚ §Ùy Ï̂çÓ˚ «%̨ o §ÇflÒÓ˚îÛû §Ç Ï̂«˛ Į̈̂ õ ˆÓyV˛yG–
 
28ä •yrê˛yÓ˚ Ü˛!Ù¢ Ï̂l  Ó!î≈ï˛ ≤ÃyÌ!ÙÜ˛ !¢«˛yÓ˚ !ï˛l!ê˛ §%̨ õy!Ó˚¢ í ẑ̨ ÏÕ‘á Ü˛Ó˚–
 
29ä Ó˚Ó#wly Ï̂ÌÓ˚ !¢«˛î ˛õÂô!ï˛ §Ç Ï̂«˛ Į̈̂ õ xy Ï̂°yã˛ly Ü˛Ó˚–
 
30ä !¢«˛yÓ˚ Ù)°ƒyÎ˚̂ ÏlÓ˚ ≤Ã Ï̂Î˚yçl#Î˚ï˛y §Ç Ï̂«˛ Į̈̂ õ xy Ï̂°yã˛ly Ü˛Ó˚–
 

!ÓË˛yàÈüÈâ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 4 4 x 6 = 24 

!l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 100!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ òyG– 
31ä !¢«˛yÓ˚ ã˛yÓ˚!ê˛ hflÏΩ˛ §¡õ Ï̂Ü≈̨  Ó%!V˛ Ï̂Î˚ ˆ° Ï̂áy–
 
32ä §yÙy!çÜ˛ ˛õ!Ó˚Óï≈̨ Ï̂lÓ˚ ˜Ó!¢T˛ƒà%̂ Ï°y §Ç Ï̂«˛ Į̈̂ õ xy Ï̂°yã˛ly Ü˛Ó˚–
 
33ä í z̨Ïí˛ ˆí˛§˛õƒy Ï̂ã˛Ó˚ ã˛yÓ˚!ê˛ §%̨ õy!Ó˚¢ í ẑ̨ ÏÕ‘á Ü˛Ó˚–
 

D xÌÓy 
Ë˛yÓ˚ï˛#Î˚ !¢«˛yÓ˚ •z!ï˛•y Ï̂§ í ẑ̨ Ïí˛Ó˚ ò!°° Ï̂Ü˛ ÚÙƒyàlyÜ˛yê≈̨ yÛ Ó Ï̂° ˆÜ˛l⁄
 

34ä ˆÜ˛yë˛y!Ó˚ Ü˛!Ù¢l ≤ÃhflÏy!Óï˛ !¢«˛yÓ˚ Ü˛yë˛y Ï̂Ùy!ê˛ §Ç Ï̂«˛ Į̈̂ õ xy Ï̂°yã˛ly Ü˛Ó˚–
 
35ä Úàî!¢«˛yÛ §¡õ Ï̂Ü≈̨  fl∫yÙ# !Ó Ï̂ÓÜ˛yl Ï̂®Ó˚ ôyÓ˚îy Óƒ=˛ Ü˛Ó˚–
 
36ä §yÙ!@˝ÃÜ˛ Ù)°ƒyÎ˚̂ ÏlÓ˚ ˜Ó!¢T˛ƒà%̂ Ï°y í ẑ̨ ÏÕ‘á Ü˛Ó˚–
 

D xÌÓy 
àë˛lÙ)°Ü˛ Ù)°ƒyÎ˚̂ ÏlÓ˚ ˜Ó!¢T˛ƒà%̂ Ï°y xy Ï̂°yã˛ly Ü˛Ó˚– 

!ÓË˛yà ÈüÈ . ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 6 6 x 2 = 12 

!l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 150!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ òyG 
37ä §ÇÜ˛#î≈ x Ï̂Ì≈ !¢«˛y G Óƒy˛õÜ˛ x Ï̂Ì≈ !¢«˛yÓ˚ Ù Ï̂ôƒ ˛õyÌ≈Ü˛ƒ xy Ï̂°yã˛ly Ü˛Ó˚– 

xÌÓy 
≤Ãyã˛#l ˛õyë˛ƒÜ ̨ Ù G xyô%!lÜ˛ ˛õyë˛ƒÜ ̨ Ï̂ÙÓ˚ Ù Ï̂ôƒ ˛õyÌ≈Ü˛ƒ !lî≈Î˚ Ü˛Ó˚–
 

38ä ÓÎ˚ı§!rôÜ˛y Ï̂°Ó˚ ã˛y!•òyà%̂ Ï°y §Ç Ï̂«˛ Į̈̂ õ xy Ï̂°yã˛ly Ü˛Ó˚–
 
xÌÓy 

Ó,!Âô G !ÓÜ˛y Ï̂¢Ó˚ Ù Ï̂ôƒ ˛õyÌ≈Ü˛ƒ !lî≈Î˚ Ü˛Ó˚– 

D x!ï˛!Ó˚=˛ ≤ÃŸ¿yÓ°# 



Model Question
 

Class - XI	 Education Full Marks- 80 

Group-A: Each Questions Carries 1 mark 1 x 20 = 20 

A) Choose the correct answer : 1x5 

1.	 The medium of ‘Informal Education’ is (a) Radio (b) family (c) school (d) Open School. 

2.	 ‘Education is self realisation’, said by – 

(a) Mahatma Gandhi (b) Sankaracharya (c) Koutilya (d) Rabindranath 

3.	 The name of the Buddhist scripture is – (a) Koran (b) Purana (c) Veda (d) Tripitaka. 

4.	 The Chairman of the Secondary Education Commission was –
 
a) William Hunter (b) Dr. Radhakrishnan (c) Dr. L. Mudaliar (d) D. S. Kothari.
 

5.	 Psychology is called the ‘Science of Consciousness’, said by –
 
a) James Drever (b) Decrte (c) William James (d) Dorothy Rogers.
 

Answer each of the following questions in one word/ sentence : 1x15 

6.	 What does the word ‘Evaluation’ mean ? 

7.	 Give an example of a ‘Psychological test?’ 

8.	 What is ‘Informal Education”? 

9.	 The English word ‘Society’ is derived from the Latin word ––––– . 

10. What is the full form of GCPI ? 

11. What do you mean by ‘Convocation’? 

12. Write the name of two Pre-Primary educational institutions. 

13. Which is the first education commission of independent India ? 

14. What are the main factors of education? 

15. What is education in the ‘broader sense’? 

16. Name one medium of ‘Formal Education’? 

17. ‘Society is a web of relationship’- who said this ? 

18. Who is the proponent of ‘Basic Education”? 

19. Who developed the concept of ‘Man Making Education’? 

20. What do you mean by ‘measurement’ ? 

Group-B Each Question Carries 2 Marks :	 2 x 6 = 12 

Answer each of the following question within 40 words 

21. What is of education in the ‘narrow sense’? 

22. What is meant by ‘Anglicist Classicist Controversy’? 

23. Name two elements of social change. 

24. What is ‘Tri-Language Formula’? 

25. What is the etymological meaning of the word ‘Psychology’? 

26. What is meant by ‘Case-Study’? 

Group-C Each Questions Carries 3 Marks :	 3 x 4 = 12 

Answer each of the following questions with in 60 words : 

27. ‘School is the miniature version of the society’– explain. 

28. Mention three recommendations of Primary Education outlined by the Hunter Commission. 

29. Briefly discuss Rabindranath’s Teaching method. 

30. Briefly discuss the need to evaluate education. 



Group-D Each Question Carries 4 Marks : 4 x 6 = 24 

Answer each of the following question within 100 words : 

31. Explain the four pillers of education. 

32. Briefly discuss the features of ‘Social Change’? 

33. Mention four recommendations of ‘Wood’s Despatch’? 

* OR 

Why is the wood’s Despatch called ‘Magnakarta’ in the history of Indian education. 

34. Briefly discuss the structure of Education proposed by the Kothari Commission. 

35. Explain Swami Vivekananda’s idea about Mass Fducation. 

36. Mention the features of the over all evaluation. 

* OR 

Discuss the features of constructive evaluation. 

Group-E Each Question Carries 6 Marks : 6 x 2 = 12 

Answer each of the following questions within 150 words : 

37. Discuss the difference between education in the narrower sence and education in the broader 

sense. 

Or 

Distinguish between traditional curriculumn and modern curriculum. 

38. Briefly discuss the needs of adolescence. 

Or 

Distinguish between growth and development. 

* Additional Questions 
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Model Question


 Class - XI : English : Time -3Hours 15 Min : Full Marks- 80 : 2020-2021
 

Part-A : 40 Marks 

1. Read the following passage carefully and answer the questions that follow : 

a) Travel is a bug that was in me when I was born, probably inherited from my father. In 24 

years of travelling widely through India, I have been most fascinated by those little islands that 

dot the Bay of Bengal off the East Coast of India. Yes, I am talking about the Andaman Islands. 

Andamans some how seemed almost sinister, with images of being haunted, bleak and scary, 

until my parents actually returned from a trip to Port Blair and told us about these serene 

islands. We immediately awaited the first opportunity to take a break and check them out. 

Finally, the D-Day came and we were all ready. We boarded the aircraft and to our surprise 

found that there were several empty seats. On enquiry, we learnt that all supplies to the Andamans 

including newspaper and meat go from the mainland and so there is always more cargo and 

less people. 

b) Port Blair is a small, old ariport that was constructed in 1947. On my way to the hotel I 

noticed that there are none of the usual auto rickshaws that noistly wend their way through 

most Indian towns. There was only one traffic signal in the entire town and the roads were 

more ups and downs than level. This was all surprising for a presson like me who has lived in 

the coastal towns of Chennai and Mumbai. The colour of the sea was an unpolluted blue, a 

colour that I had not seen in any of the beaches in India. It was calm and beautiful. I was 

thrilled with the fact that we are going to spend 10 entire days there. All we had to do was to sit 

in the open restaurant, look at the sea, enjoy the cool breeze and fell good. 

c) The Andaman Islands are a group of several islands, so most of our sight seeing was by 

boats. There are a total of more than 356 islands there. Even the oldest boatman, Rathnarn, had 

seen only 200 of them. I figured that 10 days were surely not enough to get a full picture of this 

place, So I started to stone every sight, every sound and every smell. The sound and light show 

at the jail sent a shiver down my spine. (This trip was before the movie ‘Kalapani’ was released). 

The realisation that those who fought for our Independence had lived, struggled, suffered and 

even died here left an impact. 

I) On the basis of your reading of the above passage, answer the following questions by 

choosing the correct option. 1x6 

i) What kind of a passage is this ?
 
a) Fiction (b) Travelogue  (c) Persuasive (d) Biography
 

ii) Why was the author interested in taking a trip to Andaman Islands ?
 
a) It had a haunted, bleak and scary image.
 
(b) As his parents had not recently taken a trip there 

(c) He loved travelling. 

(d) He was largely fascinated by what his parents told him about the islands. 



iii) Why was the author surprised when he reached Port Blair ?
 
a) The airport was very big.
 
(b) There was no traffic signal in the entire town.
 
c) Living in a busy city, he had never expected such a town.
 
d) None of the above.
 

iv) What is the meaning of the phrase ‘sent a shiver down my spine’? 

a) Feel very frightened (b) Feel very excited (c) Feel very relaxed (d) None of these. 

v) The synonyms of ‘sinister’ in the second paregraph is ____ 

a) threatening (b) left side (c) benign (d) good. 

vi) One thing that left a major impact on the author was ____ 

a) the serenity of the place (b) the whole some experience (c) vastness of the islands (d) 

the realisation that freedom fighters had lived, struggled and died there. 

II) On the basis of your reading of the passage, answer the following questions briefly : 

1x4 

a) What was unusual about Port Blair ? 

b) Why were there several empty seats in the aircraft ? 

c) The word ______ in para a means ‘provisions’. 

d) The word in the passage which is in an antonym of ‘contaminated’ is _____.(para b) 

Read the passage below and answer the questions that follow : 

i) In life we sometimes have disagreements with people. It could be with your partner, with 

your boss, with your parents, on with a friend. When this happens, the important thing is to 

try not to let a calm discussion turn into a heated argument. But of course this is easier said 

than done. 

ii) The first thing I would say is that the way you begin the conversation is very important. 

Imagine you are a student and you share a flat with another student who you think isn’t 

doing her share of the housework. If you say, “Look, you never do your share of the housework. 

What are we going to do about it ? the discussion more constructive to say some thing like, 

‘I think we’d better have another look about how we divide up the housework. May be 

there’s a bettter way of doing it.’ 

iii) My second piece of advice is simple. If you’re the person who is in the wrong, just admit it! 

This is the easiest and best way to avoid an argument. Just apologize to your flat-mate, your 

parents, or your husband, and move on. The other person will have more respect for you in 

the future if you do that. 

iv) The next tip is don’t exaggerate . Try not to say thing like ‘you always come home late 

when my mother comes to dinner’when perhaps this has only happened twice, or ‘you never 

remember to buy the toothpaste. “This will just make the other perosn think you’re being 

unreasonable, and will probably make him or her stop listening to your arguments. 

8 



v) Sometimes we just con’t avoid a discussion turning into an argument. But if you do start 

arguing with someone, it is important to keep things under control and there are way to do 

this. 

vi) The most important thing is don’t raise your voice. Raising your voice will just make the 

other person lose their temper too. If you find yourself raising your voice, stop for a moment 

and take a deep breath. Say ‘I’m sorry I shouted, but this is very important to me’, and 

continue calmly. If you can talk calmly and quietly, you’ll find your partner will be more 

ready to think about what you are saying. 

vii) It is also very important to stick to the point. Try to keep to the topic you are talking about. 

Don’t bring up old arguments, or try to bring in other issues. Just concentrate on solving the 

one problem you are having and leave the other thing for another time. So, for example, if 

you’re arguing about the housework, don’t start talking about mobile phone bills as well. 

viii) And my final tip is that if necessary call ‘Time out’, like in a sports match. If you think that 

an argument is getting out of control, then you can say to the other person, ‘Listen, I’d rather 

talk about this tomorrow when we’ve both calmed down’. You can then continue the discussion 

the next day when perhaps both of you arefeeling less tense and angry. That way there is 

much more chance that you will be able to reach an argreement. You’ll also probably find 

that the problem in much easier to solve when both you’ve had a good night’s sleep. Well, 

these are my tips. 

ix) But I want to say one last important thing. Some people think that arguing is  always bad. 

This is not true. Conflict is a normal part of life and dealing with conflict is an important part 

of any relatiionship, whether its three people sharing a flat, a married couple, or just two 

good friends. If you don’t learn to argue properly then when a real problem comes along, 

you won’t be  prepared to face it together. Think of the smaller arguments as training sessions. 

Learn how to argue clearly and fairly. it will help your relationship become stronger and last 

longer. 

I) On the basis of your understanding of the above passage answer each of the follwing 

questions by selecting the most appropriate option from the given ones : 1x4 = 4 

a) _____ is easy to suggest but quite difficult to do. 

i) To have disagreements with people. 

ii) Not to let a peaceful discussion change into a heated argument. 

iii) ‘Never raise your voice.” 

iv) To have heated argument with friends. 

b) In case we are wrong we should ____ to avoid argument. 

i) flatment (ii) exaggerate (iii) respect (iv) apologise. 

c) The second paragraph suggests when we ____ others, it leads to argument. 

i) Share the work with ii) accuse (iii) divided the work anew with (iv) only (i)&(ii) 



  

d) ____ can help strengthen relationships. 

i) Learning to argue clearly. (ii) Learning to avoid arguments (iii) Learning to argue fairly 

(iv) only (i) & (ii) 

II) Answer the following questions briefly : 1x4=4 

a) What happens if a complaint is exaggerated ?
 
b) Name two activities that to help keep arguments under control.
 
c) When is your partner in an argument more ready to think about your point of view ?
 
d) Find words/ phares from the passage which mean the opposite as each of the following
 
(i) Surely (Para-iv) (ii) Initial (Para-viii) 

Grammar 

3. Choose the correct answer and fill up the blanks : 1x4=4 

a) ______ (each/every) child needs a proper education.
 
b) I _____ (see/saw) a movie yesterday.
 
(c) She fell down while she _____ (ran/was running) 

4. Rearrange the following jumbled words to make meaningful sentences : 1x4=4 

a) because of/Delhi/earthquakes/its location/prone to/is.
 
b) a/training/a/soldier/undergo/to/has/hard.
 
c) Their /room/boys/the/are/revising/the/lesson/in
 
d) below/not/must/age/of/eighteen/years/drive/the childern.
 

OR 

Convert the following sentences as directed : 2x2=4 

a) He was sorry that he was late. (Turn into a simple sentence)
 
b) I know his native village. (Turn into a complex sentence)
 

Literature 

5. Read the extract carefully and answer the questions that follow (any one) : 3x1=3 

A) “Now she’s been dead nearly as many years 

As that girl lived . And of this circumstances there is nothing to say at all. 

Its silence silences. 

i) About whose death the poetess is referring to here ? 

(ii) Why does the poet not want to say anything about her mother’s death ? 

(iii) Explain : Its silence silences. 

B) And forever, by day and night, I give back life to my own origin. 

And make pure and beautiful it. 

i) ‘I’ stands for ............? 

ii) What does ‘origin’ refer to ? 

iii) What do you mean by ‘beautity it? 



6. Read the extract carefully and answer the questions that follow : (any one) 6x1=6 

A) She had been old and wrinkled for the twenty years that I had known her. People said that 

she had once been young and pretty and had even had a husband, but that was hard to believe. 

My grandfather’s portrait hung above the mantel piece in the drawing room. He wore a big 

turban and loose fitting clothes. 

i) The story ‘The portrait of a lady’ is about which lady ? 

ii) Who is the author of the prose ? 

iii) How long had the author known his grandmother ? 

iv) What did people say about her ? 

v) Where was the grandfather’s portrait hung ? 

vi) How does the grandfather look in the portriat ? 

OR 

B) In july 1976, my wife Mery, son Jonathan 6, daughter Suzanne 7, and I set sail from 

Plymouth, England, to dupliate the round-the-world voyage made 200 years earlier by 

Captain Jams Cook. for the longest time, Mary and I– a 37 year old business man –had 

dreamt of sailing in the wake of the famous explorer and for the past 16 years we had spent 

all our leisure time homing our sea faring skills in British waters. 

Our boat Wavewalker, a 23 metre, 30 ton wooden-hulled beauty, had been professionally 

built, and we had spent months fitting it out and testing it in the roughest weather we could 

find. 

i) What was the narrator’s dream ? 

ii) The sailing was set from which place to which other ? 

iii) What was the name of the narrator’s kids ? 

iv) What was the name of the boat ? 

v) Write two lines about the boat ? 

vi) How old was the narrator ? 

C) In the train back I saw Mrs. Dorling infront of me again as I hed the first time I met her. It 

was the morning after the day my mother had told me about her. I had got up late and coming 

downstairs, I saw my mother about to see someone out. A woman with a broad back. “There is 

my daughter, ‘said my mother, she beckoned time. 

i) Who is the narrator ? 

ii) Who is Mrs. Dorling ? 

iii) Why had the narrator come to meet Mrs. Dorling ? 

iv) For how many times did the narrator see Mrs. Dorling ? 

v) How did the narrator get the address of Mrs. Dorling? 

vi) What was the behaviour of Mrs. Dorling when she saw the narrator ? 

Answer the following questions (any five) : 5x1=5 

i) Why did grandmother carry several chapattis with her ? 

ii) For how many years did the author stay abroad ? 

iii) What were the name of the two cousin girls ? 



 

iv) Who took the snapshots of the girls with the camera ?
 
v) What is goldfinach ?
 
vi) When did the Wavewalken ride out the storm ?
 

PART-B :  40 marks 

7. Read the following passage carefully : 8 

In life, you’ll always come across situations where there will be someone else who’s better 

than you, especially there is no one quality or standard that people can be judged on. There 

will always be someone who looks better, has more money or is more intelligent than you. 

How you choose to approach these situations of course, depends on the perspective you 

take. People in themselves aren’t intimidating, it’s the opinions you form about them that 

make you feel so. Rather than judging people on a single atteribute and getting intimidated, 

be comfortable with who you are and approach other people as complete individuals rather 

than a bundle of good or bad attributes. 

The key to not letting others intimidat you is to know your own worth. Don’t let your 

sense off if be defined by what others think of you or how you compare yourself to them. 

Know what you are, and be comfortable in your scheme. Instead of feeling threatened and 

letting your ego in the way, you could benefit a great deal by being around people who 

might be better than you in some ways. Respect others for what they are and use these 

oppotunities to learn from the strengths and virtues of others. Don’t get bogged down by 

what you don’t have or can’t do. We all have limitations. Learn to accept them and focus on 

your strengths. A number of times,we come under pressure from what people we believe to 

be more popular and influential than us, in a bid to fit in with then. However, at times like 

there, its important for you to stay true to yourself and say ‘no’ when you’re expected to do 

something that makes you uncomfortable. 

Your first response to an intimidating person or situation would probably be to avoid 

them altogether. However, avoidance only goes on to increase your anxiety. confront there 

situation head on, with more and more practice, you’ll short finding these situation easier to 

deal with. Always keep in mind that everybody has flaws and everyone has his/her own 

share of them. Our self esteem gets lowered when we focus too much on our weakness and 

neglect what we get right change this pattern and start giving yourself credit for your strngth 

and success. 

a) On the basis of your reading of the passage make notes on it, using heading and sub-

heading. use recognizable abbreviations (wherever necessary minimum-4) and a format 

you consider suitable. Also supply an appropriate title to it. 5 

b) Write a summary of the above passage in about 80 words. 3 

8. You are Raman /Ramya, the head boy/girl of R.P.V.V. Lajpat Nagar. Your school has decided 

to celebrate the coming Friday as Green Day. To promote the awarness a painting competitioi 

will be organised in the school auditorium. Write a notice informing the students about it. 



OR
 
Imagine you are a librarian of a School. The following decisions have been taken regarding
 
the functioning of library.
 
The working hours will be form 7 am to 4 pm
 
The library will remain closed on Sunday.
 
The books can be borrowed for only two weeks.
 
Write a notice informing the students and teachers about the same. giving necessary details.
 

9. Design a poster in not more than 50 words emphasing 	 the importance of healthy and 

nutritious food in our life. 

OR 

Your School is going too organise a Science Fair. Design a poster to inform the students 

about it. 

10. You are Amita/Amit, the proprietor of an electronics goods shop in Noida. You have received 

a quotation for supply of electronics goods from a wholesale dealer, M/S Gupta & Sons, 

Daryaganj, Delhi. Place an order for the items with this dealer giving necessary details. 

(120-150 words) 

OR 

You are Kamal/Kamala,  student of class XI of BSR H/S School. Write a letter to the HM / 

Principal of your School informing him/her that you are not receiving Text Notification into 

your mobile phone regarding relevent school issues. 

11. “Rising prices can be controlled only by the Government.” Write a debate in 150-200 

words either for or against the motion. 

OR 

Your school is organising ‘Senior Citizen Day’ to make people aware about the importance 

and contribution of the elderly people to society and Nation. Write a speech to be delievered 

in your Morning Assembly showing your concern of the issue of ‘Care of our Elders’. 

12. Anser the two of the following questions within 40 words :	 2x2=4 

a) What were the things that grandmother would pack for the author to take to school ? 

b) How does the author illustrate the importance of the Green Movement ? 

c) How is the tree transformed from solitude to liveliness once again ? 

d) What can be learnt about the poet’s mother from the photograph ? 

13. Answer any one of the following questions within 50 words : 1x2=2 

a) Describe the first riding experience of the narrator, Aram. 

b) Describe the Pre-war lifestyle of the narrator. 

14.Answer any one of the following questions within 150 words : 5 

a) “Childhood is an essential stage in the process of growing up, but it cannot go on forever.’
 
Justify.
 
b) Describe the changing relationship between the author and his grandmother.
 

5 



5 15. Answer any one of the following questions within 150 words : 

a) “Loss and sufferings are the only cousequences of war” – Explain with reference to the 

story. 

OR 

b) What massage does the story ‘The summer of the Beautiful white horse’ convey to the 

readers. 



Model Question 

Class - XI: Geography : 70 Marks : 2020-2021 

!ÓË˛yàÈüÈÜ˛ / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ ÙylÈüÈ1 / 1 x 20 = 20 

Iä §!ë˛Ü˛ í z̨_Ó˚!ê˛ Ï̂Ü˛ !ã˛!•´ï˛ Ü˛Ó˚ / 1x5=5 

1ä Ë)̨ Ï̂ày Ï̂°Ó˚ ˆÎ ¢yáyÎ˚ ≤ÃyÜ,̨ !ï˛Ü˛ Ë)̨ Ï̂ày° ~ÓÇ ÙylÓ Ë)̨ Ï̂ày Ï̂°Ó˚ xyhs˝ı§¡õÜ≈̨  Óƒyáƒy Ü˛Ó˚y •Î˚ ï˛y Ï̂Ü˛ Ó Ï̂° û 
Ü˛ä ÙylÓ Ë)̨ Ï̂ày° áä ≤ÃyÜ,̨ !ï˛Ü˛ Ë)̨ Ï̂ày° àä ç#Ó Ë)̨ Ï̂ày° âä §yÙy!çÜ˛ Ë)̨ Ï̂ày° 

2ä UNESCO Ü˛ï,≈̨ Ü˛ Ë˛yÓ˚̂ Ïï˛Ó˚ Ü˛!ê˛ ç#ÓÙu˛° fl∫#Ü,̨ !ï˛ ˆ˛õ Ï̂Î˚̂ ÏSÈ û 
Ü˛ä ~Ü˛!ê˛ åáä ò¢!ê˛ åàä ò%!ê˛ åâä ã˛yÓ˚!ê˛ 

3ä ÓyÎ%̊Ùu˛ Ï̂°Ó˚ x!: Ï̂ç Ï̂lÓ˚ ˛õ!Ó˚Ùyî Ü˛ï˛ ⁄ 
Ü˛ä 20.95% åáä 75.02% åàä 30.05% åâä 45.02% 

4ä xy®yÙyl G !l Ï̂Ü˛yÓÓ˚ m#˛õ˛õ%O Ï̂Ü˛ ˆÜ˛yl‰ ç°Ë˛yà xy°yòy Ü˛ Ï̂Ó˚ û 
Ü˛ä ˛õÜ‰̨ ≤Ãîy°# åáä 11 !í˛!@˝Ã ã˛ƒy Ï̂l° åàä 10 !í˛!@˝Ã ã˛ƒy Ï̂l° åâä Ùyß¨yÓ˚ í z̨̨ õ§yàÓ˚– 

5ä ˆÜ˛yl‰ ≤Ã!Ü ̨ Î˚y myÓ˚y ÓyÎ)̊Ùu˛° Ù%áƒï˛ í z̨_Æ •Î˚⁄
 
Ü˛ä «%̨ o ï˛Ó˚Aà ˆ§ÔÓ˚ !Ó!Ü˛Ó˚î – åáä ò#â≈ï˛Ó˚Aà ˛õy!Ì≈Ó !Ó!Ü˛Ó˚î
 
åàä ≤Ã!ï˛Ê˛!°ï˛ ˆ§ÔÓ˚ !Ó!Ü˛Ó˚î åâä !Ó!«˛Æ ˆ§ÔÓ˚ !Ó!Ü˛Ó˚î–
 

II) ~Ü˛ ¢ Ï̂∑‡Óy Ï̂Ü˛ƒ í z̨_Ó˚ òyG / 1x15 

6ä  ˆÓ˚à%Ó˚ Ü˛#⁄
 
7ä  Ù•# §M˛Ó˚î Ùï˛Óyò!ê˛Ó˚ ≤ÃÓ=˛y ˆÜ˛⁄
 
8ä !¢°yÙu˛° Ü˛y Ï̂Ü˛ Ó Ï̂°⁄
 
9ä ˆ˛õ Ï̂ê ∆̨y°!çfiê˛ Ü˛yÓ˚y ⁄
 
10ä Ë)̨ ÈüÈ!Ó˛õÎ≈Î˚ Ü˛#⁄
 
11ä Ë˛yÓ˚̂ Ïï˛ Ü˛Ü≈̨ ê˛Ü ̨ y!hs˝ ˆÓ˚áy x!ï˛Ü ̨ Ù Ü˛ Ï̂Ó˚̂ ÏSÈ ~Ùl ò%!ê˛ Ó˚y Ï̂çƒÓ˚ lyÙ !°á–
 
12ä Ü˛y Ï̂Ó˚GÎ˚y Ü˛#⁄
 
13ä ˆÜ˛yl‰ ôÓ˚̂ ÏlÓ˚ Ë)̨ !ÙÓ)̊̂ Į̈ õ ly°# «˛Î˚ ˆÓ!¢ ˆòáy ÎyÎ˚⁄
 
14ä ÓyÎ%̊ Ùu˛ Ï̂°Ó˚ ~Ü˛!ê˛ ˛õ!Ó˚Óï≈̨ l¢#° í z̨̨ õyòy Ï̂lÓ˚ lyÙ ˆ° Ï̂áy–
 
15ä ˛õ,!ÌÓ# Ï̂ï˛ í z̨Fã˛ï˛Ù ˆçyÎ˚yÓ˚ ˆÜ˛yÌyÎ˚ ˆòáy ÎyÎ˚⁄
 
16ä ˆçyÎ˚yÓ˚ Ü˛#⁄
 
17ä ≤ÃyÜ,̨ !ï˛Ü˛ Ë)̨ Ï̂ày Ï̂°Ó˚ ˆÎÈüÈˆÜ˛y Ï̂ly ~Ü˛!ê˛ ¢yáyÓ˚ lyÙ ˆ° Ï̂áy–
 
18ä ÚË)̨ Ï̂ày°Û ¢∑!ê˛ ≤ÃÌÙ ˆÜ˛ ÓƒÓ•yÓ˚ Ü˛ Ï̂Ó˚l⁄
 
19ä ~Ü˛!ê˛ Ë)̨ !ÙÜ˛¡õ ï˛Ó˚̂ ÏAàÓ˚ lyÙ ˆ° Ï̂áy–
 
20ä ˜Ó!ã˛eƒàï˛ Ú•ê˛flõê˛Û Ó° Ï̂ï˛ Ü˛# ˆÓy Ï̂V˛y⁄
 

!ÓË˛yàÈüÈá / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 3 / 3 x 5 = 15 

21ä ‘P’ ï˛Ó˚Aà G ‘S’ ï˛Ó˚̂ ÏAàÓ˚ Ù Ï̂ôƒ ˛õyÌ≈Ü˛ƒ ˆ° Ï̂áy–
 
22ä áyòÓ˚ G Ë˛yAà Ï̂Ó˚Ó˚ Ù Ï̂ôƒ ˛õyÌ≈Ü˛ƒ ˆ° Ï̂áy–
 
23ä Ë)̨ ÈüÈ˛õ,̂ Ï¤˛ ï˛y˛õÙyey Órê˛ Ï̂lÓ˚ !lÎ˚sfÜ˛§Ù)• Ü˛# Ü˛#⁄
 



24ä §yÙy!çÜ˛ ÓlyÎ˚l Ó° Ï̂ï˛ Ü˛# ˆÓyV˛⁄
 
25ä xy Ï̂@¿Î˚ !¢°y Ü˛# ⁄ ~•z !¢°yÓ˚ ˜Ó!¢T˛ƒà%̂ Ï°y xy Ï̂°yã˛ly Ü˛ Ï̂Ó˚y–
 

!ÓË˛yàÈüÈà / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 5 / 5 x 6 = 30
 

26ä Ó!•ç≈yï˛ ≤Ã!Ü ̨ Î˚y Ü˛#⁄ Ó˚y§yÎ˚!lÜ˛ xyÓ•!ÓÜ˛y Ï̂Ó˚Ó˚ !Ó!Ë˛ß¨ ≤Ã!Ü ̨ Î˚yà%̂ Ï°y í z̨òy•Ó˚î§• xy Ï̂°yã˛ly Ü˛Ó˚– 1+4 

xÌÓy 
Ù,!_Ü˛y §,!T˛Ó˚ ≤Ã!Ü ̨ Î˚yà%̂ Ï°y xy Ï̂°yã˛ly Ü˛ Ï̂Ó˚y– 5
 

27ä ÓyÎ%̊Ùu˛ Ï̂°Ó˚ !Ó!Ë˛ß¨ hflÏÓ˚à%̂ Ï°yÓ˚ §Ç!«˛Æ !ÓÓÓ˚î òyG– 5
 

xÌÓy 
ÓyÎ%̊Ùu˛° Ü˛#Ë˛y Ï̂Ó ï˛y˛õ#Î˚ §Ùï˛y ÓçyÎ˚ Ó˚y Ï̂á xy Ï̂°yã˛ly Ü˛ Ï̂Ó˚y– 5
 

28ä ç#Ó Ï̃Ó!ã˛eƒ •…y Ï̂§Ó˚ !Ó!Ë˛ß¨ Ü˛yÓ˚îà%̂ Ï°y xy Ï̂°yã˛ly Ü˛ Ï̂Ó˚y– Ó!•Ó˚yàï˛ ≤Ãçy!ï˛ Ü˛#⁄ 4+1
 

29ä í z̨̨ õÜ)̨ °#Î˚ §ÙË)̨ !ÙÓ˚ ˆË˛Ô Ï̂ày!°Ü˛ ˜Ó!¢T˛ƒà%̂ Ï°y !Ó¢ò‰Ë˛y Ï̂Ó xy Ï̂°yã˛ly Ü˛Ó˚– 5
 

30ä Ü˛yŸ¬#Ó˚ !•Ùy°Î˚ G xÓ%̊îyã˛° !•Ùy°ÏÎ˚ àë˛ Ï̂lÓ˚ ˛õyÌ≈Ü˛ƒà%̂ Ï°y !l Ï̂ò≈¢ Ü˛ Ï̂Ó˚y– 5
 

31ä Ë˛yÓ˚̂ Ïï˛ Ó,!T˛˛õy Ï̂ï˛Ó˚ Órê˛l fl∫yË˛y!ÓÜ˛ í z̨!q Ï̂òÓ˚ ˆ◊!î!ÓË˛yà Ï̂Ü˛ ≤ÃË˛y!Óï˛ Ü˛ Ï̂Ó˚û Óƒyáƒy Ü˛ Ï̂Ó˚y– 5
 

!ÓË˛yàÈüÈâ / Ùyl!ã˛e !ã˛!•´ï˛Ü˛Ó˚î / 5
 

32ä Ë˛yÓ˚̂ Ïï˛Ó˚ §#Ùy Ï̂Ó˚áy Ùyl!ã˛ Ï̂e !l¡¨!°!áï˛ !Ó£ÏÎ˚à%̂ Ï°y lyÙ§• xÓfiÌyl !l Ï̂ò≈¢ Ü˛ Ï̂Ó˚y / 1 x 5 = 5
 

Ü˛ä xyÓ˚yÓÕ‘# ̨ õÓ≈ï˛
 
áä Ùyß¨yÓ˚ í z̨̨ õ§yàÓ˚
 
àä Ùy°yÓyÓ˚ í z̨̨ õÜ)̨ °
 
âä  Ü ̨ yhs˝#Î˚ !ã˛Ó˚•!Ó˚Í xÓ˚̂ ÏîƒÓ˚ ~Ü˛!ê˛ Ó˚yçƒ
 
.ä Ü,̨ £÷Ï Ù,!_Ü˛y xM˛°–
 



Model Question 

Class - XI: Geography : 70 Marks : 2020-2021
 

Section-A: Each Question Carries 1 marks :1 x 5 = 5
 
I. Choose the Correct Answer : 1x5 

1. The branch of Geography that describes the interface of physical and human geography is called– 

(a) Human Geography b) Physical Geography (c) Biographhy (d) Social Geography. 

2.	 UNESCO recognizes– biosphere reserves from India. 

(a) One (b) Ten (c) Two (d) Four 

3.	 The amount of oxygen present in the atmosphere is –
 

a) 20.95% (b) 75.02% (c) 30.05% (d) 45.02%
 

4.	 Which Water body separates Andaman from Nicobar Island ?
 

a) Palk Strait (b) 11 degree  channel (c) 10 degree channel (d) Gulf of Mannar.
 

5.	 The atmosphere is heated mainly by the process of –
 

a) Short wave solar radiation (b) Long wave terrestrial radiation
 

(c) Reflected Solar Radiation (d) Seattered Solar Radiation. 

II. Answer the following in one word/sentence : 1x15 

6.	 What is ‘Regur’? 

7.	 Who postulated the theory of ‘Continental Drift’? 

8.	 What is Lithosphere ? 

9.	 Who are called Petrologists ? 

10. What is ‘Diastrophism’? 

11. Name two states of India through which Tropic of cancer passes. 

12. What are ‘Karewas’? 

13. In which type of landform does Gully erosion predominate ? 

14. Name a variable material of atmosphere . 

15. The highest tide occurs in which place of the world ? 

16. What is Tide ? 

17. Name any one branch of Physical Geography. 

18. Who first did use the term Ë)̨ Ï̂ày° ? 

19. Write the name of an Earthquake wave. 

20. What do you mean by ‘Biodiversity Hotspot’? 

Section-B : Each Question Carries 3 Marks : 3 x 6 = 18 

21. Differentiate between ‘P’ waves and ‘S’ waves. 

22. Differentiate between Khadar and Bhangar. 

23. Mention the factors that control the distribution of temperature on the earth surface ? 

24. What do you mean by ‘Social Forestry’? 

25. Write the characteristics of Laterite Soil. 

26. What is lgneous Rock ? Mention the characteristics of Igneous Rock. 



Section-C : Each Question Carries 5 Marks : 5 x 6 = 30
 

27. What are Exogenous Processes ? What are the different processes of chemical weathering? 

Discuss with examples. 1+4=5 

OR 

Discuss the different process of soil formation. 5 

28. Explain in short the different layers of the atmosphere . 5 

OR 

How does the atmosphere maintain heat balance-Discuss. 

29. What are the major factors that are responsible for the loss of Biodervisity? What do you understand 

by ‘exotic species’? 4+1=5 

30. Briefly describe the geographical features of the coastal plains of India. 5 

31. Differentiate between Kashmir and Arunachal Himalayas in terms of their formation. 5 

32. Classification of natural vegetation is influenced by the distribution of rainfall in India-Explain 

with examples. 5 

Group-D : The Quesction Carries 5 Marks 

33. In the given outline map of India, locate and label the following place : 1x5=5 

a) Aravalli Hills 

b) Gulf of Mannar 

c) Malabar Coast 

d) A state having tropical evergreen forest. 

e) Block Soil Region. 



 

 

Model Question
 

Class : XI : HINDI : 80 Marks : 2020-2021
 

KeC[ : JeÀ 
ÒeMves JeÀe GÊej SJeÀ ³ee oes keeJeÌ³e cesb efueefKeS : 1 x 20 

1) Òesce®ebo JeÀe cetue veece JeÌ³ee Lee?
 
2) Òesce®ebo peer JeÀe pevce JeÀke Deesj JeÀnBe ng³ee Lee?
 
3) `ieesoeve efJeÀme JeÀer j®evee nw ?
 
4) ieuelee ueesne heeþ JesÀ uesKeJeÀ JeÀe veece efueefKeS~
 
5) ieuelee ueesne JeÀneveer JeÀe ÒecegKe hee$e JeÀewve nw ?
 
6) efyejeojer JeÀe ³ener meneje newlee nw~ ³en efJeÀmeJeÀe JeÀLeve nw?
 
7) jpeveer heeþ JeÀer uesefKeJeÀe JeÀewve nw ?
 
8) j®eveer heeþ ces efJeÀme mecem³ee JeÀer Deesj nceeje O³eeve Keer®ebe ie³ee nw ?
 
9) JeÀkeerj efJeÀme JeÀeue KeC[ JesÀ JeÀefke nw?
 
10) JeÀkeerj JesÀ JeÀek³e JeÀe efke<e³e kemleg JeÌ³ee nw ?
 
11) keerpeJeÀ efJeÀmeJeÀer j®evee nw?
 
12) heefLeJeÀ JeÀefkelee JesÀ JeÀefke JeÀe veece efueefKeS~
 
13) heefLeJeÀ JeÀe ceve JeÀnbe efke®ejlee ®eenlee nw?
 
14) JeÀefke jecevejsMe ef$eheeþer JeÀer SJeÀ ÒecegKe j®evee JeÀe veece efueefKeS~
 
15) JeÀefke heleb peer JeÀe hegje veece efueefKeS~
 
16) JeÀefke hele peer JeÀe pevece JeÀke Deewj JeÀnbe ngDee Lee?
 
17) íe³eekeeo JesÀ SJeÀ JeÀefke JeÀe veece efueefKeS~
 
18) Yeejvesvog ³egie JeÀer SJeÀ ÒecegKe efkeMes<elee efueefKeS~
 
19) `heje Ghemeie& JesÀ SJeÀ Meko efueefKeS~
 
20) ceesnve hegmleJeÀ he{lee nw~jsKebeefJeÀle heo ces JeÀewve mee JeÀejJeÀ nw~
 

KeC[ : Ke 
21) efveos&Meevegmeej ÒeMvees JeÀe GÊej efueefKeS : 

Deeueesheeroerve ves JeÀueceoeve mes JeÀuece efveJeÀeueer Deewj Gmes kebMeerOej JesÀ neLe ces osJeÀj keesues - ve cegPes efkeOeelee JeÀer ®een nw, cve DevegYeke JeÀer ve mecePelee JeÀer 

ve JeÀe³e&JegÀMeuelee JeÀer~ Fve iegCes JesÀ cenlkeJeÀe heefj®e³e Ketke ³ee ®egJeÀe nt ~ Deke meewYeei³e Dewj megekemej ves cegPes ken Yeesleer os efo³ee nw efpemeJesÀ meeceves ³eewi³elee Deewj efkeÂlee 

JeÀer ®eceJeÀ heÀerJeÀer he› peeleer nw~ ³en JeÀuece ueerefpeS, DeefOeJeÀ meess®e-efke®eej ve JeÀerefpeS,omleKele JeÀj oerefpeS~ hejceelcee mes ³ener ÒeeLe&vee nw efJeÀ keng Deehe JeÀes meowke 

kener veoer JesÀ efJeÀveejs keeuee kescegjewkele, God[, JeÀþesj hejvleg Oece&eefve oejesiee keveeme jKes~

 i) ieÐeebMe JesÀ heþs Skeb uesKeJeÀ JeÀe veece efueefKeS~ 

(ii) Deeueesheeroerve JesÀ JeÌ³ee-JeÌ³ee ®een vener Leer? 

(iii) Deeuewheeroerve ves hejceelcee mes JeÌ³ee ÒeeLe&vee efJeÀ³ee? 1+2+2 

22) veer®es efueKes ieàebMe JesÀ DeeOeej hej ÒeMvees JeÀe GÊej efueefKeS : 

ke®®ee JeÀcepeesj vener, nesefMe³eej nw .... kengle nesefMe³eej ... DemeJesÀ keekepeto GmeJeÀe ìer®ej ueieeleej Gmes JeÀes®elee jnlee nw efJeÀ ken ì³etMeve ues 

...ì³egMeve ues kejvee heíleeSiee~ uesefJeÀve ke®®es JesÀ ceeb-keehe JeÀes pe©jer vener ueielee Deewj kew vener ueiekeeleer~ peeveles nw JeÌ³ee ngDee? cewL³e JeÀe hegje heshej þerJeÀ JeÀjves 

JesÀ keekepego Gmes JegÀue 72 vebkej efceueles nw peeveles nw JeÌ³ees? JeÌ³eesefJeÀ Gmeves ìer®ej JesÀ keej-keej JeÀnves hej Yeer ì³egMeve vener ueer~ 

(i) ieÐeebMe JesÀ heeþ Skeb uesKeJeÀ JeÀe veece efueefKeS~ 

(ii) ³en efJeÀmeJeÀe JeÀLeve efJeÀmemes nw ? 

(iii) DekelejCe JeÀe DeeMe³e efueefKeS~ 1+2+3 

5 



 

23) ieÎebMe JesÀ Devegmeej hetís ieS ÒeMves JeÀe GÊej efueefKeS : 

efveJeÀue jne nw peueefveefOe-leue hej efoveJeÀj-efyebye DeOetje~ 

JeÀceuee JesÀ JebÀ®eve cebefoj JeÀe ceeves JebÀele JebÀietje~ 

ueeves JeÀes efvepe hegC³e-Yetefce hej ue#ceer JeÀer Demekeejer~ 

uelveeJeÀj ves efveefce&le JeÀj oer myeCe&-me›JeÀ peefle h³eejer~~ 

(i) heÐeebMe JesÀ JeÀefke Skeb JeÀefkelee JeÀe veece efueefKe~ 

(ii) peueefveefOe Deewj efoveJeÀj Meyo JeÀe DeLe& efueefKeS~ 

(iii) heÐeebMe JeÀe YeekeeLe& efueefKeS~ 2+1+2 

24) veer®es efueKes heÐeebMe JeÀes he{JeÀj ÒeMves JeÀe GÊej efueefKeS : 

ken mkeeOeerve efJeÀmeeve jne 

DeefYeceeve Yeje DebeKees ces FmeJeÀe, 

íes› Gmes cepeOeej Deepe 

mebmeej JeÀieej meÎMe yen efKemeJeÀe~ 

uenjeles yes Kesle Îieesb cesb 

ngDee kesoKeue yen Deye efpevemes 

nbmeleer Yeer GmesJeÀ peeryeve JeÀer 

nefj³eeueer efpeveJesÀ leÉve-leÉve mes!

 (i) ³enheÐeebMe efJeÀme JeÀefyelee mes efue³ee ie³ee nw ?

 (ii) heÐeebMe JesÀ JeÀefye JeÀe veece efueefKe~

 (iii) efJeÀmeeve JeÀye mkeeOeerve Lee?

 (iv) efJeÀmeeve efJeÀmemes kesoKeue nes ie³ee?

 (v) efJeÀmeeve JeÀe peerkeve JesÀmee nw? 

KeC[ : ie 
25) efJeÀvner oes ÒeMvees JeÀe GÊej efueefKeS : 5+5 

(JeÀ) Yeejvesvog ³egie JeÀer ÒecegKe ÒekeÉefÊe³eesb JeÀe mebef#ehle keCe&ve JeÀerefpeS~
 
(Ke) JeÀneveer meeefnl³e JeÀe GoYeke Skeb efkeJeÀeMe JeÀe GuuesKe JeÀerefpeS~
 
(ie) íe³eekeeo JeÀer ÒecegKe efkeMesleleeDeebs JeÀe keCe&ve JeÀerefpeS~
 

26) Òel³e³e efJeÀmes JeÀnles nw? FmeJesÀ JeÀewve-JeÀewve ÒeJeÀej nw? GoenjCe meefnle efueefKeS~ 2+2+1=5 

27) JeÀejJeÀ JeÀer heefjYee<ee Skeb Yeso GoenjCe meefnle efueefKeS~ 2+2+1=5 

28) Mekoes JeÀe meceeme efyeie´n Syeb meceeme JeÀe veece efueefKeS (JeÀesF heBe®e) : 1x5=5 

efyeÐeeue³e, JeÀceueve³eve, ®eewjene, ceelee-efhelee, heerleecyej, Deepeeryeve~ 

29) Deheves efyeÐeeue³e ces Kesue-meeceie´er JeÀer JeÀceer JesÀ efye<e³e cesb yeleeles ngS Gheves ÒeOeevee®ee³e& JesÀ ÒeeLe&vee-he$e efueefKeS~ 5 

DeLeyee 

efyeÐeeue³e ces Dee³eesefpele mke®ílee-JeÀe³e&Je´Àce JesÀ GuuesKe JeÀjles ngS efce$e JeÀes he$e efueefKeS~ 

30) efJeÀmeer SJeÀ efye<e³e hej efveyevOe efueefKeS 10 

(JeÀ) jeä£Yee<ee efnvoer~
 
(Ke) cesje efÒeke veslee~
 
(ie) he³e&ekejCe JeÀer mecem³ee Skeb meceeOeeve
 
(Ie) efke%eeve kejoeve ³ee DeefYeMeehe~
 



 

Model Question
 

Class - XI : History : 80 Marks : 2020-2021
 

!ÓË˛yàÈüÈÜ˛ / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ ÙylÈüÈ1 / 1 x 20 = 20
 

I) §!ë˛Ü˛ í z̨_Ó˚!ê˛ ÓySÈy•z Ü˛Ó˚ / 1x5=5 

1ä ˆÙ Ï̂§y˛õ Ï̂ê˛!ÙÎ˚yÓ˚ Óï≈̨ Ùyl lyÙ •° ûûû 
Ü˛ä •zÓ˚yl áä •zÓ˚yÜ˛ àä xyÓ˚Ó âä Óy•y!Ó˚l 

2ä Ï̂Ù Ï̂§y˛õ Ï̂ê˛!ÙÎ˚y !°!˛õ xy!Ó‹ÒyÓ˚ • Ï̂Î˚!SÈ° ûû 
Ü˛ä ˆÙ Ï̂§y˛õ Ï̂ê˛!ÙÎ˚y áä §%ÙyÓ˚ àä Ùy!Ó˚ âä í z̨Ó%̊ 

3ä Ù%§°Ùylô Ï̂Ù≈Ó˚ ≤ÃÌÙ á!°Ê˛yÓ˚ lyÙ !SÈ° û 
Ü˛ä xyÓ%ÓÜ˛Ó˚ áä GÙÓ˚ àä í z̨§Ùyl âä xy!° 

4ä Ú!ò !≤Ã™Û (The Prince) Ó•z!ê˛Ó˚ ˆ°áÜ˛ !SÈ Ï̂°l ûû 
Ü˛ä !l Ï̂Ü˛y Ï̂°y Ùƒy!Ü˛Î˚y Ï̂Ë˛°# áä •zÓl Ó%̊¢ò àä !°Gly Ï̂ò≈y òy !Ë˛!O âä Ùy•ẑ ÏÜ˛° ~ Ï̂O Ï̂°y 

5ä !Ü ̨ Ï̂fiê˛yÊ˛yÓ˚ Ü˛°¡∫y§ xy Ï̂Ù!Ó˚Ü˛y xy!Ó‹ÒyÓ˚ Ü˛ Ï̂Ó˚l ûû 
Ü˛ä 1490 !á fiê˛y Ï̂∑ áä 1492 !á fiê˛y Ï̂∑ àä 1498 !á fiê˛y Ï̂∑ âä 1890 !á fiê˛y Ï̂∑– 

II) ~Ü˛!ê˛ ˛õ)î≈yAà Óy Ï̂Ü˛ƒ !l¡¨!°!áï˛ ≤ÃŸ¿à%̂ Ï°yÓ˚ í z̨_Ó˚ òyG / 1x15=15 

6ä Ùy!Ó˚Ó˚ !Óáƒyï˛ ¢y§Ü˛ ˆÜ˛ !SÈ Ï̂°l⁄
 
7ä !á fiê˛yl Ï̂òÓ˚ ˛õ!Óe ôÙ≈@˝Ã Ï̂rÌÓ˚ lyÙ Ü˛#⁄
 
8ä Ü˛ï˛ !á fiê˛y Ï̂∑ xy Ï̂°Ü˛çyu˛yÓ˚ Óƒy!Ó°l çÎ˚ Ü˛ Ï̂Ó˚!SÈ Ï̂°l⁄
 
9ä ˆÙ Ï̂§y˛õ Ï̂ê˛!ÙÎ˚y ¢ Ï̂∑Ó˚ xÌ≈ Ü˛#⁄
 
10ä Óƒy!Ó° Ï̂lÓ˚ ˆ¢£Ï fl∫yô#l ¢y§Ü˛ ˆÜ˛ !SÈ Ï̂°l⁄
 
11ä !à Ï̂— Ï̂Ù¢ Ù•yÜ˛yÓƒ!ê˛Ó˚ Ó˚ã˛!Î˚ï˛y ˆÜ˛ !SÈ Ï̂°l⁄
 
12ä xàyfiê˛yl Î%à Ó° Ï̂ï˛ Ü˛# ˆÓyV˛⁄
 
13ä •z§°yÙ ô Ï̂Ù≈Ó˚ ≤ÃÓï≈̨ Ü˛ ˆÜ˛ ⁄
 
14ä ÙylyÓ˚ Ü˛#⁄
 
15ä  !°Gly Ï̂ò≈y òy !Ë˛!M˛ ˆÜ˛ !SÈ Ï̂°l⁄
 
16ä Ü˛ Ï̂Ó !Ó !ê˛¢ •zT˛ •z![˛Î˚y ˆÜ˛y¡õyl# àë˛l • Ï̂Î˚!SÈ°⁄
 
17ä ˆflõ!lÇ ˆç!l ˆÜ˛ xy!Ó‹ÒyÓ˚ Ü˛ Ï̂Ó˚l⁄
 
18ä !¢“ !Ó≤’Ó ≤ÃÌÙ ˆÜ˛yÌyÎ˚ xyÓ˚Ω˛ • Ï̂Î˚!SÈ°⁄
 
19ä fl∫yô#lï˛yÓ˚ ˆây£Ïîy (Declaration of Independence) Ó•z!ê˛Ó˚ ˆ°áÜ˛ ˆÜ˛ ⁄
 
20ä ˆÜ˛yl ÓSÈÓ˚ !• Ï̂Ó˚y¢#Ùy ~ÓÇ lyày§y!Ü˛ Ï̂ï˛ ˆÓyÙy !l Ï̂«˛˛õ Ü˛Ó˚y • Ï̂Î˚!SÈ°⁄
 

!ÓË˛yàÈüÈá / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 3 / 3 x 3 = 9 

!l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 60!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ ˆ° Ï̂áy– 

21ä Óƒy!Ó°l ¢• Ï̂Ó˚Ó˚ Ù)° ˜Ó!¢T˛ƒà%!° í ẑ̨ ÏÕ‘á Ü˛ Ï̂Ó˚y– 
22ä •zí ẑ̨ ÏÓ˚y Į̈̂ õ ôÙ≈Î%̂ ÏÂôÓ˚ åÜ ̨ %̂ Ï§í˛ä !ï˛l!ê˛ ≤ÃË˛yÓ xy Ï̂°yã˛ly Ü˛ Ï̂Ó˚y– 
23ä ÙôƒÎ%à#Î˚ Ùë˛à%!°Ó˚ Ü˛yÎ≈yÓ°# Ü˛# !SÈ°⁄ 

D xÌÓy 
ÙylÓï˛yÓy Ï̂òÓ˚ ôyÓ˚ly ˆÜ˛l •zï˛y!°Ó˚ ¢•Ó˚à%!° Ï̂ï˛ ≤ÃÌÙ ~ Ï̂§!SÈ°⁄ 



  

 

!ÓË˛yàÈüÈà / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 5 / 5 x 3 = 15
 

!l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 120!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ òyG– 
24ä §%Ê˛# Ü˛yÓ˚y⁄ §%Ê˛#Óy Ï̂òÓ˚ Ù)° ˜Ó!¢T˛ƒà%!° Ü˛# !SÈ°⁄
 
25ä Ü˛ Ï̂Ó •zÇ°ƒy Ï̂[˛ ˆàÔÓ˚ÓÙÎ˚ !Ó≤’Ó • Ï̂Î˚!SÈ°⁄ ~•z !Ó≤’ Ï̂ÓÓ˚ ˜Ó!¢T˛ƒà%!° Ü˛# !SÈ°⁄ 1+4
 

D xÌÓy
 §yÙhs˝ï˛sf Ü˛#⁄ Ü˛#Ë˛y Ï̂Ó ~Ó˚ ˛õï˛l • Ï̂Î˚!SÈ°⁄ 2+3
 

26ä Ú!¢“ !Ó≤’ÓÛ •zÇ°ƒy Ï̂[˛ ≤ÃÌÙ ˆÜ˛l ˆòáy !ò Ï̂Î˚!SÈ°⁄
 

!ÓË˛yàÈüÈâ / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 8 /  8 x 4 = 32 

!l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 250!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ òyG– 
27ä ˆÙ Ï̂§y˛õ Ï̂ê˛!ÙÎ̊yÓ̊ ≤Ãyã˛#l ¢•Ó̊ í z̨Ó̊ (Ur) §¡∫̂ Ïrô Îy•y çyl !°á– ̂ Ù Ï̂§y˛õ Ï̂ê˛!ÙÎ̊y §Ë˛ƒï˛yÓ̊ ¢•Ó̊ ̨õ!Ó̊Ü˛“lyÓ̊ Ù)° ̃ Ó!¢T˛ƒà%!° 

í ẑ̨ ÏÕ‘á Ü˛ Ï̂Ó˚y – 4+4
 

28ä ˆÓ˚yÙyl §y¡Ày Ï̂çƒÓ˚ fiÌy˛õï˛ƒ !¢ Ï̂“Ó˚ §y Ï̂Ì •z§°y!Ù fiÌy˛õï˛ƒ !¢ Ï̂“Ó˚ !Ü˛Ó)̨̊ õ ˛õyÌ≈Ü˛ƒ !SÈ°⁄
 
29ä ~Ü˛yò¢ ¢ï˛y∑# Ï̂ï˛ ≤ÃÎ%!=˛!ÓòƒyÓ˚ ˛õ!Ó˚Óï≈̨ l Ü˛#Ë˛y Ï̂Ó Ü,̨ !£Ï̂ ÏÜ˛ ≤ÃË˛y!Óï˛ Ü˛ Ï̂Ó˚!SÈ°⁄
 
30ä Ë˛yÓ˚ï˛#Î˚ xÌ≈l#!ï˛ Ï̂ï˛ •zÇ°ƒy Ï̂[˛Ó˚ !¢“!Ó≤’ Ï̂ÓÓ˚ ≤ÃË˛yÓ xy Ï̂°yã˛ly Ü˛ Ï̂Ó˚y–
 

xÌÓy 
ˆÙ•z!ç (Meiji) ¢y§lÜ˛y Ï̂° çy˛õy Ï̂lÓ˚ xÌ≈̃ Ïl!ï˛Ü˛ §ÇflÒyÓ˚ xy Ï̂°yã˛ly Ü˛Ó˚– 

Map Work
 

!ÓË˛yà ÈüÈ . /  ≤ÃÏŸ¿!ê˛Ó˚ Ùyl 4
 

31ä ˛õ,!ÌÓ#Ó˚ Ùyl!ã˛ Ï̂e !l¡¨!°!áï˛ fiÌylà%!° !ã˛!•´ï˛ Ü˛ Ï̂Ó˚y / 1 x 4
 

Ü˛ä °u˛l åáä ˆÓ˚yÙ åàä !Ë˛ Ï̂Î˚ly åâä Óyàòyò 



  

Model Question 

Class - XI : History : 80 Marks : 2020-2021 

Group-A : Each Question Carries 1 Mark : 1x20=20 

A) Choose the correct answer : 1x5=5 

1) The Present name of the Mesopotamia is –––– 

a) Iran b) Iraq c) Arab d) Baharain 

2) Mesopotamian Script was discovered in –– 

a) Mesopotamian b) Sumer c) Mari d) Uruk 

3) The name of the first Khalifa of Islam was –– 

a) Abu Bakr b) Umar c) Osman d) Ali 

4) The book ‘The Prince’ was written by –– 

a) Nicolo Machiavelli b) Ibn Rushd c) Leonordo da Vinci d) Michelangelo 

5) Christopher Columbus discovered America in –– 

a) 1490 ADb) 1492 ADc) 1498 ADd) 1890 AD 

B) Anser the following quesitons in a word/ sentences : 1x5=5 

6) Who was the famous ruler of Mari ?
 

7) What is the name of the Holy book of Christian ?
 

8) In which year Alexander conquered Babylon ?
 

9) What is the meaning of the word ‘Mesopotamia’?
 

10) Who was the last independent ruler of Babylon ?
 

11) Who wrote the epic ‘Gilgamesh’?
 

12) What do you mean by the ‘Augustan Age’?
 

13) Who was the founder of ‘Islam’?
 

14) What was Manar ?
 

15) Who was Leonardo da Vinci ?
 

16) When was the British East Inddia Company formed ?
 

17) Who invented the ‘Sprinning Jeeny’?
 

18) Where did the Industrial revolution begin at first ?
 

19) In which year atomic bombs on Hiroshima and Nagasaki were dropped ?
 

Group-B :  Each Question Carries 3 marks : 3x3=9 

Answer the following questions within 60 words. 

21) Mention the main features of the city of Babylon ? 

22) Discuss the three effects of the crusades in Europe. 

23) What were the functions of Medieval Monasteries ? 



 

       

* OR 

Why was the ideas of Humanism come in Italian towns at first ? 

Group-C  : Each Question Carries 5 marks : 5x3=15 

Answer the following questions in not more than 150 words : 

24) Who were Sufis ? What were the characteristics of Sufism ? 2+3
 

25) When was the ‘Glorious Revolution’ take place ? What were the effects of ‘Glorious Revolution’?


 OR 

What is Feudalism ? How did it decline ? 2+3 

26) Why did ‘Industrial Revolution’ take place in England at first ? 

Group-D : Each Question Carries 8 Marks : 8x4=32 

Answer the following questions within 250 words. 

27) What do you know about the ancient town Ur of Mesopotamia ? Mention the features of town
 
planing of Mesopotamian Civilisation . 4+4
 

28) How were the Islamic architectural forms different from those of the Roman empire ?
 

29) How did technological changes affect agriculture during 11th century ?
 

30) How did the Industrial Revolution of England affect India’s Economic condition ?
 

OR 

Discuss the important part of Meiji reform of economy of Japan. 

Group-E : Map Work : 4 Marks 

31. On the map of world locate the following places : 

a) London (b) Rome (c) Vienna  (d) Baghdad. 

* Additional Questions 



  
     

 

  

  
    

Model Question
 

Class - XI : Mathemaitcs : 80 Marks : 2020-2021
 

!ÓË˛yàÈüÈÜ˛ / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ ÙylÈüÈ1 / 1 x 20 = 20
 

1. { x, y, z} ˆ§ê˛!ê˛Ó˚ âyï˛ ˆ§ê˛ ˆ° Ï̂áy– 
2. Î!ò (x+3,5)=(6,2x+y) •Î˚ ï˛ Ï̂Ó x G y !lî≈Î˚ Ü˛ Ï̂Ó˚y– 
3. f : R → R, f(x)=x2+3 myÓ˚y ≤Ãò_ • Ï̂° {x: f(x)=28} !lî≈Î˚ Ü˛ Ï̂Ó˚y– 
4. §¡∫rô R ~Ó˚ ˆ«˛e ~ÓÇ ≤Ã§yÓ˚ !lî≈Î˚ Ü˛ Ï̂Ó˚y ˆÎáy Ï̂l R={(x+1, (x+5) : x ∈ (0,1,2,3,4,5,)} myÓ˚y §ÇK˛yï˛– 

11 π 
−5. Sin ~Ó˚ Ùyl Ü˛ï˛ ⁄

3 

1 1 
6. Î!ò tan θ ~ÓÇ tanφ  = •Î˚ ï˛ Ï̂Óñ tan (θ +φ ) ~Ó˚ Ùyl Ü˛ï˛⁄

2 3

7. 0  ˆÜ˛ ˆÓ˚!í˛Î˚y Ï̂l ≤ÃÜ˛y¢ Ü˛ Ï̂Ó˚y–5 37 30′′′ 
8. !òâyï˛§Ù#Ü˛Ó˚î x2+8=0 ~Ó˚ Ó#çà%̂ Ï°y ˆ° Ï̂áy– 

9. 12i–5 ~Ó˚ Ù!í˛í z̨°y§ !lî≈Î˚ Ü˛ Ï̂Ó˚y– 

10. §Ùyôyl Ü˛ Ï̂Ó˚y : 11x<10, x ~Ü˛!ê˛ fl∫yË˛y!ÓÜ˛ §Çáƒy– 

11. 6!, 8!, 9!, ~ÓÇ 11! ~Ó˚ °§yà% !lî≈Î˚ Ü˛ Ï̂Ó˚y– 

12. n ~Ó˚ Ùyl !lî≈Î˚ Ü˛ Ï̂Ó˚y Îál nC
7
=nC

5
 •Î˚– 

13. (1+2x+x2)20 ~Ó˚ !Óhfl,Ï!ï˛ Ï̂ï˛ ˛õò§Çáƒy !lî≈Î˚Ü ˛ Ï̂Ó˚y– 

14. P(0,2) ~ÓÇ Q (1,5) !Ó®%mÎ˚ §Ç Ï̂ÎyçÜ˛ ˆÓ˚áyÓ˚ l!ï˛ !lî≈Î˚ Ü˛ Ï̂Ó˚y– 

15. x2= – 8y x!ôÓ,_!ê˛Ó˚ ly!Ë˛Ó˚ fiÌylyAÜ˛ !lî≈Î˚ Ü˛ Ï̂Ó˚y– 

16. A(–2, 4, 1) ~ÓÇ B(1, 2, –5) ~Ó˚ ÙôƒÓï˛#≈ ò)Ó˚c !lî≈Î˚ Ü˛ Ï̂Ó˚y– 

17. (a, 1, 3), (–2, b, –5) ~ÓÇ (4, 7, c) ¢#£Ï≈!Ó®% !Ó!¢T˛ !eË%̨ Ï̂çÓ˚ Ë˛Ó˚̂ ÏÜ˛w Ù)°!Ó®% • Ï̂° a, b, c !lî≈Î˚ Ü˛ Ï̂Ó˚y– 

1− cos x 
18. Ùyl !lî≈Î˚ Ü˛ Ï̂Ó˚y / lim 

2 
x→0 x 

19.  ò%!ê˛ SÈE˛y Ï̂Ü˛ ~Ü˛§y Ï̂Ì ~Ü˛ÓyÓ˚ ˆSÈyí ¸̨y • Ï̂° ≤ÃyÆ ˆÎyàÊ˛ Ï̂°Ó˚ Ùyl 10 ˆÌ Ï̂Ü˛ ˆÓ!¢ ˛õí ¸̨yÓ˚ §Ω˛yÓly Ü˛ï˛ ⁄ 

20. ò%!ê˛ Ù%oy Ï̂«˛˛õ Ï̂l í z̨Ë˛Î˚•z ˆ•í‰̨  Óy í z̨Ë˛Î˚•z ˆê˛° ˛õí ¸̨yÓ˚ §Ω˛yÓly Ü˛ï˛ ⁄ 

!ÓË˛yàÈüÈá / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl ÈüÈ 2 / 2x6=12 

21. Ùyl !lî≈Î˚ Ü˛ Ï̂Ó˚y / Sin1300 Cos1100+Cos1300Sin1100\ 

5 + 2i 
22. Ï̂Ü˛ a+ib xyÜ˛y Ï̂Ó˚ ≤ÃÜ˛y¢ Ü˛ Ï̂Ó˚y–

1− 2i 

7 

3 x 3 

23. −  ~Ó˚ !Óhfl,Ï!ï˛ Ï̂ï˛ ˆ¢£Ï !òÜ˛ ˆÌ Ï̂Ü˛ ã˛ï%̨ Ì≈̨ õò!ê˛ !lî≈Î˚ Ü˛ Ï̂Ó˚y–
x 2 6 

24. x2+4y2+2x+16y+13=0 í z̨̨ õÓ,_!ê˛Ó˚ í z̨Í Ï̂Ü˛wï˛y !lî≈Î˚ Ü˛ Ï̂Ó˚y– 

( ) − 2f x 
25. Î!ò f(x) x Į̈̂ õ«˛Ü˛!ê˛Ó˚ çlƒ lim = π !§Âô •Î˚ñ ï˛ Ï̂Ó lim f ( ) x !lî≈Î˚ Ü˛ Ï̂Ó˚y–

x→1 x 2 
−1 x→1 



 

 

  

 

  
    

  
    

3 
26. A, B, C •° ~Ü˛!ê˛ §Ù§Ω˛Ó ̨õÓ˚#«˛yÓ˚ !ï˛l!ê˛ ̨õÓ˚flõÓ˚ ̨õ,ÌÜ˛ ~ÓÇ §¡õ)î≈ âê˛ly– Î!ò P(B)= P(A) ~ÓÇ 2P(C)=P(B) 

2

•Î˚ñ ï˛ Ï̂Ó P(A) !lî≈Î˚ Ü˛ Ï̂Ó˚y– 

!ÓË˛yàÈüÈà / Each Question Carries 4 Marks / 4x6=24 

27. Î!ò A G B ò%!ê˛ ˆ§ê˛ ∪  ~Ü˛!ê˛ §y!Ó≈Ü˛ ˆ§ê˛ ~Ó)̨̊ õ •Î˚ ˆÎ n( ∪ )=1000, n(A)=300, n(B)=400 ~ÓÇ 

n(A ∩ B)=200, ï˛ Ï̂Ó A  xÌÓy B ˆÜ˛y Ï̂ly!ê˛ Ï̂ï˛•z ˆl•z ~Ó)̨̊ õ ˆÙyê˛ ˛õò§Çáƒy !lî≈Î˚Ü˛ Ï̂Ó˚y– 

4 − x 
28. ÓyhflÏÓ x Į̈̂ õ«˛Ü˛ f ~Ó˚ ˆ«˛e G ≤Ã§yÓ˚ !lî≈Î˚ Ü˛ Ï̂Ó˚y ˆÎáy Ï̂l f(x) = myÓ˚y x Į̈̂ õ«˛Ü˛!ê˛ §ÇK˛yï˛–

x − 4 

D xÌÓy 

Î!ò f(x)=ax+b ˆÎáy Ï̂l a G b xáu˛ §Çáƒyñ f(–1)=–5 ~ÓÇ f(3)=3 •Î˚ñ ï˛ Ï̂Ó a G b !lî≈Î˚ Ü˛ Ï̂Ó˚y– 

29. 2z = |z|+2i §Ù#Ü˛Ó˚î!ê˛Ó˚ §Ùyôyl Ü˛ Ï̂Ó˚y– 

30. §Ùyôyl Ü˛ Ï̂Ó˚y 1 ≤ |x–2| ≤ 3 

D xÌÓy 
Ï̃°!áÜ˛Ó)̊̂ Į̈ õ §Ùyôyl Ü˛ Ï̂Ó˚y / 2x+y ≥ 4, x+y ≤ 3 ~ÓÇ 2x–3y ≤ 6 

1 1 1 
+ =31. Î!ò Ù)° !Ó®% ˆÌ Ï̂Ü˛ bx+ay=ab ˆÓ˚áyÓ˚ °¡∫ ò)Ó˚c p •Î˚ñ ï˛ Ï̂Ó ˆòáyG ˆÎ 2 2 2 a b p 

D xÌÓy 

x + 3y + 5 = 0 §Ó˚° Ï̂Ó˚áyÓ˚ §y Ï̂Ì 600 ˆÜ˛y Ï̂î lï˛ ~ÓÇ Ù)°!Ó®%àyÙ# §Ó˚° Ï̂Ó˚áyÓ˚ §Ù#Ü˛Ó˚î !lî≈Î˚ Ü˛ Ï̂Ó˚y– 

32. ≤ÃyÌ!ÙÜ˛ ï˛_¥yl%ÎyÎ˚# cos(x2+1) ~ÓÇ x ~Ó˚ §y Į̈̂ õ Ï̂«˛ xÓÜ˛° §•à !lî≈Î˚ Ü˛ Ï̂Ó˚y– 
!ÓË˛yàÈüÈâ / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 6 / 6 x 4 = 24 

2b 
33. Î!ò a cos 2θ  + bsin 2θ  = c ~Ó˚ ò%!ê˛ Ó#ç α  ~ÓÇ β  •Î˚ ï˛ Ï̂Ó ≤ÃÙyî Ü˛ Ï̂Ó˚y tan α + tan β = 

a + c 

xÌÓy 

4 π 4 3π 4 5π 4 7π
Ùyl !lî≈Î˚ Ü˛ Ï̂Ó˚y cos + cos + cos + cos 

8 8 8 8 

34.10 çl ˛õ%Ó%̊£Ï ~ÓÇ 7 çl Ù!•°yÓ˚ Ù Ï̂ôƒ ˆÌ Ï̂Ü˛ 6 ç Ï̂lÓ˚ ~Ü˛!ê˛ Ü˛!Ù!ê˛ àë˛l Ü˛Ó˚y • Ï̂Ó Îy Ï̂ï˛ xhs˝ï˛ 3çl ˛õ%Ó%̊£Ï ~ÓÇ 2 çl 

Ù!•°y ÌyÜ˛ Ï̂Ól– Î!ò !Ó Ï̂¢£Ï ò%•zçl Ù!•°y ~Ü˛•z Ü˛!Ù!ê˛ Ï̂ï˛ ÌyÜ˛ Ï̂ï˛ x§¡øï˛ •lñ ï˛ Ï̂Ó Ü˛ï˛ !Ó!Ë˛ß¨ í z̨̨ õy Ï̂Î˚ ~Ó)̨̊ õ Ü˛!Ù!ê˛ àë˛l Ü˛Ó˚y 
ÎyˆÏÓ⁄ 

9 
1 

35. (1+x+2x2) 
3 

x 2 −  ~Ó˚ !Óhfl,Ï!ï˛ Ï̂ï˛ x !lÓ˚̂ Į̈ õ«˛ ˛õò!ê˛ !lî≈Î˚ Ü˛ Ï̂Ó˚y–
2 3x 

xÌÓy 

1
2n 

1× 3 × 5 × ...... × (2 n −1) nˆòáyG ˆÎñ x −  ~Ó˚ !Óhfl,Ï!ï˛Ó˚ Ùôƒ˛õò!ê˛ •° × (−2) 
x n! 

36. ~Ü˛!ê˛ Óƒy Ï̂à 8!ê˛ °y° Ó° ~ÓÇ 5!ê˛ §yòy Ó° xy Ï̂SÈ– í ẑ̨ Ïj¢ƒ•#lË˛y Ï̂Ó ï˛y ˆÌ Ï̂Ü˛ !ï˛l!ê˛ Ó° ˆï˛y°y •°– 

(i) !ï˛l!ê˛ Ó°•z §yòy (ii) !ï˛l!ê˛ Ó°•z °y° (iii) ~Ü˛!ê˛ Ó° °y° ~ÓÇ ò%!ê˛ Ó° §yòy û •GÎ˚yÓ˚ §Ω˛yÓly !lî≈Î˚ Ü˛ Ï̂Ó˚y– 

D x!ï˛!Ó˚=˛ ≤ÃŸ¿yÓ°# 



      
   

  

  
     

    

  

 

  

   

 

   

   

   

 

 

   

  
    

 

     

Model Question
 

Class - XI : Mathematics : 80 Marks : 2020-2021
 

Section-A : Each Question Carries 1 Mark : 1 x 20 = 20
 

1. Write the power set of the set { x, y, z}. 

2. Find x and y, if (x+3, 5)=(6, 2x+y) 

3. let f : R→ R, be given by f(x)=x2+3, find {x:  f(x)=28} . 

4.	 Determine the domain and range of the relation R defined by R={(x+1, (x+5) : x ∈ (0,1,2,3,4,5,)} 

11 π 
−5. Find the value of Sin . 

3 

1 1 
6. If  tan θ = and tanφ = then what is the value of tan (θ +φ )˛⁄

2 3 

7. Express 0
′′ in radians.5 37 30′ 

8. Write the roots of the quadratic equation x2+8=0 . 

9. Find the modulus of 12i–5 . 

10. Solve : 11x<10, when x in a natural number. 

11. Find the LCM of 6!, 8!, 9! and 11! 

nC nC12. Find n if = . 
7 5 

13. Find the number of terms in the expansion of (1+2x+x2)20 . 

14. Find the slope of the line passing through the points P(0,2) and Q (1,5) . 

15. Find the Co-ordinate of the focus of the parabola x2 = – 8y 

16. Find the distance between the points A(–2, 4, 1) and B(1, 2, –5) . 

17. Centroid of a triangle with vertices (a, 1, 3), (–2, b, –5) and (4, 7, c) is at origin. Find the values 

of a, b, c .
 

1− cos x
 
18. Evaluate / lim 

2 
x→0 x 

19. Find the probability of getting a total more than 10 in a single throw of two dice. 

20. In a throw of two coins, find the probability of getting both heads or both tails. 

Section B : Each Question Carries 2 Marks : 2x6=12 

21. Evaluate / Sin1300 Cos1100+Cos1300Sin1100 

5 + 
22. Express in the form of a+ib . 

1− 2i 

7 

3 x 3 

23. Find the 4th term from the end in the expansion of − . 
x 2 6 

24. Find the eccentricity of the ellipse x2+4y2+2x+16y+13=0 . 

( ) − 2f x 
lim = π lim f ( ) x25. If the function f(x) satisfics	 , Evaluate . 
x→1 x 2 

−1	 x→1 

2i 



 

  

      

 

      

            

 

  

  
 

  

     

 

  
    

 
  
    

  

26. A, B, C are three mutually exclusive and exhaustive events associated with a random experi
 

3 
ment. Find P(A) if P(B)=  P(A) and 2P(C)=P(B) 

2

Section-C : Each Question Carries 4 Marks : 4x6=24 

27. If A and  B are two sets and˛ ∪ is a universal set such that n( ∪ )=1000, n(A)=300, n(B)=400 and 

n(A ∩ B)=200, Find the total number of elements which neither belong to A nor to B. 

4 − x 
28. Find the domain and range of the real function f defined by f(x) = . 

x − 4 

* OR 

If f(x)=ax+b, where a and b are integers, f (–1)= –5 and f(3)=3 then find a and b . 

29. Solve the equation 2z = |z|+2i . 

30. Solve : 1 ≤ |x–2| ≤ 3 

* OR 

Solve graphically / 2x+y ≥4, x+y ≤ 3 and 2x–3y ≤ 6 

31. If p be the length of the prependicular drawn from the origin to the line bx+ay=ab. Show that 

1 1 1 
+ + 

2 2 2 a b p 

* OR 

Find the equation of a line which passes through origin and making an angle 600 with the 

line x + 3y + 5 = 0 . 

32. Differentiate cos(x2+1) with respect to x using first principle. 

Section-D : Each Question Carries 6 Marks : 6x4=24 

2b 
33. If acos 2θ  + bsin 2θ  = c has α and β as its roots, then prove that tan α + tan β = 

a + c 

* OR 

4 π 4 3π 4 5π 4 7π 
Find the value of cos + cos + cos + cos 

8 8 8 8 

34. A committee of 6 is to be chosen from 10 men and 7 women so as to contain at least 3 men and 

2 women. In how many different ways can this be done, if two particular woman refuse to serve 

on the same committee ? 

9 
13 2 

35. Find the term independent of x in the expansion of (1+x+2x2) x − . 
2 3x 

* OR 

1
2n 

1× 3 × 5 × ...... × (2 n −1) n 
Show that the middle term in the expansion of x − is × (−2) 

x n! 

36. A bag contains 8 red and 5 white balls. Three balls are drawn at random. Find the probability 

that 

(i) all the three balls are white. 

(ii) all the three balls are red. 

(ii) one ball is red and two balls are white. 

* Additional Questions 



MODEL QUESTION 

Class - XI : Music : Time -2h : Full Marks- 45 : 2020-2021 

Unit-I 

1ä !l¡¨!°!áï˛ ò%•zçl §Çà#ï˛ Ï̂K˛Ó˚ ç#Ól# G §yÇà#!ï˛Ü˛ xÓòyl §¡õ Ï̂Ü≈̨  xy Ï̂°yã˛ly Ü˛Ó˚– 4x2=8 

Ü˛ä !Ó£÷Ï$!òÓà¡∫Ó˚ ˛õy°%‹ÒÓ˚– åáä °y°l Ê˛Ü˛#Ó˚– 

2ä ˛Ó˚Ó#w §Aà# Ï̂ï˛ ˆ°yÜ˛ §Çà# Ï̂ï˛Ó˚ ≤ÃË˛yÓ §¡õ Ï̂Ü≈̨  xy Ï̂°yã˛ly Ü˛Ó˚– 

Unit-II 

3ä åxä í z̨òy•Ó˚î§• §ÇK˛y !°á / åÜ˛ä §Aà#ï˛ åá˛ä fl∫Ó˚ åàä ˛õÜ˛í ¸̨ åâä Óyò#fl∫Ó˚ 2x4=8 

åxyä l# Ï̂ã˛Ó˚ ï˛y°ò%!ê˛Ó˚ Ùyeyñ !ÓË˛yà G ˆÓy° ˆ°á /

 åÜ˛ä ˆã˛Ôï˛y° åáä ~Ü˛ï˛y° 2x2=4 

4ä !l Ï̂ã˛Ó˚ ≤ÃŸ¿à%!°Ó˚ §!ë˛Ü˛ ~Ü˛ Ü˛ÌyÎ˚ í z̨_Ó˚ òyG / 1x11=11 

Ü˛ä •zÙl Ó˚y Ï̂àÓ˚ flÀT˛y ˆÜ˛⁄
 

áä ÚÜ ̨ !ÙÜ˛ ˛õ%hflÏÜ˛ Ùy!°Ü˛yÛ Ó•z!ê˛ Ü˛yÓ˚ ˆ°áy⁄
 

àä °y°l Ê˛!Ü˛Ó˚ Ü˛ Ï̂Ó çß√@˝Ã•î Ü˛ Ï̂Ó˚l⁄
 

âä •zÙl Ó˚y Ï̂àÓ˚ Óyò#fl∫Ó˚ Èüüü ày‡˛õy‡ôy ˆÜ˛yl!ê˛⁄
 

.ä ˜Ë˛Ó˚Ó Ó˚yà!ê˛ ˆÜ˛yl ë˛y Ï̂ê˛Ó˚ xhs˝à≈ï˛⁄
 

ã˛ä !eï˛˛y Ï̂°Ó˚ Ü˛Î˚!ê˛ Ùyey ûûûû– å8 / 10/ 16ä
 

SÈä Ó˚Ó#w §Çà# Ï̂ï˛ ˛õÎ≈yÎ˚ Ü˛Î˚!ê˛⁄
 

çä Ó˚Ó#w§,T˛ ~Ü˛!ê˛ ï˛y Ï̂°Ó˚ lyÙ ˆ° Ï̂áy–
 

V˛ä Ë)̨ ˛õy°# Ó˚y Ï̂à ˆÜ˛yl‰ ˆÜ˛yl‰ fl∫Ó˚ Ó!ç≈ï˛⁄
 

~èä Ü˛Ó#Ó˚ñ §%Ó˚òy§ñ Ù#Ó˚yÓy{ ÈüÈ ï˛yÓ˚y !SÈ Ï̂°l ûûû– åË˛çl àyÎ˚Ü˛‡Ü˛!Ó‡lyê˛ƒÜ˛yÓ˚ä
 

ê˛ä fl∫Ó˚!°!˛õ !Ü˛ ⁄
 

Unit-III 

5ä §Ç!«˛Æ ê˛#Ü˛y !°á / 3x2=6 

Ü˛ä ï˛yÓ˚yly åáä ˆ•y°# 

Unit-IV 

6ä  !l¡¨!°!áï˛ Ó˚yà!ê˛Ó˚ fiÌyÎ˚#Ó˚ fl∫Ó˚!°!˛õ !•®%fiÌyl# §Çà#ï˛ ˛õÂô!ï˛ Ï̂ï˛ !°á– 

ÚË)̨ ˛õy°#Û– 

4 

4 



MODEL QUESTION 

Class - XI : Music : Time -2h : Full Marks- 45 : 2020-2021 

Unit-I 

1. Discuss the life and the contribution any of the following musicians.	 4x2=8 

(i) V. D. Paluskar  (ii) Lalan Fakir 

2. Discuss the influence of Folk Sang in Rabindra Sangeet.	 4 

Unit-II 

3.(a) Write down the following definitions with example. 2x4=8 

i) Sangeet (ii) Swar (iii) Pakar (iv) Badi Swar. 

(b) Write down the following two tals with Matra, Division and Bol	 2x2=4 

i) Chowtal (ii) Ektal. 

4. Choose / Write the correct Answer :	 1x11=11 

i) Who is the composer of Rag Iman ?
 

ii) Who is the writer of the book ‘Kramik Pustak Malika’?
 

iii) When Lalan Fakir was born ?
 

iv) Which is the Badi Swar of Raga Eman ? Ga / Pa / Dha
 

v) To which ‘That’, ‘Bhairab’ Raga belongs ?
 

vi) Number of matra in Tritaal are ____. (8/10/16)
 

vii)How many Paryayas are there is Rabindra Sangeet ?
 

viii) Name one Tall created by Rabindranath.
 

ix) Which swar is barred in “Bhopali” Raga ?
 

x) Kabir, Surdas, Meerabai were ____ . (Bhajan Singers / Poets / Dramatists)
 

xi) What is ‘Notation’?
 

Unit-III 

5. Write short Notes on :	 3x2=6 

i) TARANA  (ii) HOLI 

Unit-IV 

6. Write the sthayee of the following Raga in Hindusthani Notation system :	 4

 BHOPALI. 



 

MODEL QUESTION
 
Class-XI  Philosophy Full Marks-80 

!ÓË˛yàÈüÈÜ˛ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 1 1x20=20 

I) ¢%Âô í z̨_Ó˚!ê˛ !ã˛!•´ï˛ Ü˛Ó˚ : 1x5 

1ä Ë˛yÓ˚ï˛#Î˚ ò¢≈l •° û
 
Ü˛ä ï˛ Ï̂_¥Ó˚ ò¢≈l áä ï˛ Ï̂ÌƒÓ˚ ò¢≈l åàä ˆ°Ô!Ü˛Ü˛ ò¢≈l åâä ≤Ãy Ï̂Î˚y!àÜ˛ ò¢≈l
 

2ä Ë˛yÓ˚ï˛#Î˚ ò¢≈̂ Ïl ly!hflÏÜ˛ §¡±òy Ï̂Î˚Ó˚ §Çáƒy •° û
 
Ü˛ä ò%•z åáä !ï˛l åàä ã˛yÓ˚ åâä ˛õÑyã˛
 

3ä Ë˛yÓ˚ï˛#Î˚ ò¢≈̂ Ïl ÎÌyÌ≈ K˛yl Ï̂Ü˛ Ó°y •Î˚ û
 
Ü˛ä ≤ÃÙy åáä ≤ÃÙyî åàä ≤Ã Ï̂ÙÎ˚ åâä ≤ÃÙyï˛y
 

4ä Ë˛yÓ˚ï˛#Î˚ ò¢≈l Ù Ï̂ï˛ñ ˛õÓ˚Ù ˛õ%Ó%̊£ÏyÌ≈ •° û
 
Ü˛ä ôÙ≈ åáä xÌ≈ åàä Ü˛yÙ åâä ˆÙy«˛
 

5ä lƒyÎ˚ ò¢≈̂ ÏlÓ˚ ≤Ã!ï˛¤˛yï˛y • Ï̂°l û
 
Ü˛ä Ù•!£Ï≈ ˆàÔï˛Ù åáä Ù•!£Ï≈ Ü˛îyò åâä Ù•!£Ï≈ Ü˛!˛õ° åâä Ù•!£Ï≈ ˛õï˛O!°
 

II) !l Ï̂ã˛Ó˚ ≤ÃŸ¿à%̂ Ï°y ~Ü˛!ê˛ ¢ Ï̂∑ Óy ~Ü˛!ê˛ Óy Ï̂Ü˛ƒ í z̨_Ó˚ òyG : 1x15 

6ä x Ï̂°Ô!Ü˛Ü˛ ≤Ãï˛ƒ«˛ Ü˛ï˛ ≤ÃÜ˛yÓ˚ ⁄
 
7ä ˛õÓ˚yÙ¢≈ çlƒ K˛yl Ï̂Ü˛ Ü˛# Ó°y •Î˚⁄
 
8ä  ã˛yÓ≈yÜ˛ Ù Ï̂ï˛ ≤ÃÙyî Ü˛ï˛ ≤ÃÜ˛yÓ˚ ⁄
 
9ä ˆÓÔÂô Ü˛yÎ≈Ü˛yÓ˚îÓy Ï̂òÓ˚ lyÙ Ü˛#⁄
 
10ä ÚçylyÛ !Ü ̨ Î˚y˛õò!ê˛ Ü˛Î˚!ê˛ x Ï̂Ì≈ ÓƒÓ•,ï˛ •Î˚⁄
 
11ä xyô%!lÜ˛ x!Ë˛K˛ï˛yÓy Ï̂òÓ˚ çlÜ˛ ˆÜ˛ ⁄
 
12ä xy!Ù !ã˛hs˝y Ü˛!Ó˚ xï˛~Ó xy!Ù xy!SÈ û í z̨!=˛!ê˛ Ü˛yÓ˚⁄
 
13ä K˛y Ï̂lÓ˚ í z̨Í§ §¡õ Ï̂Ü≈̨  Ü˛y Ï̂rê˛Ó˚ Ùï˛Óy Ï̂òÓ˚ lyÙ Ü˛#⁄
 
14ä l#!ï˛!ÓòƒyÓ˚ xy Ï̂°yã˛ƒ !Ó£ÏÎ˚Ó› Ü˛#⁄
 
15ä •zÇ Ï̂Ó˚ç# Good Ü˛Ìy!ê˛Ó˚ í z̨Í˛õ!_Ó˚ çyÙ≈yl ¢∑!ê˛ Ü˛#⁄
 
16ä ˙!FSÈÜ˛ !Ü ̨ Î˚yÓ˚ Ü˛Î˚!ê˛ hflÏÓ˚ ⁄
 
17ä xl%Ùyl Îál Ë˛y£ÏyÎ˚ ≤ÃÜ˛y!¢ï˛ •Î˚ ï˛ál ï˛y Ï̂Ü˛ Ü˛# Ó Ï̂°⁄
 
18ä Óã˛lyÜ˛y Ï̂Ó˚ Ü˛# Ìy Ï̂Ü˛ ly⁄
 
19ä ˛õ!Ó˚Ùy Ï̂îÓ˚ !òÜ˛ ˆÌ Ï̂Ü˛ Óã˛l Ü˛ï˛ ≤ÃÜ˛yÓ˚ ⁄
 
20ä ‘O’ Óã˛ Ï̂lÓ˚ Óƒy˛õƒ ˛õò ˆÜ˛yl!ê˛⁄
 

!ÓË˛yàÈüÈá ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ ÙylÈüÈ2 2x10=20 

!l¡¨!°!áï˛ ≤ÃŸ¿à%!°Ó˚ §Ç!«˛Æ í z̨_Ó˚ òyG å40!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒä 
21ä Ë˛yÓ˚ï˛#Î˚ ò¢≈̂ Ïl Úò¢≈lÛ Ü˛Ìy!ê˛Ó˚ Ó%ƒÍ˛õ!_àï˛ xÌ≈ Ü˛#⁄
 
22ä xy!hflÏÜ˛ ò¢≈l Ó° Ï̂ï˛ Ü˛# ˆÓyV˛⁄
 
23ä lƒyÎ˚Ù Ï̂ï˛ §!ß¨Ü˛£Ï≈ Ü˛y Ï̂Ü˛ Ó Ï̂°⁄
 
24ä §yÙylƒ°«˛î ≤Ãï˛ƒ«˛ Ü˛y Ï̂Ü˛ Ó Ï̂°⁄
 
25ä Ë)̨ ï˛ã˛ï%̨ T˛Î˚Óyò Ó° Ï̂ï˛ Ü˛# ˆÓyV˛⁄
 
26ä myò¢!lòyl Ü˛#⁄
 



27ä Ó%!ÂôÓy Ï̂òÓ˚ Ù)° Ó=˛Óƒ Ü˛#⁄
 
28ä ˜l!ï˛Ü˛ G x Ï̃l!ï˛Ü˛ !Ü ̨ Î˚yÓ˚ Ù Ï̂ôƒ ò%!ê˛ ˛õyÌ≈Ü˛ƒ !°á–
 

29ä !l¡¨!°!áï˛ !Ü ̨ Î˚yà%!° l#!ï˛§¡øï˛ ly l#!ï˛ Ó!•Ë)≈̨ ï˛ ï˛y !lî≈Î˚ Ü˛Ó˚– 1+1
 

Ü˛ä ˛õyà Ï̂°Ó˚ xyã˛Ó˚î–
 
áä Óƒ!=˛Ó˚ ≤Ã!ï˛Óï≈̨  !Ü ̨ Î˚y–
 

30ä !l¡¨!°!áï˛ ÓyÜ˛ƒà%!° Ï̂Ü˛ ï˛Ü≈̨ !ÓK˛yl§¡øï˛ Óã˛ Ï̂l Ó)̨̊ õyhs˝Ó˚ Ü˛Ó˚– 1+1
 

Ü˛ä í z̨ê˛˛õy!á Ü˛álG í z̨í ¸̨̂ Ïï˛ ˛õy Ï̂Ó˚ ly–
 
áä ˆÜ˛Ó°Ùye ≤ÃyÆÓÎ˚flÒ Ï̂òÓ˚•z ˆË˛yê˛òy Ï̂lÓ˚ x!ôÜ˛yÓ˚ xy Ï̂SÈ–
 

!ÓË˛yàÈüÈà ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 4 4x4=16 

≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 100 ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ òyG / 
31ä Óƒy!Æ Ü˛y Ï̂Ü˛ Ó Ï̂°⁄ Óƒy!Æ Ü˛ï˛ ≤ÃÜ˛yÓ˚ G !Ü˛ !Ü˛ ⁄ í z̨òy•Ó˚î§• Óƒyáƒy Ü˛Ó˚– 1+1+2 

32ä ˆÓÔÂô ≤Ãï˛#ï˛ƒ§Ù%Í˛õyòÓyò Óƒyáƒy Ü˛Ó˚– 
D xÌÓy 

ˆÓÔÂô ò¢≈̂ Ïl xT˛y!AàÜ˛ Ùyà≈ §Ç Ï̂«˛ Į̈̂ õ xy Ï̂°yã˛ly Ü˛Ó˚– 
33ä ÚÓyã˛!lÜ˛ K˛ylÛ Ü˛y Ï̂Ü˛ Ó Ï̂°⁄ Óyã˛!lÜ˛ K˛y Ï̂lÓ˚ xyÓ!¢ƒÜ˛ ¢ï≈̨ à%!° Ü˛# Ü˛# ⁄ xy Ï̂°yã˛ly Ü˛Ó˚– 
34ä à%î G ˛õ!Ó˚Ùy Ï̂îÓ˚ §ÇÎ%=˛ !Ë˛!_ Ï̂ï˛ Óã˛l Ü˛ï˛ ≤ÃÜ˛yÓ˚ G !Ü˛ !Ü˛ ⁄ í z̨òy•Ó˚î§• Óƒyáƒy Ü˛Ó˚– 2+2 

D xÌÓy 
˛õ Ï̂òÓ˚ Óƒy˛õƒï˛y Ó° Ï̂ï˛ Ü˛# ˆÓyV˛⁄ A, E,I G O Óã˛ Ï̂l ˆÜ˛yl‰ ˆÜ˛yl‰ ˛õò Óƒy˛õƒ G xÓƒy˛õƒñ ï˛y í z̨òy•Ó˚î§• Óƒyáƒy Ü˛Ó˚–1+3 

!ÓË˛yàÈüÈâ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 6 6x4=24 

≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 150 ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ òyG / 
35ä ˛õ%Ó%̊£ÏyÌ≈ Ó° Ï̂ï˛ Ü˛# ˆÓyV˛yÎ˚⁄ Ë˛yÓ˚ï˛#Î˚ ò¢≈̂ Ïl Ï̂Ùy«˛ Ï̂Ü˛ ˛õÓ˚Ù˛õ%Ó%̊£ÏyÌ≈ Ó°y •Î˚ ˆÜ˛l⁄ xy Ï̂°yã˛ly Ü˛Ó˚– 1+5 

36ä lƒyÎ˚Ù Ï̂ï˛ ≤Ãï˛ƒ Ï̂«˛Ó˚ §ÇK˛y òyG– !l!Ó≈Ü˛“Ü˛ G §!ÓÜ˛“Ü˛ ≤Ãï˛ƒ Ï̂«˛Ó˚ Ù Ï̂ôƒ ˛õyÌ≈Ü˛ƒ í ẑ̨ ÏÕ‘á Ü˛Ó˚– 2+4 

xÌÓy 
ˆ°Ô!Ü˛Ü˛ §!ß¨Ü˛ Ï̂£Ï≈Ó˚ ≤ÃÜ˛yÓ˚̂ ÏË˛ò ò,T˛yhs˝§• xy Ï̂°yã˛ly Ü˛Ó˚–
 

37ä ÚÚ≤Ãï˛ƒ«˛•z ~Ü˛Ùye ≤ÃÙyîÛÛ û ~•z ã˛yÓ≈yÜ˛ Ùï˛!ê˛ §!Óã˛yÓ˚ Óƒyáƒy Ü˛Ó˚–
 
38ä K˛y Ï̂lyÍ˛õ!_ §¡õ Ï̂Ü≈̨  x!Ë˛K˛ï˛yÓy Ï̂òÓ˚ Ù)° Ó=˛Óƒ §ÈüÈ!Óã˛yÓ˚ xy Ï̂°yã˛ly Ü˛Ó˚–
 

xÌÓy 
K˛y Ï̂lyÍ˛õ!_ §¡õ Ï̂Ü≈̨  Ü˛y Ï̂rê˛Ó˚ !Óã˛yÓ˚Óy Ï̂òÓ˚ Ù)°Ó=˛Óƒ Óƒyáƒy G !Óã˛yÓ˚ Ü˛Ó˚– 4+2

 D x!ï˛!Ó˚=˛ ≤ÃŸ¿ 



MODEL QUESTION
 

Class-XI Philosophy Full Marks-80 

Group-A Each Question carries 1 mark : 1x20 

A) Choose the correct answer : 1x5 

1. Indian Philosophy is – 

a) Philosophy of ultimate reality. (b) Informative philosophy (c) Laukik (ordinary) 

philosophy (d) Applied philosophy. 

2. In Indian Philosophy, Number of Nastika schools are -

a) Two (b) Three (c) Four (d) Five 

3. In Indian Philosophy, valid cognition is called -

a) Prama (b) Pramana (c) Prameya (d) Pramata 

4. 	According to Indian Philosophy, the highest state of Purusartha is -

a) Dharma (b) Artha (c) Kama (d) Koksa 

5. The Founder of Nyaya Philosophy is -

a) Maharshi Gautama (b) Maharshi Kanada (c) Maharshi Kapila (d) Maharshi Patanjali 

B) Answer the Questions in one word or one sentence : 1x15 

6. What kinds of Extra ordinary perception ? 

7. Which is called ‘Paramarsha Janya Gyanan ? 

8. According to ‘Charvaka’ many kinds of ‘Pramana’  ? 

9. What is the name of ‘the Causal Theory of Buddism ? 

10. How many meanings does the verb of ‘Know’ have ? 

11.  Name the father of ‘Modern Empiricism’. 

12. ‘I think therefore, I exist’ - Who said this ? 

13. What is the name of kant’s theory of knowledge ? 

14. What is the subject matter (Province or scope) of ‘Ethics’? 

15. The English word ‘Good’ derived from which German word ? 

16. How many stages of voluntary actions ? 

17. What is called, When an inference is expressed through language ? 

18. What are the absentees of proposition from composed ? 

19. How many kinds of proposition accroding to ‘quantity’? 

20. Which term is undistributed in ‘O’ proposition. 

Group-B Each Question Carries 1 Mark :	 2x8=16 

Answer the following questions in 40 words : 

21. What is the etymological meaning of the term ‘Darshana’ ? 

−22. What do you mean by orthodox ( Astika) Philosophy ? 

−23. What is Sannikarsa according to Nya ya  ? 

24. What is Universal preception (Samanyalaksana pratyaksa) ? 



25. What are meant by bhuta catustayavada ? 

26. What is twelve links of causation (Dvadasridan) ? 

27. What are the main tenets of Rationalism ? 

28. Indicate two points of difference between Moral action and Non-moral action. 

29. Determine whether the following actions are moral or non-moral. 

a) Conduct of Insane person. 

b) Reflex action of man. 

30. Translate the following sentences into logical proposition. 

a) Ostrich can never fly. (b) Only adults have right to vote. 

Group-C Each Questions Carries 4 Marks 4x4=16 

Answer each questions within 100 words : 

31. What is invariable concomitance (vyapti) ? How many kinds of vyapti are there ? Name 

them and explain them with example . 1+1+2 

32. Explain the Buddha doctrine of dependent origination (Pratityasamutpada). 

* OR 

Discuss in short the noble eight-fold path of Bauddha Philosophy (Astangikmarga). 

33. What is propositional knowledge ? What are the necessary conditions of propositional 

knowledge ? Discuss. 1+3 

34. How many kinds of propositions according to the joint principle of quality and quantity? 

Name them and explain them with example. 2+2 

* OR 

What is meant by distribution of terms in a proposition ? Indicate with example the terms 

distributed and undistributed in A, E, I and O proposition. 1+3 

Group-D Each Question Carries 6 Marks :  6x4=24 

Answer the questions within 150 words : 

35. What is meant by purusartha (values of human life)? Why liberation (Moksa) is called the 

highest state of purusartha ? Discuss. 1+5 

36. Give the definitation of perception (pratyaksa) according to Nyaya. Distinguish between 

Indeterminate (Ninikalpaka) and Determinate (Savikalpaka) perception. 

OR 

Discuss with Example the different types of ordinary (Laukika) sannikarsa. 

37. ‘Reception is the only means of valid cognition (Pramana)’ - Explain this Carvaka’s view 

with examination. 

38. Discuss the main tenets of Empiricism about the origin of knowledge & Examine it. 

OR 

Explain and Examine the main tenets of Kant’s critism about the origin of knowledge. 

* Additional Question 



 

 

 

 

Model Question 

Class - XI : Physics : 70 Marks : 2020-2021 

!ÓË˛yàÈüÈÜ˛ : ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ ÙylÈüÈ1 : 1 x 20 = 20 

1ä	 ˛y = A Sin (wt – kx) (in m) - ~•z §Ù#Ü˛Ó˚î!ê˛ Ï̂ï˛ x-ˆÜ˛ m ~Ü˛ Ï̂Ü˛ ~ÓÇ t-ˆÜ˛ s ~Ü˛ Ï̂Ü˛ ≤ÃÜ˛y¢ Ü˛Ó˚y • Ï̂Î˚̂ ÏSÈ– 
w ~ÓÇ k ~Ó˚ Ùyey §Ù#Ü˛Ó˚î!ê˛ ˆ°á– 

2ä  ~Ü˛!ê˛ Ó› Ï̂Ü˛ í z̨Õ‘¡∫Ë˛y Ï̂Ó í ẑ̨ Ïô≈ í z̨Í Ï̂«˛˛õ Ü˛Ó˚y • Ï̂°y ~ÓÇ Ó›!ê˛ xyÓyÓ˚ í z̨Í Ï̂«˛˛õl !Ó®%̂ Ïï˛ !Ê˛ Ï̂Ó˚ ~ Ï̂°y– ~•z Ó›!ê˛Ó˚ à!ï˛Ó˚ 
ˆÓàÈüÈ§ÙÎ˚ ˆ°á!ã˛e!ê˛ xAÜ˛l Ü˛Ó˚– 

D xÌÓy 
~Ü˛!ê˛ òy°y Ï̂lÓ˚ SÈyò ˆÌ Ï̂Ü˛ ~Ü˛!ê˛ Ó› Ï̂Ü˛ xl%Ë)̨ !ÙÜ˛Ë˛y Ï̂Ó !l Ï̂«˛˛õ Ü˛Ó˚y • Ï̂°y– Ó›!ê˛Ó˚ à!ï˛ Ï̂Ó Ï̂àÓ˚ xl%Ë)̨ !ÙÜ˛ í z̨̨ õyÇ¢ G 
í z̨°¡∫ í z̨̨ õyÇ Ï̂¢Ó˚ çlƒ ˆÓàÈüÈ§ÙÎ˚ ˆ°á!ã˛e!ê˛ xAÜ˛l Ü˛Ó˚– 

3ä ~Ü˛!ê˛ !l!ò≈T˛ ò)Ó˚c ˆÌ Ï̂Ü˛ 600 ˆÜ˛y Ï̂î ~Ü˛!ê˛ ˆày°y Ï̂Ü˛ !l Ï̂«˛˛õ Ü˛ Ï̂Ó˚ ˆÜ˛y Ï̂ly ~Ü˛!ê˛ ê˛y Ï̂à≈ê˛ Ï̂Ü˛ xyâyï˛ Ü˛Ó˚y ÎyÎ˚– x˛õÓ˚ 
ˆÜ˛yl‰ ˆÜ˛y Ï̂î ˆày°y!ê˛ Ï̂Ü˛ !l Ï̂«˛˛õ Ü˛Ó˚̂ Ï° !l!ò≈T˛ ò)̂ ÏÓ˚Ó˚ ˙ ê˛y Ï̂à≈ê˛ Ï̂Ü˛ xyâyï˛ Ü˛Ó˚y Îy Ï̂Ó⁄ 

4ä Î!ò ~Ü˛!ê˛ à!ï˛¢#° Ü˛îyÓ˚ cÓ˚î §Ù Ï̂Î˚Ó˚ §y Į̈̂ õ Ï̂«˛ ˛õ!Ó˚Óï≈̨ l¢#° •Î˚ ï˛ Ï̂Ó cÓ˚îÈüÈ§ÙÎ˚ ˆ°á!ã˛ Ï̂e ˆÜ˛y Ï̂ly §ÙÎ˚ÈüÈxÓÜ˛y Ï̂¢ 
xhs˝Ë%≈̨ =˛ xM˛ Ï̂°Ó˚ ˆ«˛eÊ˛° Ü˛# !l Ï̂ò≈¢ Ü˛ Ï̂Ó˚⁄ 
ggd	 ggd 

5ä	 A = ɵi + 2 ɵj + 2kɵ ~ÓÇ B = ɵi − ɵj + nk ɵ ˆË˛QÓ˚mÎ˚ ˛õÓ˚flõ Ï̂Ó˚Ó˚ í z̨̨ õÓ˚ °¡∫ • Ï̂° n ~Ó˚ Ùyl Ü˛ï˛ !lî≈Î˚ Ü˛Ó˚– 

6ä !ÓÓ˚yÙ ˆÜ˛yî G â£Ï≈î ˆÜ˛y Ï̂îÓ˚ Ù Ï̂ôƒ §¡õÜ≈̨  !Ü˛Ó)̨̊ õ ⁄
 
7ä m Ë˛ Ï̂Ó˚Ó˚ ~Ü˛!ê˛ Ó› í z̨°¡∫ï˛ Ï̂° Ó,_yÜ˛yÓ˚ ̨õ Ï̂Ì §Ó≈!l¡¨ ̂ Ó Ï̂à â)î≈l¢#° • Ï̂° ̇  ̨õ Ï̂ÌÓ˚ § Ï̂Ó≈yFã˛ !Ó®%̂ Ïï˛ Ó›!ê˛Ó˚ xy˛õyï˛ÈüÈGçl
 

˛õ#
í¸̨

î 
Ü˛ï˛ • Ï̂Ó⁄ 

8ä ~Ü˛!ê˛ •y°Ü˛y Ó› G ~Ü˛!ê˛ x Į̈̂ õ«˛yÜ,̨ ï˛ Ë˛yÓ˚# Ó› ~Ü˛•z à!ï˛¢!=˛ !l Ï̂Î˚ ã˛° Ï̂SÈ– Ó› ò%!ê˛ Ï̂Ü˛ ~Ü˛•z Ó° ≤Ã Ï̂Î˚yà Ü˛ Ï̂Ó˚ 
!fiÌï˛yÓfiÌyÎ˚ xyly •°– Ó›ò%!ê˛Ó˚ Ù Ï̂ôƒ ˆÜ˛yl‰!ê˛ Ü˛Ù ò)Ó˚̂ Ïc ~ Ï̂§ ˆÌ Ï̂Ù Îy Ï̂Ó⁄ 

9ä çí ¸̨ï˛yÈüÈºyÙ Ï̂Ü˛Ó˚ ï˛yÍ˛õÎ≈ Ü˛#⁄ 
D xÌÓy 

Óƒy!Ó!ê˛Ç !Ü˛⁄ 
10ä ~Ü˛!ê˛ xylï˛ ï˛ Ï̂°Ó˚ í z̨̨ õÓ˚ ˆÌ Ï̂Ü˛ ~Ü˛•z Ó˚Ü˛ Ï̂ÙÓ˚ ò%!ê˛ ˆã˛y. !fiÌÓ˚ xÓfiÌy ˆÌ Ï̂Ü˛ Îyey ¢%Ó%̊ Ü˛Ó˚°– ~ Ï̂òÓ˚ Ù Ï̂ôƒ ≤ÃÌÙ!ê˛ ly 
•í ¸̨!Ü˛ Ï̂Î˚ §¡õ)î≈Ë˛y Ï̂Ó à!í ¸̨̂ ÏÎ˚ ˆà° xyÓ˚ !mï˛#Î˚ ly à!í ¸̨̂ ÏÎ˚ §¡õ)î≈Ë˛y Ï̂Ó •í ¸̨!Ü˛ Ï̂Î˚ ˆà°– í z̨Ë˛Î˚ ˆ«˛ Ï̂e Îy!sfÜ˛ ¢!=˛ xlƒ ˆÜ˛y Ï̂ly
 
¢!=˛ Ï̂ï˛ x˛õ!ã˛ï˛ •Î˚!l ô Ï̂Ó˚ !l Ï̂° ˆã˛y. ò%!ê˛Ó˚ Ù Ï̂ôƒ ˆÜ˛yl!ê˛ xy Ï̂à xylï˛ï˛ Ï̂°Ó˚ ˛õyò Ï̂ò Ï̂¢ ˆ˛õÔÑSÈ Ï̂Ó⁄
 
11ä ˛õ,!ÌÓ#˛õ,¤˛ ̂ Ì Ï̂Ü˛ h í z̨Fã˛ï˛yÎ˚ ~ÓÇ ̨õ,!ÌÓ#˛õ,¤˛ ̂ Ì Ï̂Ü˛ d àË˛#Ó˚ï˛yÎ˚ g-~Ó˚ ̨õ!Ó˚Óï≈̨ Ï̂lÓ˚ Ùyl §Ùyl • Ï̂° h ~ÓÇ dÈüÈ~Ó˚ Ù Ï̂ôƒ
 
§¡õÜ≈̨  !lî≈Î˚ Ü˛Ó˚– ô Ï̂Ó˚ lyG ˆÎñ h << R, ˆÎáy Ï̂l R •° ˛õ,!ÌÓ#Ó˚ Óƒy§yô≈–
 

12ä ò%!ê˛ ˛õòyÌ≈ A ~ÓÇ B ~Ó˚ ˛õ#í ¸̨îÈüÈ!ÓÜ,̨ !ï˛ ˆ°á!ã˛e!ê˛ !l Ï̂ã˛ ˆòáy Ï̂ly • °– 
~ Ï̂òÓ˚ Ù Ï̂ôƒ ˆÜ˛yl ˛õòyÌ≈!ê˛ x!ôÜ˛ï˛Ó˚ ò,ì ¸̨– 

13ä 1cm Óƒy§y Ï̂ô≈Ó˚ ~Ü˛!ê˛ l Ï̂°Ó˚ ˆË˛ï˛Ó˚ !ò Ï̂Î˚ 6cm / s Ï̂Ó Ï̂à ç° ≤ÃÓy!•ï˛ • Ï̂FSÈ– â Ï̂Ó˚Ó˚ ï˛y˛õÙyeyÎ˚ ç Ï̂°Ó˚ §ywï˛y à%îyAÜ˛ 
0.01 Poise • Ï̂° ç Ï̂°Ó˚ ≤ÃÓy Ï̂•Ó˚ ≤ÃÜ,̨ !ï˛ !lÓ)̨̊ õî Ü˛Ó˚–
 
14ä 40C ï˛y˛õÙyeyÓ˚ ç° !ò Ï̂Î˚ ~Ü˛!ê˛ Ó#Ü˛yÓ˚̂ ÏÜ˛ Ü˛yîyÎ˚ Ü˛yîyÎ˚ ˛õ)î≈ Ü˛Ó˚y •°– !ÓÜ˛yÓ˚!ê˛ Ï̂Ü˛ àÓ˚Ù Ü˛Ó˚y • Ï̂° !Ü˛ÇÓy ë˛yu˛y Ü˛Ó˚y
 
• Ï̂° !ÓÜ˛y Ï̂Ó˚Ó˚ í z̨̨ õ!ã˛ Ï̂Î˚ ˛õ Ï̂Ó˚ ˆÜ˛l⁄
 
15ä ï˛y˛õà!ï˛!ÓòƒyÓ˚ ≤ÃÌÙ §)e!ê˛ !ÓÓ,ï˛ Ü˛Ó˚–
 
16ä ï˛y˛õà!ï˛!ÓòƒyÓ˚ ¢)lƒï˛Ù §)̂ ÏeÓ˚ §y•y Ï̂Îƒ ï˛y˛õÙyeyÓ˚ ôyÓ˚îy òyG–
 

A 

B 

È!ÓÜ,̨ !ï˛ 



 
 

 
 

 

 

 

17ä §ÇÜ˛ê˛ ï˛y˛õÙyey Ó° Ï̂ï˛ !Ü˛ Ó%V˛⁄ 
18ä ˆÜ˛yl‰ xÓfiÌy Ï̂l ~Ü˛!ê˛ §Ó˚° Ï̂òy°à!ï˛§¡õß¨ ˆÜ˛y Ï̂ly Ü˛îyÓ˚ à!ï˛¢!=˛ Ü˛îy!ê˛Ó˚ § Ï̂Ó≈yFã˛ à!ï˛¢!=˛Ó˚ x Ï̂ô≈Ü˛ • Ï̂Ó⁄ 
19ä ˆÜ˛y Ï̂ly !ÓFS%ÈÓ˚Ü˛ Ùyôƒ Ï̂ÙÓ˚ Ù Ï̂ôƒ !ò Ï̂Î˚ ï˛Ó˚Aà !ÓhflÏy Ï̂Ó˚Ó˚ §ÙÎ˚ ï˛Ó˚̂ ÏAàÓ˚ xyÜ,̨ !ï˛ !ÓÜ,̨ ï˛ •Î˚ Ï̂Ü˛l⁄ 
20ä ò%!ê˛ ˆ§ï˛yÓ˚ ï˛yÓ˚ A ~ÓÇ BÈüÈˆï ÚôyÛ §%Ó˚!ê˛ §yÙylƒ §%Ó˚ ˛õyÌ≈̂ ÏÜ˛ƒ ˆÓ Ï̂ç 5Hz Ü˛¡õy Ï̂AÜ˛Ó˚ fl∫Ó˚Ü˛¡õ §,!T˛ Ü˛ Ï̂Ó˚– ~ÓyÓ˚ B 

ï˛y Ï̂Ó˚Ó˚ ê˛yl §yÙylƒ Óyí ¸̨y Ï̂ly •°– ~Ó˚ Ê˛ Ï̂° ï˛yÓ˚m Ï̂Î˚Ó˚ Ü˛¡õ Ï̂lÓ˚ òÓ%̊î §,T˛ fl∫Ó˚Ü˛¡õ Ü˛ Ï̂Ù 3Hz •Î˚– A ï˛y Ï̂Ó˚Ó˚ Ü˛¡õyAÜ˛ 
427 • Ï̂° B ï˛y Ï̂Ó˚Ó˚ Ü˛¡õyAÜ˛ ≤ÃÌ Ï̂Ù Ü˛ï˛ !SÈ°⁄ 

!ÓË˛yàÈüÈá : ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 2 : 2 x 7 = 14 

21ä ÚxÓy Ï̂ô ˛õï˛l¢#° Ó›Ó˚ Gçl ¢)lƒ •Î˚Û ÈüüüÈ Óƒyáƒy òyG– 

−1 −122ä 0.5 kg Ë˛ Ï̂Ó˚Ó˚ ~Ü˛!ê˛ Ó› §Ó˚° ˆÓ˚áy ÓÓ˚yÓÓ˚ V= α . 
× 2

3 
à!ï˛ Ï̂Óà !l Ï̂Î˚ ã˛° Ï̂SÈñ ˆÎáy Ï̂l , α = 5m s 

x = 0 xÓfiÌyl ˆÌ Ï̂Ü˛ x = 2m xÓfiÌy Ï̂l Ó›!ê˛Ó˚ §Ó˚̂ ÏîÓ˚ çlƒ ˆÙyê˛ Ó Ï̂°Ó˚ myÓ˚y Ü,̨ ï˛Ü˛yÎ≈ Ü˛ï˛ • Ï̂Ó⁄ 
D xÌÓy 

7 ms–1 ˆÓ Ï̂à l# Ï̂ã˛Ó˚ !ò Ï̂Ü˛ à!ï˛¢#° ~Ü˛!ê˛ !°Ê˛ Ï̂ê˛Ó˚ SÈyò ˆÌ Ï̂Ü˛ 0.3 kg Ë˛ Ï̂Ó˚Ó˚ ~Ü˛!ê˛ ˆÓyŒê˛ !°Ê˛ Ï̂ê˛Ó˚ ˆÙ Ï̂V˛ Ï̂ï˛ ˛õí ¸̨̂ Ï°y– 
ˆÙ Ï̂V˛ Ï̂ï˛ ̨õí ¸̨yÓ˚ ̨ õÓ˚ Ó›!ê˛ ≤Ã!ï˛!«˛Æ ly • Ï̂° ~•z §Çây Ï̂ï˛ í z̨Í˛õy!òï˛ ï˛y˛õ Ü˛ï˛ • Ï̂Ó⁄ ô Ï̂Ó˚ lyG ̂ Îñ !°Ê˛ Ï̂ê˛Ó˚ í z̨Fã˛ï˛y 3m– 
!°Ê˛ê˛!ê˛ !fiÌÓ˚ xÓfiÌyÎ˚ ÌyÜ˛ Ï̂° ˆï˛yÙyÓ˚ í z̨_ Ï̂Ó˚Ó˚ Ü˛# ˛õ!Ó˚Óï≈̨ l • Ï̂Ó⁄ 

23ä •%Ó•% ~Ü˛•z Ó˚Ü˛ Ï̂ÙÓ˚ ò%!ê˛ Ó›Ó˚ Ù Ï̂ôƒ ˛õ)î≈ÈüÈ!fiÌ!ï˛fiÌy˛õÜ˛ §Çâ£Ï≈ âê˛ Ï̂°y– Ó› ò%!ê˛Ó˚ ~Ü˛!ê˛ ≤ÃyÌ!ÙÜ˛ xÓfiÌyÎ˚ !fiÌÓ˚ ÌyÜ˛ Ï̂° 
ˆòáyG ˆÎñ §Çâ Ï̂£Ï≈Ó˚ ˛õ Ï̂Ó˚ Ó›ò%!ê˛ §Ù Ï̂Ü˛y Ï̂î à!ï˛¢#° • Ï̂Ó⁄ 

24ä Ù•yÜ˛£Ï#≈Î˚ ˆ«˛e ≤ÃyÓ°ƒ Ó° Ï̂ï˛ !Ü˛ ˆÓyV˛ ⁄ ~Ó˚ ~Ü˛Ü˛ !Ü˛ ⁄ 
25ä §Ùyl ôyÓ˚Ü˛c !Ó!¢T˛ ò%!ê˛ ˆã˛y. A ~ÓÇ B ˛õÓ˚flõ Ï̂Ó˚Ó˚ §y Ï̂Ì ~Ü˛!ê˛ fiê˛˛õÜ˛Ü˛ myÓ˚y Î%=˛– ≤ÃÙyî ã˛y˛õ G ï˛y˛õÙyeyÎ˚ ~Ü˛!ê˛ 

àƒy§ AÈüÈˆï˛ Ó˚̂ ÏÎ˚̂ ÏSÈ– B §¡õ)î≈Ë˛y Ï̂Ó áy!°– §¡õ)î≈ §ÇfiÌy!ê˛ ï˛y˛õ#Î˚Ë˛y Ï̂Ó xhs˝!Ó˚ï˛ Ìy Ï̂Ü˛– ~ál fiê˛˛õÜ˛Ü˛!ê˛ ã˛y°% Ü˛Ó˚y 
• Ï̂°y– !l¡¨!°!áï˛ ≤ÃŸ¿à%!°Ó˚ í z̨_Ó˚ òyG /
 
Ü˛ä A ~ÓÇ B ˆï˛ xÓ!fiÌï˛ àƒy Ï̂§Ó˚ ã)̨ í ¸̨yhs˝ ã˛y˛õ Ü˛ï˛ • Ï̂Ó⁄
 
áä àƒy§!ê˛Ó˚ xyË˛ƒhs˝Ó˚#î ¢!=˛Ó˚ ˛õ!Ó˚Óï≈̨ l Ü˛ï˛ ⁄
 
àä àƒy§!ê˛Ó˚ ï˛y˛õÙyeyÓ˚ ˛õ!Ó˚Óï≈̨ l Ü˛ï˛ • Ï̂Ó⁄
 
âä P-V-T ï˛ Ï̂° xÓfiÌylÓ˚ï˛ §ÇfiÌy!ê˛Ó˚ åã)̨ í ¸̨yhs˝ §yÙƒyÓfiÌy í z̨̨ õ!fiÌï˛ •GÎ˚yÓ˚ ˛õ)̂ ÏÓ≈ä xhs˝Ó≈ï˛#≈ xÓfiÌy ÌyÜ˛ Ï̂Ó !Ü˛⁄
 

26ä ò%!ê˛ ò,ì˛¸ xÓ°¡∫ˆÏlÓ˚ ÙyˆÏV˛ ê˛yl Ü˛ˆÏÓ˚ Ó˚yáy ~Ü˛!ê˛ ï˛yÓ˚ 45 Hz Ù%°§)ˆÏÓ˚Ó˚ Ü˛¡õyˆÏAÜ˛ Ü˛!¡õï˛ •ˆÏFSÈ– ï˛yÓ˚!ê˛Ó˚ Ë˛Ó˚ 3.5 

x 10–2 kg ~ÓÇ ~Ó˚ ˜Ó˚!áÜ˛ Ë˛Ó˚ âlc 4.0 x 10kg m–1 – åÜ˛ä ï˛yÓ˚!ê˛ Ï̂ï˛ !ï˛Î≈Ü˛ ï˛Ó˚̂ ÏAàÓ˚ o%!ï˛ Ü˛ï˛ • Ï̂Ó⁄ åáä ï˛y Ï̂Ó˚Ó˚ 
ê˛yl Ü˛ï˛⁄ 

27ä ~Ü˛!ê˛ !fl±ÈüÈ~Ó˚ §y Ï̂Ì Î%=˛ ~Ü˛!ê˛ Ë˛Ó˚ â£Ï≈î•#l xl%Ë)̨ !ÙÜ˛ ï˛ Ï̂° w ˆÜ˛Ô!îÜ˛ ˆÓ Ï̂à Ù%=˛Ë˛y Ï̂Ó à!ï˛¢#°– Ë˛Ó˚!ê˛ Ï̂Ü˛ x 

xÓfiÌy Ï̂l ˆê˛ Ï̂l !l Ï̂Î˚ t=0 §Ù Ï̂Î˚ v ˆÓ Ï̂à ˆÜ˛ Ï̂wÓ˚ !ò Ï̂Ü˛ ˆë˛ Ï̂° ˆòGÎ˚y •°– ~Ó˚ ˆòy° Ï̂lÓ˚ !ÓhflÏyÓ˚̂ ÏÜ˛ w, x ~ÓÇ v ~Ó˚ 
§y Į̈̂ õ Ï̂«˛ !lî≈Î˚ Ü˛Ó˚– 
D xÌÓy 
~Ü˛!ê˛ !fiÌÓ˚ !Ó®% ̂ Ì Ï̂Ü˛ l  ̃ ò Ï̂â≈ƒÓ˚ §)ï˛yÓ˚ §y•y Ï̂Îƒ ≤Ã°!¡∫ï˛ m Ë˛ Ï̂Ó˚Ó˚ ~Ü˛!ê˛ Ó› !˛õu˛ Ï̂Ü˛ GÓ˚ §yÙƒyÓfiÌyl ̂ Ì Ï̂Ü˛ «%̨ o ò)Ó˚c 
x ˛õÎ≈hs˝ ˆê˛ Ï̂l ˆSÈ Ï̂í ¸̨ ˆòGÎ˚y •°– ~ Ï̂«˛ Ï̂e Ó› !˛õ Ï̂u˛Ó˚ à!ï˛Ó˚ ≤ÃÜ,̨ !ï˛ !lÓ)̨̊ õî Ü˛Ó˚– 

!ÓË˛yàÈüÈà : ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 3 : 3 x 7 = 21 

28ä ò%Û˛≤Ãyhs˝ ò,ì ¸̨Ë˛y Ï̂Ó xyê˛Ü˛y Ï̂ly ~Ü˛!ê˛ ï˛y Ï̂Ó˚Ó˚ !ï˛Î≈Ü˛ §Ó˚î 

y(x t , ) = 0.06sin ((2 / 3 π.×).cos(120 πt) ˆÎáy Ï̂l x G  y m ~Ü˛ Ï̂Ü˛ ~ÓÇ t, s ~Ü˛ Ï̂Ü˛ ≤ÃÜ˛y!¢ï˛– 

ï˛yÓ˚!ê˛Ó˚ ˜òâ≈ƒ 1.5 m ~ÓÇ ~Ó˚ Ë Į̈Ó˚ 3.0 x 10–2kg– 
Ü˛ä x Į̈̂ õ«˛Ü˛!ê˛ ˆÜ˛yl‰ ï˛Ó˚Aà Ï̂Ü˛ ≤ÃÜ˛y¢Ü˛ Ï̂Ó˚ ÈüÈ ã˛°ï˛Ó˚Aà ly fiÌyl%ï˛Ó˚Aà⁄ 



áä ˛õÓ˚flõÓ˚ !Ó˛õÓ˚#ï˛ !ò Ï̂Ü˛ à!ï˛¢#° ò%!ê˛ ï˛Ó˚̂ ÏAàÓ˚ í z̨̨ õ!Ó˚̨ õyï˛ Ï̂lÓ˚ Ê˛ Ï̂° §,T˛ ï˛Ó˚AàÓ)̊̂ Į̈ õ ~ Ï̂Ü˛ Óƒyáƒy Ü˛Ó˚– 
àä ï˛yÓ˚!ê˛Ó˚ ê˛yl !lî≈Î˚ Ü˛Ó˚ – 

29ä àƒy Ï̂§Ó˚ àï˛#Î˚ ï˛_¥ ˆÌ Ï̂Ü˛ àƒy Ï̂§Ó˚ ã˛y Į̈̂ õÓ˚ ôyÓ˚îy òyG– àƒy Ï̂§Ó˚ ï˛y˛õÙyeyÓ˚ àï˛#Î˚ Óƒyáƒy òyG– 
30ä Ü˛ä ï˛y˛õ ˛õ!Ó˚Óy!•ï˛yAÜ˛ Óƒyáƒy Ü˛Ó˚– ï˛y˛õÙyeyÓ˚ l!ï˛ Ó° Ï̂ï˛ Ü˛# ˆÓyV˛yÎ˚⁄

 áä xy Į̈̂ õ!«˛Ü˛ ï˛y˛õôyÓ˚Ü˛c Ó° Ï̂ï˛ Ü˛# ˆÓyV˛yÎ˚⁄ 
31ä 400 kg Ë˛ Ï̂Ó˚Ó˚ ~Ü˛!ê˛ Ü,̨ !eÙ í z̨̨ õ@˝Ã• 2R Óƒy§y Ï̂ô≈Ó˚ Ó,_yÜ˛yÓ˚ ˛õ Ï̂Ì ˛õ,!ÌÓ#Ó˚ ã˛yÓ˚!ò Ï̂Ü˛ â%Ó˚̂ ÏSÈ– 4R Óƒy§y Ï̂ô≈Ó˚ ~Ü˛!ê˛ 

Ó,_yÜ˛yÓ˚ ˛õ Ï̂Ì í z̨̨ õ@˝Ã•!ê˛ Ï̂Ü˛ í z̨ß¨#ï˛ Ü˛Ó˚̂ Ïï˛ Ü˛# ˛õ!Ó˚Ùyî ¢!=˛Ó˚ ≤Ã Ï̂Î˚yçl • Ï̂Ó⁄ ~ Ï̂«˛ Ï̂e à!ï˛¢!=˛ G !fiÌ!ï˛¢!=˛Ó˚ Ü˛#Ó)̨̊ õ ˛ 
õ!Ó˚Óï ≈̨l • Ï̂Ó⁄ (R • Ï̂°y ˛õ,!ÌÓ#Ó˚ Óƒy§yô≈ä 

D xÌÓy 
¢!=˛Ó˚ §ÇÓ˚«˛î l#!ï˛Ó˚ §y•y Ï̂Îƒ ˛õ,!ÌÓ#˛õ,¤˛ ˆÌ Ï̂Ü˛ Ù%!=˛o%!ï˛ !lÓ)̨̊ õî Ü˛Ó˚– §)Î≈ ~ÓÇ xlƒylƒ @˝Ã Ï̂•Ó˚ í z̨̨ õ!fiÌ!ï˛Ó˚ ≤ÃË˛yÓ 
í ẑ̨ Į̈ õ«˛y Ü˛Ó˚̂ Ï°ñ ~•z Ù%=˛o%!ï˛Ó˚ !ï˛là%î o%!ï˛ Ï̂ï˛ ˆÜ˛y Ï̂ly Ó› Ï̂Ü˛ í ẑ̨ Ïô≈ !l Ï̂«˛˛õ Ü˛Ó˚̂ Ï° ˛õ,!ÌÓ# ˆÌ Ï̂Ü˛ Î Ï̂ÌT˛ ò)Ó˚̂ Ïc ˙ Ó›Ó˚ 
o%!ï˛ Ü˛ï˛ • Ï̂Ó⁄ 

32ä 15 kg Ë˛ Ï̂Ó˚Ó˚ ~Ü˛!ê˛ ÓœÜ˛ Ï̂Ü˛ ~Ü˛!ê˛ °¡∫y ê ∆̨!°Ó˚ í z̨̨ õÓ˚ Ó§y Ï̂ly xy Ï̂SÈ– ÓœÜ˛ G ê ∆̨!°Ó˚ Ù Ï̂ôƒ !fiÌï˛ÈüÈâ£Ï≈îà%îyAÜ˛ • Ï̂°y 0.18– 
ê ∆̨!°!ê˛ !fiÌÓ˚ xÓfiÌy ̂ Ì Ï̂Ü˛ 0.5 ms–2 cÓ˚̂ Ïî 20s ã˛°yÓ˚ ̨õÓ˚ §Ùà!ï˛ Ï̂ï˛ ã˛° Ï̂ï˛ °yà Ï̂°y– !l¡¨!°!áï˛ ̂ «˛eà%!° Ï̂ï˛ ò¢≈̂ ÏÜ˛Ó˚ 
Ü˛y Ï̂SÈ Ó›!ê˛Ó˚ à!ï˛ Ü˛# Ù Ï̂l • Ï̂Ó Óƒyáƒy Ü˛Ó˚ / 
Ü˛ä Ùy!ê˛ Ï̂ï˛ òÑy!í ¸̨̂ ÏÎ˚ ÌyÜ˛y ò¢≈̂ ÏÜ˛Ó˚ Ü˛y Ï̂SÈ– 
áä ê ∆̨!°Ó˚ §y Ï̂Ì ã˛°Ùyl ò¢≈̂ ÏÜ˛Ó˚ Ü˛y Ï̂SÈ– 

ɵ −233ä ~Ü˛!ê˛ Ü˛îy t = 0s §Ù Ï̂Î˚ Ù)°!Ó®% ˆÌ Ï̂Ü˛ 10.0ɵjm / s  ˆÓ Ï̂à ~ÓÇ (8.0 ɵi + 2.0 j) ms !fiÌÓ˚ cÓ˚̂ Ïî x - y ï˛ Ï̂° 

à!ï˛¢#° • Ï̂°y– åÜ˛ä ˆÜ˛yl‰ §Ù Ï̂Î˚ Ü˛îy!ê˛Ó˚ x-fiÌylyAÜ˛ 16m • Ï̂Ó⁄ ˙ §Ù Ï̂Î˚ Ü˛îy!ê˛Ó˚ y- fiÌylyAÜ˛ Ü˛ï˛ • Ï̂Ó⁄ åáä ˙ 
§Ù Ï̂Î˚ Ü˛îy!ê˛Ó˚ o%!ï˛ÈüÈ•z Óy Ü˛ï˛ • Ï̂Ó⁄ 

34ä ôÓ˚y • Ï̂°y ˆÎñ ~Ü˛!ê˛ ê˛yl Ü˛Ó˚y ï˛y Ï̂Ó˚Ó˚ Ü˛¡õyAÜ˛ (n) !l¡¨!°!áï˛ !Ó£ÏÎ˚à%!°Ó˚ í z̨̨ õÓ˚ !lË≈̨ Ó˚ Ü˛ Ï̂Ó˚ ı 
Ü˛ä ï˛y Ï̂Ó˚Ó˚ ̃ òâ≈ƒñ åáä ï˛y Ï̂Ó˚Ó˚ í z̨̨ õÓ˚ ≤ÃÎ%=˛ ê˛yl ~ÓÇ åàä ï˛y Ï̂Ó˚Ó˚ ≤Ã!ï˛ ~Ü˛Ü˛ ̃ ò Ï̂â≈ƒÓ˚ Ë˛Ó˚– Ùye#Î˚ §Aà!ï˛ ̨õÂô!ï˛Ó˚ §y•y Ï̂Îƒ 
n- ~Ó˚ §¡õÜ≈̨ !ê˛ !lÓ)̨̊ õî Ü˛Ó˚– åˆòGÎ˚y xy Ï̂SÈ ˆÎñ k=1/2)– 

D xÌÓy 
0 

A~Ü˛!ê˛ ˆ§y!í˛Î˚yÙ ˛õÓ˚Ùyî%Ó˚ xyÜ˛yÓ˚ 2.5 ï˛yÓ˚ àí ¸̨ Ë˛Ó˚ âlc !lî≈Î˚ Ü˛Ó˚– åˆ§y!í˛Î˚y Ï̂ÙÓ˚ ˛õyÓ˚Ùyî!ÓÜ˛ Ë˛Ó˚ 23g ~ÓÇ 

xƒy Ï̂Ë˛yày Ï̂í»̨ yÓ˚ §ÇáƒyÓ˚ Ùyl 6.023 x 1023ä– !lî#≈ï˛ ~•z Ùy Ï̂lÓ˚ §y Ï̂Ì ˆÜ˛°y!§ï˛ ò¢yÎ˚ ˆ§y!í˛Î˚y Ï̂ÙÓ˚ âlc (970kg m–3) 

ï%̨ °ly Ü˛Ó˚– ~•z ò%•z âl Ï̂cÓ˚ Ùy Ï̂lÓ˚ Ü ̨ Ù !Ü˛ §Ùyl •Î˚⁄ Î!ò í z̨_Ó˚ •Ñƒy •Î˚ ï˛ Ï̂Ó ˆÜ˛l ï˛y Óƒyáƒy Ü˛Ó˚– 

!ÓË˛yà ÈüÈ â / ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 5 / 5 x 3 = 15 

35ä åÜ˛ä ~Ü˛•z !Ó®%̂ Ïï˛ !Ü ̨ Î˚y¢#° ò%!ê˛ §Ùçyï˛#Î˚ ˆË˛Q Ï̂Ó˚Ó˚ °kô ˆË˛Q Ï̂Ó˚Ó˚ Ùyl !lî≈Î˚ Ü˛Ó˚– 3+2
gd 

áä (ɵi + ɵj) x!Ë˛Ù%̂ Ïá A = 2iɵ + 3ɵj ˆË˛QÓ˚!ê˛Ó˚ í z̨̨ õyÇ¢ !lî≈Î˚ Ü˛Ó˚–

 xÌÓy 
Ü˛ä §ÙcÓ˚̂ Ïî à!ï˛¢#° ˆÜ˛y Ï̂ly Ü˛îyÓ˚ n-ï˛Ù §ÙÎ˚ÈüÈxÓÜ˛y Ï̂¢ Ü˛îy!ê˛Ó˚ §Ó˚î
 
Sn = u + (1/2)a (2n–1) ˆÎáy Ï̂l !ã˛•´à%!° ≤Ãã˛!°ï˛ x Ï̂Ì≈ ÓƒÓ•,ï˛–
 
áä ~Ü˛!ê˛ Ü˛îyÓ˚ xÓfiÌyl !l¡¨!°!áï˛ §Ù#Ü˛Ó˚̂ ÏîÓ˚ §y•y Ï̂Îƒ ≤ÃÜ˛y¢ Ü˛Ó˚y ÎyÎ˚ ı
 
d 
r = 3.0 ti ɵ + 4.0 t j ɵ + 5.0 kɵ ˆÎáy Ï̂l r-ˆÜ˛ m ~Ü˛ Ï̂Ü˛ ~ÓÇ tÈüÈˆÜ˛ s ~Ü˛ Ï̂Ü˛ ̂ lGÎ˚y • Ï̂Î˚̂ ÏSÈ– t = 1.0s §Ù Ï̂Î˚ ~•z Ü˛îy!ê˛Ó˚ 

ˆÓà G cÓ˚î !lî≈Î˚ Ü˛Ó˚– 
36ä åÜ˛ä x Ï̂«˛Ó˚ §y Į̈̂ õ Ï̂«˛ â)î≈yÎ˚Ùyl Ó›Ó˚ ê˛Ü≈̨  G ˆÜ˛Ô!îÜ˛ cÓ˚̂ ÏîÓ˚ Ó˚y!¢Ùy°y !lî≈Î˚ Ü˛Ó˚– 
åáä ̂ òáyG ̂ Î x Ï̂«˛Ó˚ §y Į̈̂ õ Ï̂«˛ â)î≈yÎ˚Ùyl ̂ Ü˛y Ï̂ly Ó›Ó˚ ̂ Ü˛Ô!îÜ˛ Ë˛Ó˚̂ ÏÓ Ï̂àÓ˚ ̨ õ!Ó˚Óï≈̨ Ï̂lÓ˚ •yÓ˚ ï˛yÓ˚ í z̨̨ õÓ˚ ̨ ≤ÃÎ%=˛ ê˛ Ï̂Ü≈̨ Ó˚ Ü˛Ùyl– 

xÌÓy 



 Ü˛ä x Ï̂«˛Ó˚ §y Į̈̂ õ Ï̂«˛ â)î≈yÎ˚Ùyl Ó›Ó˚ xyÓï≈̨  à!ï˛¢!=˛Ó˚ Ó˚y!¢Ùy°y !lî≈Î˚ Ü˛Ó˚– 
áä Ó›Ó˚ Ë˛Ó˚̂ ÏÓ Ï̂àÓ˚ §y Ï̂Ì ~Ó˚ à!ï˛¢!=˛Ó˚ ˛õ!Ó˚Óï≈̨ l Ü˛#Ë˛y Ï̂Ó •Î˚ ï˛y ~Ü˛!ê˛ ˆ°á!ã˛ Ï̂eÓ˚ §y•y Ï̂Îƒ ˆòáyG– 
37ä ôyÓ˚y Ï̂Ó˚á ≤ÃÓy Ï̂•Ó˚ ̂ «˛ Ï̂e ôyÓ˚yÓy!•Ü˛ï˛yÓ˚ §Ù#Ü˛Ó˚î!ê˛ Óƒyáƒy Ü˛Ó˚– xï˛ı˛õÓ˚ Óy Ï̂l≈y!°Ó˚ §Ù#Ü˛Ó˚î !lÓ)̨̊ õî Ü˛Ó˚– ~Ó˚ §y•y Ï̂Îƒ 

ê˛!Ó˚̂ Ï§!°Ó˚ §)e!ê˛ !ÓÓ,ï˛ Ü˛Ó˚– 
xÌÓy 

Ü˛ä ~Ü˛!ê˛ §yw Ùyôƒ Ï̂Ù ˆÜ˛y Ï̂ly ˆày°#Î˚ Ó›Ó˚ ≤Ãy!hs˝Ü˛ ˆÓ Ï̂àÓ˚ Ó˚y!¢Ùy°y!ê˛ !lÓ)̨̊ õî Ü˛Ó˚–
 
áä ~Ü˛!ê˛ ˜Ü˛!¢Ü˛ l Ï̂° ï˛Ó˚̂ Ï°Ó˚ ˜Ü˛!¢Ü˛ í z̨ay Ï̂lÓ˚ Ó˚y!¢Ùy°y!ê˛ !lî≈Î˚ Ü˛Ó˚–
 

D x!ï˛!Ó˚=˛ ≤ÃŸ¿yÓ°# 



 

 

Model Question
 

Class - XI : Physics : 70 Marks : 2020-2021
 

Section- A  : Each question carries 1 mark : 1x20=20 

1. In the euqation y = A sin (wt = kx)m, where x is in m and in ‘s’. Write the dimensional formula of ‘w’ 

and k. 

2. Plot velocity time graph for a body thrown verticaly upward and returned back to the point of 

projection. 

OR 

A body is projected horizontally from the top of a building. Draw velocity time graph for its horizontal 

and vertical component of velocity. 

3. A target can be hit at a known distance by hitting the shells at an angle of 600. For what other angle 

the same can be hit ? 

4. If the acceleration of a moving body varies with time, what does the area of acceration time graph for 

any time internal represent. 

ggd ggd 
ɵ ɵ ɵ ɵ ɵ ɵ5. If A = i + 2 j + 2k and B = i − j + nk are perperaticular to each other then find the value of ‘n’. 

6. What is the relation between angle of repose and angle of firction ? 

7. What is the apparent weight of a body of mass ‘m’ at the highest point it is just ‘looping the loop’ in 

a vertical circle? 

8. A lighter body and a heavier body moving with same kinetic energy are brought to rest by applying 

same forces on them. Which one will come to rest at a shorter distance ? 

9. What is the physical significance of moment of inestia ? 

OR 

What is babbating ? 

10. Two idential cylinder starts from rest at the top of the inchined plane. One slides without rolling and 

the other rolls with out slipping. Assuming that no mechanical energy dissipated as heat, which one of 

them will reach the bottom of inclined planes earlier. 

11. If the change in the value of ‘g’ at a height ‘h’ above the surface of the earth is the same as at a deph 

d, (h<<R) R the radius of earch find the relation between d and h. 

A 
12. The stress strain graph for two materials 

B 
A and B are as shown in fig. Which of two 

material is stronger ? 

13. Water flows at a speed of 6 cm S–1 through a tube of radius 1 cm. coefficient of viscosity of water 

at room temperature is 0.01 poise. Characterize the flow. 

14. A beaker is filled upto the brin with water at 40C. Water overflows when beaker is either heated or 

cooled, why ? 



 

15. State 1st law of thermodynamics. 

16. Introduce temparature on the basis of Zeroth law of thermodynamics. 

17. What is critical temperature ? 

18. Find the displacement when kinetic energy is half its maximum value in S.H.M. 

19. Why does the shape of a pulse get distorted during propagation in a dispersive medium. 

20. Two sitar strings A and B playing the note ‘Dha’ are slightly out of tune and produce beats of 

frequency 5Hz. The tension in the string B is slightly increased and the beat frequency is found to 

decrease by 3Hz. What is the original frequency of ‘B’ if frequency of A is 427 Hz? 

Section -B : Each Question carries 2 marks : 2x7=14 

21. ‘A freely falling body has zero weight’ – Explain. 

3 
−1 −122. A body of mass 0.5 kg travels in a straight line with velocity V= α . 

× 2 , where α = 5m s What is 

the work done by the net force during its displacement from x=0 to x=2m. 

* OR 

A bolt of mass 0.3 kg falls from the ceiling of an elevator moveing down with a uniform speed of 7ms1. 

It hits the floor of the elevator (length of the elevator = 3m) and does not rebound. What is the heat 

produced by the impact ? would your answer be different if the elevator were stationary ? 

23. A perfectly elastic oblique collision takes place between two indentical bodies, one of which initially 

was at rest. Show that after collision they move at right angles to each other. 

24. Define gravitational field intensity. Write its unit and dimension. 

25. Two cylinders A and B of equal capacity are connected to each other via a stop cock. ‘A’ contains 

a gas at standard temperature and pressure and ‘B’ is completely evacuated.  The entire system is 

thermally insulated. The stopcock is suddenly opened. (i) What is the final pressure of gas in A and B. 

b) What is the change in internal energy ? 

(c) What is the change in temperature of the gas ? 

(d) Do the intermediate state of the system (before setting to the final equilibrium state) lie on its P-V-

T surface ? 

26. A wire stretched between two rigid supports vibrates in its fundamental mode with a frequency of 

45 Hz. The mass of the wire is 3.5 x 10–2 kg and its linear density 4.0 x 10–2 kg/m what is (a) the speed 

of transverse wave on the string and (b) the tension in the string. 

27. A mass attached to a spring is free to oscillate with angular velocity w, in a horizontal plane without 

friction or damping. It is pulled to a distance x
0
 and pushed towards the centre with velocity v

o
 at time 

t=0. Determine the amplitude of oscillations in terms of the parameters w, x
o
 and v

o
. 

* OR 

A bob of mass ‘m’ is suspended from a fixed point with a thread of length ‘l’ . The bob in displaced from 

its equilibrium position by a small distance x. Determine the nature of the motion of the bob. 

Section -C : Each question Carried 3 Marks : 3x7=21 

28. The transverse displacement of a string (claped at its two ends ) is given by 

y(x t , ) = 0.06sin ((2 / 3 π.×).cos(120 πt) , where x and y are in ‘m’ and t is in ‘s’. The length of the 

string is 1.5m and its mass is 3.0 x10–2Kg. 



(a) Does the function represent a travelling wave or a stationary wave ? 

(b) Interpret the wave as a superposition of two waves travelling in opposite directions. What are 

the wave length, frequency and speed of each wave ? 

(c) Determine the tension in the string. 

29. State the Concept of pressure exerted by a gas on the basis of kinetic theory. Give kinetic interpretation 

of temperature. 

30. (a) Explain ‘thermal conductivity’. What is meant by ‘Temperature Gradient’? 

(b) What is meant by ‘Specific heat capacity’? 

31. A 400 kg satellite is in a circular orbit of radius 2R about the earth (R be the radius of earth). How 

much energy is required to transfer it to a circular orbit of radius 4R ? What are the changes in the 

kinetic and potential energies ? 

* OR 

Based on the principle of conservationof energy, obtain escape speed on the surface of earth. If a body 

is projected thrice this speed, what would be the speed of the body far away of earth (Ignore the 

presence of sun and other planets) 

32. A block of mass 15 kg is placed on a long trolley. The co-efficient of static friction between the 

block and the trolley is 0.18. The trolley accelerates from rest with 0.5 m/s2 for 20s and then moves with 

uniform velocity. Discuss the motion of the block as viewed by -

(a) a stationay observer on the ground. 

(b) an observer moving with the trolley. 

33. A particle starts from the origin at t=0 s with a velocity of 10.0ɵjm / s  and moves in the x-y plane 

ɵ −2with a constant acceleration of (8.0 ɵi + 2.0 j) ms 

(a) at what time is the x co-ordinate of the particle is 16 m? What is the y co-ordinate at that time? 

(b) What is the speed of the particle at that time? 

34. Assuming that the frequency (v) of an stretched string depends on (i) Length of the string, (ii) 

Tension acting along the string, (iii) mass per unit length of the string. Obtain a relation for (v) by the 

method of dimension. (K=1/2). 

* OR 

Estimate the average mass density of a sodium atom of its size 2.5A (N=6.023x1023 and atomic mass 

of sodium as 23g). compare it with the density of sodium in its crystalline phase, 970kg/m-3. Are the two 

densities of the same order of magnitude ? If so why ? 

Section - D : Each question carried 5 marks : 5x3=15 

35. (a) Find out the resultant vector of two like vectors acting at a point. 

gd 
ɵ ɵ ɵ(b) Find the component of A = 2i + 3 j along direction of (ɵi + j) (3+2) 

OR 

(a) Displacement in nth time during uniformly accelerated motion is S
n
= u + 1/2a(2n–1), where symbols 

have their usual meanings. Derive the relation graphically. 

d 
(b) The position of a particle is given by r = 3.0 ti ɵ + 4.0 t j ɵ + 5.0 kɵ where ‘t’ is in s and r is in m. 

Find its velocity and acceleration at t=1.0s 3+2 



36. (a) Establish the relation between torque and angular acceleration of an object moving about an 

axis. 

(b)Show that the rate of change of angular momentum of an object rotating about an axis is equal to the 

torque acting on it.

 OR 

(a) Find out the expression of rotational kinetic energy of a partice about an axis. 

(b) Show the variation of kinetic energy of a body with momentum graphically. A lighter body and a 

heavier body have same momentum. Which one has greater kinetic energy? 

37. Explain equation of continuity in a stream line flow. Hence obtain Bernoullis equation. Apply it to 

state Torricelli’s law. 

OR 

(a) obtain expression for terminal velocity of a spherical body in a viscous medium. 

(b) Find expression for capillary by rise in a capillary tube (ascent formula) . 2+3 



MODEL QUESTION
 

Class - XI Political Science Full Marks- 80 

!ÓË˛yàÈüÈÜ˛ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ ÙylÈüÈ1 1 x 20 = 20 

i) §!ë˛Ü˛ í z̨_Ó˚!ê˛ ÓySÈy•z Ü˛Ó˚ / 1x5=5 

1ä Ë˛yÓ˚ï˛#Î˚ §Ç!Óôyl Ü˛ï˛§y Ï̂° Ü˛yÎ≈Ü˛Ó˚# •Î˚û 
Ü˛ä 26 Ï̂¢ l Ï̂Ë˛¡∫Ó˚ 1949 åáä 30ˆ¢ çyl%Î˚yÓ˚# 1950 åàä 26ˆ¢ çyl%Î˚yÓ˚# 1950 åâä 30ˆ¢ l Ï̂Ë˛¡∫Ó˚ 1949 

2ä ¢y§l !ÓË˛y Ï̂àÓ˚ ≤Ãôyl ˆÜ˛ û 
Ü˛ä ˛≤ÃôylÙsf# åáä í z̨̨ õ Ó˚yT …̨̨ õ!ï˛ åàä flõ#Ü˛yÓ˚ åâä Ó˚yT …̨̨ õ!ï˛ 

3ä Ë˛yÓ˚̂ Ïï˛Ó˚ ≤Ãôyl !Óã˛yÓ˚̨ õ!ï˛Ó˚ xÓ§Ó˚ @˝Ã• Ï̂îÓ˚ ÓÎ˚§ Ü˛ï˛ ⁄ 
Ü˛ä 60 ÓSÈÓ˚ åáä 65 ÓSÈÓ˚ åàä 62 ÓSÈÓ˚ åâä 63 ÓSÈÓ˚ 

4ä Ó˚yçl#!ï˛ ¢%Ó%̊ •Î˚ ~ÓÇ Ó˚yT …̨ !ò Ï̂Î˚ Ï̂¢£Ï •Î˚ û Ùhs˝Óƒ!ê˛ Ü˛yÓ˚G – 
åÜ˛ä °y!flÒ åáä Ó%̊̂ Ï¢y åàä àyl≈yÓ˚ åâä çl °Ü˛– 

5ä !Ì Ï̂Î˚y!Ó˚ xÊ˛ çy!fiê˛§ û Ó•z!ê˛Ó˚ ≤ÃÓ=˛y • Ï̂°l 
åÜ˛ä çl Ó˚°§‰ åáä °Ü˛ åàä •Ó§‰ åâä àyî≈yÓ˚– 

ii) ~Ü˛!ê˛ ˛õ)î≈yAà Óy Ï̂Ü˛ƒ !l¡¨!°!áï˛ ≤ÃŸ¿à%̂ Ï°yÓ˚ í z̨_Ó˚ òyG / 1x15=15 

6ä Ë˛yÓ˚ï˛#Î˚ §Ç!Óôy Ï̂lÓ˚ Ó˚ã˛!Î˚ï˛y ˆÜ˛ ⁄ 
7ä ˆÜ˛yl hflÏ̂ ÏÓ˚ ˛õM˛y Ï̂Î˚ï˛ §!Ù!ï˛ §Çà!ë˛ï˛ •Î˚⁄ 
8ä ˆ§y§ƒy° Ü˛lê Δ̨yQ Ó•z!ê˛Ó˚ Ó˚ã˛!Î˚ï˛y ˆÜ˛⁄ 
9ä §yÙƒ fl∫yô#lï˛y SÈyí ¸̨y ÓÑyã˛ Ï̂ï˛ ˛õy Ï̂Ó˚ ly û í z̨!=˛!ê˛ Ü˛yÓ˚⁄ 
10ä Ë˛yÓ˚̂ Ïï˛Ó˚ !lÓ≈yã˛l Ü˛!Ù¢lyÓ˚̂ ÏÜ˛ ˆÜ˛ !l Ï̂Î˚yà Ü˛ Ï̂Ó˚l⁄ 
11ä Ë˛yÓ˚ï˛#Î˚ §Ç!Óôy Ï̂l Ü˛ï˛à%̂ Ï°y xl%̂ ÏFSÈò ~ÓÇ ï˛Ê˛!¢° Ó˚̂ ÏÎ˚̂ ÏSÈ⁄ 
12ä Ü˛ál 73ï˛Ù §Ç!Óôyl §Ç Ï̂¢yôl# xy•zl!ê˛ Ë˛yÓ˚̂ Ïï˛Ó˚ §Ç§ò Ü˛ï≈,̨ Ü˛ ˛õy§ • Ï̂Î˚!SÈ°⁄ 
13ä ~Ùl ~Ü˛çl !ã˛hs˝y!Ó Ï̂òÓ˚lyÙ Ü˛Ó˚ !Î!l çlÜ˛°ƒyîÜ˛Ó˚ Ó˚y Ï̂T …̨Ó˚ ôyÓ˚îyÓ˚ ˛õ Ï̂«˛ !SÈ Ï̂°l⁄ 
14ä lyà!Ó˚Ü˛ Ï̂òÓ˚ ˆÎ ˆÜ˛yl ~Ü˛!ê˛ ˆ˛õÔÓ˚ x!ôÜ˛y Ï̂Ó˚Ó˚ lyÙ ˆ°á⁄ 
15ä Úfl∫yô#lï˛yÛ ¢∑!ê˛ ˆÜ˛yl ¢∑ ˆÌ Ï̂Ü˛ í z̨q(ï˛ • Ï̂Î˚̂ ÏSÈ⁄ 
16ä ~Ùl ~Ü˛!ê˛ ˆò Ï̂¢Ó˚ lyÙ ˆ°á ˆÎáy Ï̂l !mlyà!Ó˚Ü˛ï˛y fl∫#Ü,̨ ï˛ Ó˚̂ ÏÎ˚̂ ÏSÈ⁄ 
17ä Ë˛yÓ˚̂ Ïï˛Ó˚ ~Ùl ~Ü˛!ê˛ Ó˚y Ï̂çƒÓ˚ lyÙ Ü˛Ó˚ ˆÎáy Ï̂l !mÜ˛«˛ !Ó!¢T˛ xy•zl§Ë˛y Ó˚̂ ÏÎ˚̂ ÏSÈ⁄ 
18ä àî ˛õ!Ó˚£Ï̂ ÏòÓ˚ á§í ¸̨y Ü˛!Ù!ê˛Ó˚ ˆã˛Î˚yÓ˚Ùƒyl ˆÜ˛ !SÈ Ï̂°l⁄ 
19ä §%!≤ÃÙ ˆÜ˛y Ï̂ê≈̨ Ó˚ !Óã˛yÓ˚̨ õ!ï˛ Ï̂òÓ˚ ˆÜ˛ ˛õòã%̨ ƒ!ï˛ Ü˛Ó˚̂ Ïï˛ ˛õy Ï̂Ó˚l⁄ 
20ä ˆÜ˛yl §Ç Ï̂¢yôl# xy•ẑ ÏlÓ˚ myÓ˚y Ë˛yÓ˚̂ Ïï˛Ó˚ §Ç!Óôy Ï̂lÓ˚ ≤ÃhflÏyÓlyÓ˚ ÚôÙ≈!lÓ˚̂ Į̈ õ«˛Û ¢∑!ê˛ Î%=˛ • Ï̂Î˚̂ ÏSÈ⁄ 

!ÓË˛yàÈüÈá ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 2 2 x 3 = 6 

!l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 40!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ ˆ° Ï̂áy / 

21ä ÚxÌ≈!Ó°Û !Ü˛ ⁄ 
22ä ~Ü˛çl §%lyà!Ó˚̂ ÏÜ˛Ó˚ ˆÎ ˆÜ˛yl ò%!ê˛ à%̂ ÏîÓ˚ í ẑ̨ ÏÕ‘á Ü˛Ó˚– 
23ä í z̨Fã˛ xyòy° Ï̂ï˛Ó˚ !Óã˛yÓ˚̨ õ!ï˛ !l Ï̂Î˚y Ï̂àÓ˚ ˆ«˛ Ï̂e ˆÎyàƒï˛yà%̂ Ï°y ˆ° Ï̂áy– 

!ÓË˛yàÈüÈà ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 4 4 x 4 = 16 

!l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 60!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ òyG– 
24ä Ë˛yÓ˚ï˛#Î˚ lyà!Ó˚Ü˛ Ï̂òÓ˚ ˆÎ ˆÜ˛yl ã˛yÓ˚!ê˛ ˆÙÔ!°Ü˛ Ü˛ï≈̨ ÏÓƒÓ˚ í ẑ̨ ÏÕ‘á Ü˛Ó˚– 



25ä Ùï˛ ≤ÃÜ˛y Ï̂¢Ó˚ fl∫yô#lï˛y Ó° Ï̂ï˛ !Ü˛ Ó%V˛⁄
 
26ä !Ùí z̨!l!§˛õy° Ü˛ Į̈̂ õ≈y Ï̂Ó˚¢ Ï̂lÓ˚ xy Ï̂Î˚Ó˚ ˛≤Ãôyl í z̨Í§ xy Ï̂°yã˛ly Ü˛Ó˚ –
 
27ä ÚÚ§yÙƒ ~ÓÇ fl∫yô#lï˛y ~ Ï̂Ü˛ x˛õ Ï̂Ó˚Ó˚ ˛õ!Ó˚̨ õ)Ó˚Ü˛ÛÛ Óƒyáƒy Ü˛Ó˚ –
 

!ÓË˛yàÈüÈâ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 5 5 x 4 = 20 

!l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 150!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ òyG / 
28ä çl Ó˚° Ï̂§Ó˚ lƒyÎ˚ ï˛ Ï̂_¥Ó˚ ôyÓ˚îy!ê˛ Óƒyáƒy Ü˛Ó˚– 
29ä Ó˚yç Ï̃l!ï˛Ü˛ñ xÌ≈̃ Ïl!ï˛Ü˛ G §yÇfl,Ò!ï˛Ü˛ x!ôÜ˛y Ï̂Ó˚Ó˚ Ù Ï̂ôƒ ˛õyÌ≈Ü˛ƒ !lÓ%̨̊ õî Ü˛Ó˚– ≤Ã Ï̂ï˛ƒÜ˛ ôÓ˚̂ ÏlÓ˚ x!ôÜ˛y Ï̂Ó˚Ó˚ í z̨òy•Ó˚î 

òyG– 
30ä Ó˚yç Ï̃l!ï˛Ü˛ ï˛ Ï̂_¥Ó˚ ˛õ!Ó˚!ô !Ó Ï̂Ÿ’£Ïî Ü˛Ó˚– 

D xÌÓy 
Ó˚yç Ï̃l!ï˛Ü˛ ï˛ Ï̂_¥Ó˚ xôƒÎ˚l xyÙy Ï̂òÓ˚ çlƒ ˆÜ˛l ≤Ã Ï̂Î˚yçl#Î˚⁄ 

31ä ≤Ãò_ Ë˛yÓ˚̂ Ïï˛Ó˚ Ó˚yç Ï̃l!ï˛Ü˛ Ùyl!ã˛ Ï̂e 1, 2, 3, 4, 5 !ã˛!•´ï˛ fiÌylà%̂ Ï°y Ï̂Ü˛ !l Ï̂ò≈¢ xl%§y Ï̂Ó˚ ¢ly=˛ Ü˛Ó˚ G lyÙ ˆ° Ï̂áy/ÈüÈ 
1) °yòy Ï̂áÓ˚ Ó˚yçôyl# (2) ˛õyOyÓ G •!Ó˚Î˚ylyÓ˚ Ó˚yçôyl# (3) òy°y•z°yÙyÓ˚ Óy§fiÌyl 
(4) ò!«˛î Ë˛yÓ˚̂ Ïï˛Ó˚ lÓ≤Ã!ï˛!¤˛ï˛ Ó˚yçƒ (4) Ë˛yÓ˚̂ Ïï˛Ó˚ ≤ÃÌÙ ˜ï˛° Ï̂«˛e– 

!ÓË˛yà ÈüÈ . ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 6 6 x 3 = 18 

!l Ï̂ã˛Ó˚ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ 150!ê˛ ¢ Ï̂∑Ó˚ Ù Ï̂ôƒ òyG 
32ä Ë˛yÓ˚̂ Ïï˛Ó˚ Ó˚yT …̨̨ õ!ï˛Ó˚ «˛Ùï˛y G Ü˛yÎ≈yÓ!° !Ó Ï̂Ÿ’£Ïî Ü˛Ó˚–
 
33ä Ë˛yÓ˚ï˛#Î˚ §Ç!Óôy Ï̂lÓ˚ ôÙ≈!l Ï̂Ó˚̨ õ«˛ï˛yÓ˚ !Óôylà%̂ Ï°y Ü˛# Ü˛# ⁄
 
34ä Ë˛yÓ˚ï˛#Î˚ §Ç!Óôy Ï̂lÓ˚ ≤Ãôyl ˜Ó!¢T˛ƒà%̂ Ï°y xy Ï̂°yã˛ly Ü˛Ó˚–
 

xÌÓy 
ÚË˛yÓ˚ï˛#Î˚ §Ç!ÓôylÛ ~Ü˛!ê˛ ç#Óhs˝ ò!°°û Óƒyáƒy Ü˛Ó˚– 

D x!ï˛!Ó˚=˛ ≤ÃŸ¿yÓ°# 



Model Question : Class IX : Political Science : Marks 80 : 2020-2021 

Group-A Each Questions Carries 1 Mark 1x20=20 

A) Choose the correct answer : 1x5=5 

1) When did constitution of India come into force ? 

a) 26th November 1949 (b) 3oth January 1950 (c) 26th January 1950 (d) 30th November 1949 

2) Who is the Head of the Executive ? 

a) Prime Minister (b) Vice President (c) Speaker (d) President. 

3) What is the age of retirement of Chief Justice of India ? 

a) 60 years (b) 65 years (c) 62 years (d) 63 years. 

4) ‘Politics begins and ends with the state’ – Who said this ? 

a) Laski (b) Rousseau (c) Garner (d) John Locke 

5) ‘Theory of Justice’ is written by – 

a) John Rawls (b) Locke (c) Hobbes (d) Garner 

B) Anser the following quesitons in a complete sentences : 1x5=5 

6) Who farmed the constitution of India ? 

7) In which level the Panchayat Samiti is Organised ? 

8) Who wrote the book ‘Social Contract’ ? 

9) ‘Equality cannot survive without liberty’- Who said this ? 

10) Who appoints the Election Commissioner of India ? 

11) How many Articles and Schedules are there in the Indian Constitution ? 

12) When 73rd constitutional Amendment Act was passed by the Parliament of India ? 

13) Name one thinker who advocates the concept of Welfare State ? 

14) Write any one civil right of citizen ? 

15) From which word the term Independence has been derived ? 

16) Name the country where duel citizenship is allowed ? 

17) Write the name of one state of the Indian Union where bicameral legislature exists ? 

18) Who was the Chairman of the drafting committee of the Constituent Assembly ? 

19) Who can despose the justicess from Suprime Court ? 

20) Which amendment act added the word ‘secular’ in the preamble of the constitution of India ? 

Group-B  Each Questions Carries 2 marks 2x3=6 

Answer the following questions with 40 words. 

21) What is a Money Bill ? 

22) Write down any two qualities of a good citizen ? 

23) Write the qualifications necessary for the appointment of  Judge of High Court. 



Group-C Each Questions Carries 4 marks 

Answer the following questions in not more than 80 words : 

24) Write any four fundamental duties of Indian Citizens. 

25) What is meant by freedom of expression? 

26) Describe the main sources of revenue of Municipal Corporation. 

27) Equality and liberty are complementary to each other– Explain. 

4x4=16 

Group-D Each Questions Carries 5 Marks : 5x4=20 

Answer the following questions within 120 words : 

28) Explain John Rawls theory of Justice. 

29) Differentiate between political, economic and cultural rights, giving example of each kind . 

30) Describe the scope of political theory. 

* OR 

In what way is the study of Political Theory useful for us? 

31) In the supplied map of India, indentify the place i-v and name them. 

i) Capital of Ladakh. 

ii) Capital of Punjab and Hariyana. 

iii) Place of residence of Dalai Lama. 

iv) Newly established of South India. 

v) First Oil field of India. 

Group-E Each Questions Carries 6 Marks 6x3=18 

Answer the following questions within 150 words. 

32) Describe the power and function of the President of India. 

33) What are the secular provisions given in the constitution of India. 

34) Describe the main features of the India Constitution. 

OR 

Constitution of India’ is a living document – Explain. 



Model Question
 

Class - XI  Psychology Full Marks- 70 

!ÓË˛yàÈüÈÜ˛ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ ÙylÈüÈ1 1 x 20 = 20 

I) §!ë˛Ü˛ í z̨_Ó˚!ê˛ !°á ı 1x5 

1ä B = F (P,E) ~•z !Óáƒyï˛ §Ù#Ü˛Ó˚î!ê˛ ˆÜ˛ !ò Ï̂Î˚̂ ÏSÈl⁄ û (Decartes / Kurt Lewin / Freud)
 

2ä xyÙy Ï̂òÓ˚ fl¨yÎ%̊ï˛ Ï̂sf ≤ÃyÎ˚ ûûûû !lí ẑ̨ ÏÓ˚yl xy Ï̂SÈ– å11 !Ó!°Î˚l‡12 !Ó!°Î˚l‡20 !Ó!°Î˚lä
 
3ä Ù%°!çlàï˛ í z̨̨ õÜ˛Ó˚îà%̂ Ï°y Ï̂Ü˛ xÌÓy Óƒ!=˛Ó˚ ÓÇ¢yl%Ü ̨ !ÙÜ˛ ˙!ï˛•ƒ Ï̂Ü˛ ûûûû Ó°y •Î˚–
 
åˆç Ï̂lyê˛y•z̨ õ‡ˆÊ˛ Ï̂lyê˛y•z̨ õ‡xy!Ü˛ê˛y•z̨ õä
 
4ä Ù Ï̂ly Ï̂Îy Ï̂àÓ˚ ˛õ!Ó˚flÀyÓl xl%Ü˛Ó˚î ï˛ Ï̂_¥Ó˚ ≤ÃÓï≈̨ Ü˛ • Ï̂°l û (Broadbent / Heinz/Triesman)
 

5ä ≤Ãyã˛#l xl%Óï≈̨ l ≤ÃÌ Ï̂Ù Ivan. P. Pavlov myÓ˚y x Ï̂ß∫!£Ïï˛ • Ï̂Î˚!SÈ°⁄ å§ï˛ƒ ‡!ÙÌƒyä
 
II) l# Ï̂ã˛Ó˚ ≤ÃŸ¿à%!° ~Ü˛ ¢ Ï̂∑ ‡ Óy Ï̂Ü˛ƒ í z̨_Ó˚ òyG ı 1x15 

6ä ‘Psychology’ ¢∑!ê˛ ˆÜ˛yl‰ ò%!ê˛ @˝Ã#Ü˛ ¢∑ ˆÌ Ï̂Ü˛ ~ Ï̂§ Ï̂SÈ !°á–
 
7ä 1922 §y Ï̂° ̂ Ü˛ Indian Psychological Association fiÌy˛õl Ü˛ Ï̂Ó˚l⁄
 
8ä ≤Ãy§!AàÜ˛ ã˛° Ü˛ï˛ ≤ÃÜ˛yÓ˚ G Ü˛# Ü˛# ⁄
 
9ä ≤ÃŸ¿ï˛y!°Ü˛yÎ˚ Ü˛# Ü˛# ôÓ˚̂ ÏlÓ˚ ≤ÃŸ¿ ÓƒÓ•yÓ˚ Ü˛Ó˚y •Î˚⁄
 
10ä TSHÈüÈ ~Ó˚ §¡õ)î≈ lyÙ !°á–
 
11ä ˆò Ï̂•Ó˚ ÓÇ¢à!ï˛Ó˚ í z̨̨ õyòyl!ê˛ !Ü˛⁄
 
12ä Anorexsia Nervosa Ü˛# ôÓ˚̂ ÏlÓ˚ Óƒï˛ƒÎ˚⁄
 
13ä Ë˛yÓ˚̂ Ïï˛Ó˚ ̂ Ü˛yÌyÎ˚ Ú Ï̂§y§y•z!ê˛ Ê˛Ó˚ !Ì Ï̂Î˚ê˛yÓ˚ •zl ~í%̨ Ï̂Ü˛¢l ̂ ≤Ãy@˝ÃyÙ lyÙÜ˛ ÙyòÜ˛oÓƒ !Ó Ï̂Ó˚yô# ~Ü˛!ê˛ §Ê˛° Ü˛yÎ≈Ü ̨ Ù ã˛° Ï̂SÈ⁄
 
14ä ò¢≈làï˛ í z̨̨ õ Ï̂Îyçl (Accomodation) ˆÜ˛yl‰ ˆÜ˛y Ï̂¢Ó˚ myÓ˚y !lÎ˚!sfï˛ •Î˚⁄
 
15ä Óƒ!=˛àï˛ xôƒy§ Ü˛#⁄
 
16ä Ü˛ƒyê˛yà!Ó˚ Üœ̨ yfiê˛y!Ó˚Ç (Category Clustering) Ü˛#⁄
 
17ä !¢ál x«˛Ùï˛yÓ˚ ˆÎ Ï̂Ü˛y Ï̂ly ò%!ê˛ Ü˛yÓ˚î !°á–
 
18ä ˛õ%îÓ%̊̂ ÏoÜ˛ flø,!ï˛Ó˚ ˆÜ˛yl ôy˛õ⁄
 
19ä xÓò!Ùï˛ flø,!ï˛Ó˚ Ü˛Ìy ˆÜ˛ í ẑ̨ ÏÕ‘á Ü˛ Ï̂Ó˚̂ ÏSÈl⁄
 
20ä !ÓfløÓ˚̂ Ïî Ü˛ï˛ ≤ÃÜ˛y Ï̂Ó˚Ó˚ •hflÏ̂ Ï«˛˛õ Ó˚̂ ÏÎ˚̂ ÏSÈ⁄
 

!ÓË˛yàÈüÈá ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 2 2 x 5 = 10 

21ä §Ùyç Ù Ï̂ly!Óòƒy Ó° Ï̂ï˛ Ü˛# ˆÓyV˛⁄
 
22ä xl%Ùyl åHypothesis) Ü˛# ⁄
 
23ä âê˛lyÙu˛° (Chronosystem) Ó° Ï̂ï˛ Ü˛# ˆÓyV˛⁄
 
24ä Ù Ï̂ly Ï̂Îyà Ü˛#⁄
 
25ä ≤Ãyã˛#l xl%Óï≈̨ l G §!Ü ̨ Î˚ xl%Óï≈̨ Ï̂lÓ˚ Ù Ï̂ôƒ ˛õyÌ≈Ü˛ƒ !°á–
 

!ÓË˛yàÈüÈà ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 3 3 x 4 = 12 

26ä õÓ˚yÙ¢≈òyï˛y G !lòy!lÜ˛ Ù Ï̂ly!Óò Ï̂òÓ˚ Ù Ï̂ôƒ !ï˛l!ê˛ ˛õyÌ≈Ü˛ƒ í ẑ̨ ÏÕ‘á Ü˛Ó˚– 
27ä §y«˛yÍÜ˛yÓ˚ ˛õÂô!ï˛Ó˚ à%îà%!° !Ü˛ !Ü˛ ⁄ 

D xÌÓy 
˛õÓ˚#«˛îÙ)°Ü˛ G !lÎ˚!sfï˛ ò Ï̂°Ó˚ Ù Ï̂ôƒ !ï˛l!ê˛ ˛õyÌ≈Ü˛ƒ !°á– 

28ä !lí ẑ̨ ÏÓ˚yl Ü˛#Ë˛y Ï̂Ó ï˛Ìƒ ˆ≤ÃÓ˚î Ü˛ Ï̂Ó˚ ï˛y §Ç Ï̂«˛ Į̈̂ õ ˆ°á– 



D xÌÓy 
xy˛õyï˛Ü˛y°#l ˛õ!Ó˚!fiÌ!ï˛Ó˚ ˆÙyÜ˛y!Ó°y Ü˛#Ë˛y Ï̂Ó fl∫Î˚Ç!Ü ̨ Î˚ fl¨yÎ%̊ï˛sf xyÙy Ï̂òÓ˚ §y•yÎƒ Ü˛ Ï̂Ó˚⁄
 

29ä Ü˛#Ë˛y Ï̂Ó ï˛Ìƒ §Ç Ï̂Óòlàï˛ «˛îfiÌyÎ˚# ~ÓÇ ò#â≈fiÌyÎ˚# flø,!ï˛ ˛õÂô!ï˛Ó˚ Ùyôƒ Ï̂Ù ≤Ã!Ü ̨ Î˚y Ü˛Ó˚y •Î˚⁄
 
D xÌÓy 

!ã˛•´«˛ Ï̂Î˚Ó˚ Ü˛yÓ˚̂ Ïî !ÓfløÓ˚î ≤Ã!Ü ̨ Î˚y §¡õ Ï̂Ü≈̨  Óƒyáƒy Ü˛Ó˚– 

!ÓË˛yàÈüÈâ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 4 4 x 6 = 24 

30ä à%Ó%̊Ù!hflÏ̂ Ï‹ÒÓ˚ ã˛yÓ˚!ê˛ ˆày°y Ï̂ô≈Ó˚ Ü˛yç Óƒyáƒy Ü˛Ó˚–
 
31ä ~Ü˛!ê˛ !ÓÜ˛y¢Ùyl !¢¢%Ó˚ Ù Ï̂ôƒ !Ü˛ !Ü˛ K˛ylÙ)°Ü˛ ˛õ!Ó˚Óï≈̨ l •Î˚–
 
32ä Ù Ï̂ly Ï̂Îy Ï̂àÓ˚ §ÇK˛y òyG ~ÓÇ ~Ó˚ ˜Ó!¢T˛ƒà%̂ Ï°y ˆ°á–
 
33ä ˆï˛yÙy Ï̂òÓ˚ !l Ï̂ç Ï̂òÓ˚ flø,!ï˛Ó˚ í z̨ß¨!ï˛Ó˚ çlƒ ~Ü˛!ê˛ ˛õ!Ó˚Ü˛“ly §%̨ õy!Ó˚¢ Ü˛Ó˚–
 

!ÓË˛yà ÈüÈ . ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 6 6 x 2 = 12 

34ä àË˛#Ó˚ï˛y ≤Ãï˛ƒ«˛ Ï̂îÓ˚ !mã˛«%̨ Ù)°Ü˛ Ü˛yÓ˚îà%̂ Ï°yÓ˚ Ë)̨ !ÙÜ˛y xy Ï̂°yã˛ly Ü˛Ó˚– 
xÌÓy 

K˛y Ï̂l!w Ï̂Î˚Ó˚ Ü˛yÎ≈Ù)°Ü˛ §#ÙyÓÂôï˛y Óƒyáƒy Ü˛Ó˚–
 
35ä !¢ál Ü˛y Ï̂Ü˛ Ó Ï̂°⁄ !¢á Ï̂lÓ˚ ˜Ó!¢T˛ƒà%̂ Ï°y Ü˛# Ü˛# ⁄
 

xÌÓy 
K˛ylàï˛ !¢á Ï̂lÓ˚ !Ó!Ë˛ß¨ Ó)̨̊ õà%̂ Ï°y Óƒyáƒy Ü˛Ó˚– 

D x!ï˛!Ó˚=˛ ≤ÃŸ¿yÓ°# 



Model Question
 

Class - XI  Psychology Full Marks- 80 

Group-A: Each Questions Carries 1 mark 1 x 20 = 20 

a) Tick the correct answer : 1x5 

1.	 B = F(P,E) who introduced this famous equation – (Decartes/Kurt Lewin/Freud) 

2.	 Nearly _____ neurons are found in human vervous system.
 
(11 Billion / 12 Billions / 20 Billions)
 

3.	 The actual genetic material or a person’s genetic heritage is known as _____ .
 
(genotype / phenotype / arehetype).
 

4.	 Filter theory of attention was developed by (Broadbent / Heinz / Triesman). 

5.	 Classical conditioning was first investigated by Ivan P.Pavlov. (True/False) 

b) Answer the following in one word : 1x15 

6.	 From which two greek words the word Psychology has been derived ? 

7.	 Who established Indian Psychological Association in the year 1922 ? 

8.	 How many Relevant variables are there ? Name them. 

9.	 What type of questions are used in questionaries ? 

10. Write the full form of TSH ? 

11. What is the hereditary element of the body ? 

12. What kind of disorder is Anorex sia Nervosa ? 

13. Where in India a successful anti-drug programme named ‘Society of Theatre in Education
 
Programme” is going on ?
 

14. By which cell optical Accomodation is controlled ? 

15. What is Personal Illusion ? 

16. What is category clustering ? 

17. Write any two causes of learning disability ? 

18. Which stage of memory is retrieval ? 

19. Who mentioned about the repressive memory ? 

20. How many types of interference are there in forgetting ? 

Group-B Each Question Carries 2 Marks :	 2 x 5 = 10 

21. What is meant by Social Psychology ? 

22. What is Hypothesis ? 

23. What do you understand by Chronosystem ? 

24. What is attention ? 

25. Write two differences between classical conditioning and operant conditioning. 

Group-C Each Questions Carries 3 Marks :	 3 x 4 = 12 

26. Write three differences between acounselor and a Clinical Psychologist ? 

27. What are the merits of Interview method ? 

* OR 

Write three differences between experimental and controlled group. 

28. Write in brief how neuronstransmit information. 



  

* OR 

How the autonome nervouic system help us in dealing with an emergency situation. 

29. How is information processed through sensory, short term and long term memory system ? 

* OR 

Explain the process of forgetting due to trace decay. 

Group-D Each Question Carries 4 Marks : 4 x 4 = 16 

30. Elucidate the functions of the four lobes of cerebral cortex. 

31. What cognitive changes occur in a developing child ? 

32. Define attention and write down its features. 

33. Suggest a plan to improve your own memory. 

Group-E Each Question Carries 6 Marks : 6 x 2 = 12 

34. Discuss the role of binocular cues in perception of depth. 

OR 

Explain the functional limitations of sense organs. 

38. What is learning ? What are the characteristics of learning ? 

OR 

Describe different forms of cognitive learning. 

* Extra Questions. 



 

 

Model Question 

Class XI : Sanskrit : 80 Marks : 2020-2021 

Group-A : Each Question Carries 1 Marks : 1x15=15 

Answe in one word / sentence the following questions : 

1. What is the source of the story ®elegCe&b heefC[le cegKe&eCeeb JeÀLee? 

ã˛ï%̨ î≈yÇ ˛õ![˛ï˛Ù)á≈yîyÇ Ü˛Ìy à“!ê˛Ó˚ í z̨Í§ !Ü˛ ⁄ 
2. Oece&m³e lkeefjleeieefle: õ Who said this ? 

~Ü˛Ìy ˆÜ˛ Ó Ï̂°!SÈ°⁄ 
3. Who is the perfect friend ? 

ÎÌyÌ≈ Órô% ˆÜ˛ ⁄ 
4. Deeieefce<³eefle ³eled he$eced õ What is the meaning of the word he$eced? 

~áy Ï̂l Ú˛õeÙ‰Û Ü˛Ìy!ê˛Ó˚ xÌ≈ !Ü˛ ⁄ 
5. veoner! Demceoer³ees yeevOeyeerj³eced õ Who is keevOeke: referred to here ? 

~áy Ï̂l ÓyrôÓ ˛õ Ï̂òÓ˚ myÓ˚y Ü˛y Ï̂Ü˛ ˆÓyV˛y Ï̂ly • Ï̂FSÈ⁄ 
6. Where did the four Brahmins go to acquire knowledge ? 

ã˛yÓ˚çl Ó y·î !Óòƒyxç≈̂ ÏlÓ˚ çlƒ ˆÜ˛yÌyÎ˚ !à Ï̂Î˚!SÈ°⁄ 
7. Which chapter of ÞeerceoYeieoieerlee the text efkeMke©heoMe&vecedd? 

!ÓŸªÓ)̨̊ õò¢≈lÙ‰ ˛õyë˛ƒyÇ¢!ê˛ ◊#Ùò‰Ë˛à‰Óò‰à#ï˛yÓ˚ ˆÜ˛yl xôƒy Ï̂Î˚Ó˚ xhs˝à≈ï˛⁄ 
8. What do you mean by the word ueesJeÀ$e³e: ?

 ˆ°yÜ˛eÎ˚ Ó° Ï̂ï˛ !Ü˛ ˆÓyV˛⁄ 
9. Who gave advise to Arjuna ? 

˛xç%≈l Ï̂Ü˛ ˆÜ˛ í z̨̨ õ Ï̂ò¢ òyl Ü˛ Ï̂Ó˚!SÈ Ï̂°l⁄ 
10. megueYeJeÀerheer cenef<e&:õWho is referred by the word ? 

~Ü˛ÌyÓ˚ myÓ˚y Ü˛y Ï̂Ü˛ ˆÓyV˛y Ï̂ly • Ï̂Î˚̂ ÏSÈ⁄ 
11. How many heke& are there in Mahabharata ? 

Ù•yË˛yÓ˚̂ Ïï˛Ó˚ Ü˛Î˚!ê˛ ˛õÓ≈ xy Ï̂SÈ⁄ 
12. Who is the author of n<e&®eefjleced? 

•£Ï≈ã˛!Ó˚ï˛Ù‰ ~Ó˚ Ó˚ã˛!Î˚ï˛y ˆÜ˛ ⁄ 
13. How many cantos are there in the jIegkebMeced of Kalidasa ? 

Ü˛y!°òy Ï̂§Ó˚ Ó˚â%ÓÇ¢Ù‰ÈüÈ~ Ü˛Î˚!ê˛ §à≈ xy Ï̂SÈ⁄ 
14. Who wrote the prose oMeJegÀceej®eefjle:? 

ò¢Ü%̨ ÙyÓ˚ã˛!Ó˚ï˛ Ü˛yÓ˚ ˆ°áy⁄ 
15. How many slokas are there in Mahabharata ? 

Ù•yË˛yÓ˚̂ Ïï˛ Ü˛ï˛à%!° ˆŸ’yÜ˛ xy Ï̂SÈ⁄ 
Group- B : Each Question Carries 2 Marks : 2x5=10 

Answer the following question :!l Ï̂ã˛Ó˚ ≤ÃŸ¿à%̂ Ï°yÓ˚ í z̨_Ó˚ òyG û 
16. JesÀve ceeiesve ie®íeced õ Who said this and when ? 

Ï̂Ü˛ Ü˛ál Ü˛Ìy!ê˛ Ó Ï̂°!SÈ° ⁄ 



 

 

 

 

17. Who have invited the three Bramahna ? Which food was served to them ? 

!ï˛lçl Ó y·î Ï̂Ü˛ Ü˛yÓ˚y !lÙsfî Ü˛ Ï̂Ó˚!SÈ° ⁄ ïÑ̨ y Ï̂òÓ˚ !Ü˛ !Ü˛ áyòƒ ˛õ!Ó˚̂ ÏÓ¢l Ü˛Ó˚y • Ï̂Î˚!SÈ°⁄ 
18. lkece#ejb ®ejceb kesefolek³eced õ Who said this ? Who was referred to by the word lkeced? 

Ó=˛y ˆÜ˛ ⁄ ~áy Ï̂l ÚcÙÛ Ó° Ï̂ï˛ Ü˛y Ï̂Ü˛ ˆÓyV˛y Ï̂ly • Ï̂Î˚̂ ÏSÈ⁄ 
19 What  Priyambada say to the sage Durvasa to save Sakuntala from the curse ? 

¢Ü%̨ hs˝°y Ï̂Ü˛ x!Ë˛¢y˛õ ˆÌ Ï̂Ü˛ ÓÑyã˛y Ï̂ï˛ !≤ÃÎ˚ÇÓòy }!£Ï ò%Ó≈y§y Ï̂Ü˛ !Ü˛ Ó Ï̂°!SÈ°⁄ 
20. ÒeJeÉÀeflekeJe´À m³e JeÀm³eelegve³eb ÒeefleieÉÚveeefveõ Where does the line occur ? Who is referred by the word m³e: ? 

˛õÇ!=˛!ê˛ ˆÜ˛yÌyÎ˚ xy Ï̂SÈ⁄ Ú§ƒÛ Ó° Ï̂ï˛ Ü˛y Ï̂Ü˛ ˆÓyV˛y Ï̂ly • Ï̂Î˚̂ ÏSÈ⁄ 

Group-C : Each Question Carries  5 Marks : 5x4=20 

Answer the following questions : !l¡¨!°!áï˛ ≤ÃŸ¿à%!°Ó˚ í z̨_Ó˚ òyG û 
21. Join the Sandhi (any five) 

§!rô Ü˛Ó˚ åˆÎ Ï̂Ü˛y Ï̂ly ˛õÑyã˛!ê˛ä 
i) meg + Deeieleced (ii) jepee +  $e+ef<e (iii) Deke +  Sefn (iv) iees + De#e: (v) efheleÉ +  Devegceefle (vi) jkeew + Demleefceles 

(vii) Deà + Ske 

22. Decline (any five) ¢∑Ó)̨̊ õ !°á åˆÎ Ï̂Ü˛yl ˛õÑyã˛!ê˛ ä / 1x5 

(i) oske in he_®eefce SJeÀke®eve å ˆòÓ ¢ Ï̂∑Ó˚ ˛õM˛Ù# ~Ü˛Óã˛lä 
(ii) jepeved in ÒeLecee kengke®eve åÚÓ˚yçl‰Û ¢ Ï̂∑Ó˚ ≤ÃÌÙy Ó•%Óã˛lä 
(iii) heÀue in efÜleer³ee SJeÀke®eve åÚÊ˛°Û ¢ Ï̂∑Ó˚ !mï˛#Î˚y ~Ü˛Óã˛lä 
(iv) Demceod in ÒeLece kengke®eve åÚxfløò‰Û ¢ Ï̂∑Ó˚ ≤ÃÌÙy Ó•%Óã˛läó 
(v) keefCepe in mehleceer efÜ®eve åÚÓ!îç‰Û ¢ Ï̂∑Ó˚ §ÆÙ# !mÓã˛lä 
(vi) ³eg<ceod in ®elegLeer& SJeÀke®eve å Î%‹øò‰ ¢ Ï̂∑Ó˚ ã˛ï%̨ Ì#≈ ~Ü˛Óã˛lä 
(vii) Þeerceled in leÉleer³ee efÜke®eve åÚ◊#ÙÍÛ ¢ Ï̂∑Ó˚ ï,̨ ï˛#Î˚y !mÓã˛lä– 

23. Conjugate (any five) ôyï%̨ Ó)̨̊ õ !°á åˆÎ Ï̂Ü˛yl ˛õÑyã˛!ê˛ ä 1x5

 ˛(i) heþd in ueìd third person plural.

 ˛õë‰̨  ôyï%̨  °ê‰̨  ≤ÃÌÙ ˛õ%Ó%̊£Ï Ó•%Óã˛l– 
(ii) hee in ueÉì first person singular. 

˛õy ôyï%̨ Ó˚ °,ê˛ í z̨_Ù˛õ%Ó%̊£Ï ~Ü˛Óã˛l– 
(iii) oÉMed in ue*d Second person singular.
 

ò,¢‰ in °.‰ ÙôƒÙ ˛õ%Ó%̊£Ï ~Ü˛Óã˛l–
 
(iv) JeÉÀ in ueesìd first person plural.
 

Ü,̨  in ˆ°yê‰̨  í z̨_Ù ˛õ%Ó%̊£Ï Ó•%Óã˛l–
 
(v) ieced in ueÉì second person plural. 

àÙ‰ ôyï%̨  °,ê˛ ÙôƒÙ˛õ%Ó%̊£Ï Ó•%Óã˛l– 
(vi) meske in ueìd first person singular. 

ˆ§Ó‰ ôyï%̨  °ê‰̨  í z̨_Ù ˛õ%Ó%̊£Ï ~Ü˛Óã˛l– 
(vii) mLee in ue*b  second person singular. 

fiÌy ôyï%̨ Ó˚ °.‰ ÙôƒÙ˛õ%Ó%̊£Ï ~Ü˛Óã˛l– 



 

 

 

 

 

 

24. Account for the case-ending in the following underlined words (any five) : 1x5 

l# Ï̂ã˛Ó˚ ˆÓ˚áy!AÜ˛ï˛ ˛õòà%̂ Ï°yÓ˚ §Ü˛yÓ˚î !ÓË˛!=˛ !lî≈Î˚ Ü˛Ó˚ åˆÎ Ï̂Ü˛yl ˛õÑyã˛!ê˛ä / 
(i) %eeveB efkevee keÉLee peerkeveced~ 

(ii) keeefueJeÀe ogKesve: JeÉÀvoefle~ 

(iii) vece efMekee³e: ~ 

(iv) jecesCe nleer keeueer~ 

(v) ceneJeÀe³e: Oegce:~ 

(vi) Denb peìeefYe: veehem³eceDehem³eced~ 

(vii) ie´eceb efveJeÀ<ee veoer~ 

Group-D : Each  question Carries 5 Marks : 5x4=20 

Answer the following questions : l# Ï̂ã˛Ó˚ ≤ÃŸ¿à%̂ Ï°yÓ˚ í z̨_Ó˚ òyG û 
25. (a) vesefhe ie´eceerhewefveceefv$elee: heÉLeJeÀd heÉLeJeÀd ieÉns<eg veerlee: õ 

Who is referred here by the word lew ? What did the villagers do with them ? What were the 

consequences ? At last what did happen with them ? 

í z̨ÍÜ˛!°ï˛ xÇ Ï̂¢ les Ó° Ï̂ï˛ Ü˛y Ï̂òÓ˚ ̂ ÓyV˛y Ï̂ly • Ï̂Î˚̂ ÏSÈ⁄ @˝ÃyÙÓy§#àî ï˛y Ï̂òÓ˚ !Ü˛ Ü˛ Ï̂Ó˚!SÈ°⁄ ̂ §áy Ï̂l ï˛y Ï̂òÓ˚ !Ü˛Ó˚Ü˛Ù xyã˛Ó˚î 
!SÈ°⁄ xÓ Ï̂¢ Ï̂£Ï ï˛y Ï̂òÓ˚ !Ü˛ ò¢y • Ï̂Î˚!SÈ°⁄ 1+1+1+2 

OR 

(b) Amplify the idea : Ë˛yÓ§¡±§yÓ˚î Ü˛Ó˚ / 
oerIe&met$eer efkeveM³eefle~ 

ò#â≈§)e# !Ól¢ƒ!ï˛– 
26. ÒeJeÉÀeflekeJe´À: me JeÀm³eevegve³eb ÒeefleieÉnefle õ Where does the line occur ? Who was the person mentioned here ? 

What was the request made to him ?

 ~•z ˛õ.‰!=˛!ê˛! ˆÜ˛yÌyÎ˚ xy Ï̂SÈ⁄ ~áy Ï̂l í z̨!Õ‘!áï˛ Óƒ!=˛!ê˛ ˆÜ˛ ⁄ ïÑ̨ y Ï̂Ü˛ !Ü˛ xl%̂ ÏÓ˚yô çyly Ï̂ly • Ï̂Î˚!SÈ°⁄ xl%̂ ÏÓ˚y Ï̂ôÓ˚ Ê˛° 
!Ü˛ • Ï̂Î˚!SÈ°⁄ 

OR 

(b) ne efOeJedÀ! ne efOeJedÀ DeefÒe³eceske mebyeÉÊeced õ Where does line occur ? Who is the speaker ? What unpleasant event 

did occur ? What was the reason behind such unpleasant event ? 

í z̨!Õ‘!áï˛ ˛õ.‰!=˛!ê˛ ˆÜ˛yÌyÎ˚ xy Ï̂SÈ ⁄ ~áy Ï̂l Ó=˛y ˆÜ˛ ⁄ ˆÜ˛yl x!≤ÃÎ˚ âê˛ly â Ï̂ê˛!SÈ°⁄ ~Ùl âê˛ly âê˛yÓ˚ Ü˛yÓ˚î !Ü˛ ⁄ 
27. (a) lkece#ejb hejceb kesefolek³eced õ Who said this and to whom ? Why was the person spoken th called hejceb 

kesefolek³eced? 2+3 

OR 

(b) Explain the following sentence / Amplification : 

Óƒyáƒy Ü˛Ó˚ ‡ Ë˛yÓ§¡±§yÓ˚î Ü˛Ó˚ / 
meveelevemleb heg©<ees celeer ces~ 

28. (a) Write a short note on Dandi. 5 

ê˛#Ü˛y !°á / Úò[˛#Û– 
OR 

(b) Discuss the impact of the Mahabharata in the Indian literature ? 

Ë˛yÓ˚ï˛#Î˚ §y!• Ï̂ï˛ƒ Ù•yË˛yÓ˚̂ Ïï˛Ó˚ ≤ÃË˛yÓ xy Ï̂°yã˛ly Ü˛Ó˚– 



Group-E : Eeach Question  Carries 5 Marks : 5x3=15
 

29. Read the following passage carefully and answer in Sanskrit the questions given below : 1x5 

Deefmle JeÀem®eer Fefle JeÀoeef®eled jepeOeeveer lem³eeb cenemesveer veece JeÀefM®eled jepee Deemeerled~ le$e me JeÀm³eef®ele OeefveJeÀm³e Oeve®elkeej: ®eewje Dehenveyevle:~ De³eb 

JeÀoeef®eled les ®eewje: jef#e heg©<ew: Òeehlee MeÉ[Keuesve yeàe: jeies efvekesefolee:~ jepee ®e ®eew³e& efke®eej³evesd OeeleJeÀeved heg©<eeved DeeefoosMe-js js OeeleJeÀheg©<ee: ®elegjesieefhe ®eewjeve 

veiejeled keefn:veerlkee Megueceejek³e ceej³ele~ 

(i) jepeOeev³ee: efJebÀ veece? 

(ii) lem³ee JeÀ: jepee Deemeerled? 

(iii) ®elkeej: ®eewje: JeÀm³e Ieveb Dehenlekevle? 

(iv) jepee ®eewjeved efJebÀ ov[b oÊeyeeved? 

(v) veerlkee Fv³e$e JeÀ: Òel³e³e: ? 

30.(a) Translate the following English passage into Sanskrit : 5 

There lived in Ujjayini a king Tarapida by name. He conquered the earth by dint of his prowess. 

he had a queen named Vilasbati. She was the chief of the laides of the royal harem. One day the king 

went to the apartment of vilasbati and found her weeping. 

31.Translate into English or Bengali or Hindi : 

•zÇ Ï̂Ó˚ç# xÌÓy ÓyÇ°y xÌÓy !•®# Ë˛y£ÏyÎ˚ xl%Óyò Ü˛Ó˚ ı 5 

meke&s JeÀefkeJegÀue efMejerceCeerb JeÀeefueoemeb peeveeefvle~ me JeÀne JegÀ$e ®e Depee³ele Fefle ve efveM®e³esve pee³eles~ me Gppeef³eveer veie³e&eceyemeled~ me ceneJeÀefke: cenejepe 

®evêieghlem³e jepemeYee³eeb vekejlves<eg Þes<eglece jlve: Deemeerled~ Ghecee JeÀeefueoemem³e og³ecegefJeÌle: Deleerke Òeefmeà kele&les~ 



MODEL QUESTION
 

Class - XI : Sociology : 80 Marks : 2020-2021
 

!ÓË˛yà ÈüÈ Ü˛ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 1 1x20 20 

1– §Ùyçï˛ Ï̂_¥Ó˚ çlÜ˛ ̂ Ü˛ !SÈ Ï̂°l ⁄
 
2– §Ùyçï˛_¥ ¢∑!ê˛ ̂ Ü˛ ã˛Î˚l Ü˛ Ï̂Ó˚l⁄
 
3– §Ùyçï˛_¥ ¢∑!ê˛ Ü˛ Ï̂Ó ã˛Î˚l Ü˛Ó˚y •Î˚⁄
 
4– §Ùyçï˛ Ï̂_¥Ó˚ ≤ÃÌÙ lyÙ !Ü˛ !SÈ°⁄
 
5– ò%Ûçl Ê˛Ó˚y!§ §Ùyçï˛_¥!Ó Ï̂òÓ˚ lyÙ ̂ ° Ï̂áy⁄
 
6– §Ùy Ï̂çÓ˚ ~Ü˛!ê˛ í z̨̨ õyòyl lyÙ ̂ °á⁄
 
7–  ÚxyÙÓ˚y Ï̂ÓyôÛ ¢∑!ê˛ !Ü˛ Ï̂§Ó˚ ̃ Ó!¢T˛ƒ⁄
 

Ü˛ä ≤Ã!ï˛¤˛yl áä §Çâ àä §¡±òyÎ˚ âä §Ùyç
 
8– ≤ÃyÌ!ÙÜ˛ ̂ ày¤˛# ¢∑!ê˛ ̂ Ü˛ ã˛Î˚l Ü˛ Ï̂Ó˚l⁄
 
9– ~Ü˛!ê˛ ̂ àÔî ̂ ày¤˛#Ó˚ í z̨òy•Ó˚î òyG⁄
 
10– ~Ü˛!ê˛ ≤ÃyÌ!ÙÜ˛ ̂ ày¤˛#Ó˚ í z̨òy•Ó˚î òyG–
 
11– ̨õy!Ì≈Ó §Çfl,Ò!ï˛Ó˚ ~Ü˛!ê˛ í z̨òy•Ó˚î òyG–
 
12– §yÙy!çÜ˛#Ü˛Ó˚̂ ÏîÓ˚ ~Ü˛!ê˛ Ùyôƒ Ï̂ÙÓ˚ lyÙ í ẑ̨ ÏÕ‘á Ü˛Ó˚–
 
13– hflÏÓ˚!Ólƒy Ï̂§Ó˚ ~Ü˛!ê˛ í z̨òy•Ó˚î •° û
 

Ü˛ä çy!ï˛ áä §Çfl,Ò!ï˛ àä ôÙ≈ âä !¢«˛y
 
14– Ó˚̂ Ï=˛Ó˚ §¡õ!Ü≈̨ ï˛ xyd#Î˚̂ ÏòÓ˚ !Ü˛ Ó°y •Î˚⁄
 
15– ̂ Ü˛yl Óƒ!=˛Ó˚ ÓyÓyÈüÈÙy • Ï̂°l ï˛yÓ˚û
 

Ü˛ä ≤ÃyÌ!ÙÜ xyd#Î˚̨  áä ˆàÔî xyd#Î˚ àä ≤ÃÈüÈˆàÔî xyd#Î˚ âä ̂ Ü˛y Ï̂ly!ê˛•z lÎ˚–
 
16– ô#Ó˚ ~ÓÇ !lÓ˚!Ó!FSÈß¨ ˛õ!Ó˚Óï≈̨ l Ï̂Ü˛ Ó°y •Î˚ û
 

Ü˛ä !ÓÓï≈̨ l áä !Ó≤’Ó àä í z̨ß¨Î˚l âä Ó,!Âô–
 
17– ~Ü˛!ê˛ Ù•ylà Ï̂Ó˚Ó˚ lyÙ ̂ °á–
 
18– ~Ü˛!ê˛ Ùyï,̨ ï˛y!sfÜ˛ í z̨̨ õçy!ï˛Ó˚ lyÙ ̂ °á–
 
19– ‘The Elementary Forms of Religious Life’ Ó•z!ê˛ Ü˛yÓ˚ ̂ °áy–
 
20– §yÙy!çÜ˛ m®µ •° ~Ü˛!ê˛ ûûû–
 

Ü˛ä §yÙy!çÜ˛ ≤Ã!Ü ̨ Î˚y áä §yÙy!çÜ˛ hflÏÓ˚!Ólƒy§ àä §yÙy!çÜ˛ ¢,C°y âä §yÙy!çÜ˛ !Óã%̨ ƒ!ï˛– 

!ÓË˛yàÈüÈá ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ ÙylÈüÈ 2 2 x 9 = 18 

1– §Ùyçï˛ Ï̂_¥Ó˚ §ÇK˛y òyG–
 
2– Ó!•ıˆày¤˛# Ü˛y Ï̂Ü˛ Ó Ï̂° ⁄
 

xÌÓy 
!˛õÎ˚yÓ˚̂ Ïày¤˛# Ü˛y Ï̂Ü˛ Ó Ï̂°⁄
 

3– §¡±òyÎ˚ Ó° Ï̂ï˛ !Ü˛ Ó%V˛⁄
 
4– ò%á≈y•ẑ ÏÙÓ˚ Ù Ï̂ï˛ ô Ï̂Ù≈Ó˚ §ÇK˛y òyG–
 
5– ˆÎÔÌ ˛õ!Ó˚Óy Ï̂Ó˚Ó˚ §ÇK˛y òyG–
 

xÌÓy 
˛õ!Ó˚Óy Ï̂Ó˚Ó˚ ò%!ê˛ Ü˛yÎ≈yÓ!° í ẑ̨ ÏÕ‘á Ü˛ Ï̂Ó˚y– 
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6– §yÙy!çÜ˛ Ü˛yë˛y Ï̂Ùy Ó° Ï̂ï˛ !Ü˛ Ó%V˛⁄
 
7– Ó˚yT …̨!Ó•#l §Ùyç Ü˛y Ï̂Ü˛ Ó Ï̂°⁄
 
8– Ùy:G Ï̂Î˚ÓyÓ˚ Ü˛ï,≈̨ c Ï̂Ü˛ !Ü˛ !Ü˛ Ë˛y Ï̂à Ë˛yà Ü˛ Ï̂Ó˚̂ ÏSÈl ⁄
 

xÌÓy 
xyÙ°yï˛ Ï̂sfÓ˚ ò%!ê˛ ˜Ó!¢T˛ƒ ˆ°á–
 

9– K˛yl!òÆ# Óy xy Ï̂°yÜ˛Ó!ï≈̨ Ü˛y Ó° Ï̂ï˛ !Ü˛ Ó%V˛⁄
 
xÌÓy 

ò%Úçl K˛yl!òÆ# Î%̂ ÏàÓ˚ !ã˛hs˝y!Ó Ï̂òÓ˚ lyÙ ˆ°á– 

!ÓË˛yà ÈüÈ à ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 4 4 x 6 = 24 

1– ˆÜ˛l §Ùyçï˛ Ï̂_¥ xyÙy Ï̂òÓ˚ !Ó Ï̂¢£Ï ¢∑ G ôyÓ˚îyÓ˚ ÓƒÓ•yÓ˚ Ü˛Ó˚y ≤Ã Ï̂Î˚yçl⁄ 
xÌÓy 

ÙÎ≈yòy ~ÓÇ Ë)̨ !ÙÜ˛y !Ü˛Ë˛y Ï̂Ó ̨õÓ˚flõ Ï̂Ó˚Ó˚ § Ï̂Aà §¡õÜ≈̨ Î%=˛⁄
 
2– §Ùyçï˛_¥ ~ÓÇ •z!ï˛•y Ï̂§Ó˚ ̨õyÌ≈Ü˛ƒ ̂ °á–
 

xÌÓy 
§Ùyçï˛_¥ ~ÓÇ §yÙy!çÜ˛ l,ï˛ Ï̂_¥Ó˚ §¡õÜ≈̨  xy Ï̂°yã˛ly Ü˛Ó˚–
 

3–  §Ë˛ƒï˛y G §Çfl,Ò!ï˛Ó˚ ̨ õyÌ≈Ü˛ƒà%̂ Ï°y ̂ °á–
 
xÌÓy 

§Çfl,Ò!ï˛Ó˚ !Ó!Ë˛ß¨ Ùyeyà%̂ Ï°y xy Ï̂°yã˛ly Ü˛Ó˚–
 
4– làÓ˚#Î˚ ~°yÜ˛yÓ˚ !Ü˛S%È ˜Ó!¢T˛ƒ í ẑ̨ ÏÕ‘á Ü˛Ó˚–
 

xÌÓy 
@˝ÃyÙ#î §Ùy Ï̂çÓ˚ ̨õ!Ó˚Óï≈̨ Ï̂lÓ˚ ã˛yÓ˚!ê˛ Ü˛yÓ˚î í ẑ̨ ÏÕ‘á Ü˛Ó˚–
 

5– ≤ÃÎ%!=˛!ÓK˛yl ~ÓÇ xÌ≈l#!ï˛ myÓ˚y §Ùy Ï̂ç Ü˛# ôÓ˚̂ ÏlÓ˚ ̨ õ!Ó˚Óï≈̨ l ~ Ï̂§ Ï̂SÈ⁄
 
6– Îy!sfÜ˛ ~ÓÇ fl∫yË˛y!ÓÜ˛ ~Ü˛ï˛yÓ˚ Ù Ï̂ôƒ ̨õyÌ≈Ü˛ƒ !Ü˛ ⁄
 

!ÓË˛yàÈüÈâ ≤Ã!ï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ Ùyl 6 6 x 3 = 18 

1– §yÙy!çÜ˛#Ü˛Ó˚̂ ÏîÓ˚ ÙyôƒÙà%̂ Ï°y xy Ï̂°yã˛ly Ü˛Ó˚– 
xÌÓy 

Óƒ!=˛c !ÓÜ˛y Ï̂¢ §yÙy!çÜ˛#Ü˛Ó˚̂ ÏîÓ˚ ≤ÃË˛yÓ xy Ï̂°yã˛ly Ü˛Ó˚–
 
2– §Ùy Ï̂ç !¢«˛yÓ˚ à%Ó%̊c xy Ï̂°yã˛ly Ü˛Ó˚–
 

xÌÓy 
§Ùyç ~ÓÇ §¡±òy Ï̂Î˚Ó˚ ̨ õyÌ≈Ü˛ƒ xy Ï̂°yã˛ly Ü˛Ó˚–
 

3– §yÙy!çÜ˛ hflÏÓ˚!Ólƒy Ï̂§Ó˚ ≤ÃÜ˛yÓ˚̂ ÏË˛òà%̂ Ï°y xy Ï̂°yã˛ly Ü˛Ó˚–
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Model Question
 

Class - XI : Sociology : 80 Marks : 2020-2021
 

Group-A Each Questions Carris 1 Mark :	 1x20 = 20 

1.	 Who is the father of Sociology ? 

2.	 Who coined the term Sociology ? 

3.	 In which year sociology came into existence ? 

4.	 What was the first name of Sociology ? 

5.	 Mention any two name of French Sociologists ? 

6.	 Mention any one component of Society ? 

7.	 Which one of the following is the characteritic of ‘we-feeling’?
 
a) Institution b) Association c) Community d) Society
 

8.	 Who coined the term Primary Group ? 

9.	 Give one example of Secondary Group ? 

10.  Give one example of Primary Group ? 

11.  Give one example of Material Culture. 

12.  Mention one agency of Socialization. 

13 . Which one of the following is an example of social stratification ?
 
a) Jati b) Culture c) Religion d) Education
 

14. What do we call those hins recated with blood relation ? 

15. A person’s father and mother are his/her ____.
 
a) Primary b) Secondary c) Tertiarylin d) None of the above.
 

16. Slow and gradual change is known as ____.
 
a) Evolution b) Revolution c) Development d) Growth.
 

17. Mention the name of any Metropolitant City. 

18. Name any Matrilineal tribe. 

19. Who has written the book ‘The Elementary Form of Religious Life”? 

20. Social conflict is a ___.
 
a) Social process b) Social Stratification  c) Social control d) Social exclusion
 

Group-B Each Questions Carries 2 Marks :	 2 x 9 = 18 

21. Give the definition of Sociology. 

22.  What us an out Group ? 

OR 

Who are called peer Group? 

23. What do you understand by the term community ? 

24. According Darkheim define religion. 

25. What is joint family ? 

OR 

Mention two functions of family. 

26. What do you understand by social structure ? 

27. What is stateless society ? 

28. According to Max Weber how many types of authority are there ? 
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OR 

Mention two characteristic of bureaucracy. 

29. What is englightenment ? 

OR 

Mention any two thinkers of enlightenment. 

Group- C Each Question Carries 4 Marks : 4 x 6 = 24 

30. Why do we need to use special terms and concepts in Sociology ? 

OR 

How states and role are related to each work ? 

31. Distinguish between history and sociology. 

OR 

Discuss the relationship between sociology and social anthropology. 

32. Differentiate between culture and civilization. 

OR 

Discuss the various indicator of culture. 

33. Mention the characteristics of Urban Society. 

OR 

Mention any four causes of social change in rural soceity. 

34. What types of change occured due to technology and economy ? 

35. Distinguish between Mechinal and Organic Solidarity. 

Group-D Each Questions Carries 6 Marks : 6 x 3 = 18 

36. Discuss the role of different agencies of socialization. 

OR 

Discuss the impact of socialization in the development of personality. 

37. Discuss the role of education in society. 

OR 

Distinguish between society and community. 

38. Discuss  the forms of social stratification. 
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MODEL QUESTION
 

Class - XI : Statistics : 70 Marks : 2020-2021
 

Group-A : Each Question Carries 1 Mark : 1x20=20
 

A) Answer the following question in a Word / Numeral complete sentence : 1x6 

1) Define the term ‘variable’. 

2) Find the A.M of the numbers 3, 5, 7, ............. 47.
 

3) For some symmetrical distribution Q1 = 24, and Q3 = 42, Find Median. 

4) The three quartiles of a variable x are 5, 12 and 17. Find its Quartile Deviation. 

5) If S. D of x is 6, find the S.D of 10–3x. 

6) When var(x)=0, what can you say about the set of observations ? 

Fill up the blanks : (7 – 14) : 1x8 

7) The quickest measure of dispersion is ______.
 

8) The empirical relation connecting Mean, Median and Mode is _____.
 

9) The most useful measure of dispersion is _____.
 

10) For two observations only, if A.M and G.M are known, then H.M may be obtained by the
 

relation _____.
 

11) The most widely used relative measure of dispersion is ______.
 

12) Find the mean if C.V= 5% and variance = 4
 

13) Define the term ‘frequency density’.
 

14) Find the 10th term of the following G.P {2, 6, 18, 54, ......}
 

State True / False (15-17) : 1x6 

15) Mode is the value of the largest observation in the series.
 

16) A. M is unit free.
 

17) “Mesokurtic” distribution has a moderate peak.
 

18) What do you mean by standardized variable ?
 

19) What’s the Pearson’s 1st measure of skewness ?
 

20) In a G.P series the sum of 1st 6 terms is 9 times of the sum of 1st 3 terms. Then find the common
 

ratio.
 

Group-B : Each Question Carries 3 Marks : 3x5=15 

Answer the following questions 

21) Explain the different parts of a table.
 

22) Prove that for any real quantity, AM ≥  GM ≥  HM
 

23) Find the mean deviation of 7, 9, 14, 24 and 26 measured from their median.
 

24) The sum of n terms of two A. Ps are in the ratio 4n : 3n–1.  Find the ratio of their fourth terms.
 

25. The first four moments of a distribution about the value 4 of the variable are –1.5, 17, –30 and 

108. Find the moments about mean, B
1
 and B

2
. 



Group-C : Each Question Carries 4 Marks : 5x7=35
 

26. Distinguish between census and sample survey and discuss their comparative merits and demer-

its. 

27. Prove that the sum of squares of deviation is minimum when deviations are measured from the 

mean. 

28. In the expansion of (1+x)2n, the coefficient of 2nd, 3rd and 4th term are is A.P 

prove that 2n2–9n+7 = 0
 

1
 
}1029. Find the coefficient of x in the expansion of (1–2x3 + 3x5) {1+ 

X 

30. State and prove the Cauchy Swartz inequality. 

31. Define the primary and secondary data. Discuss the different methods of collecting primary data. 

32. Prove that the standard deviation is independent of any change of origin but is dependent as 

change of scale. 
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